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@us—1 (Section-1) ||

e —I8l W 9gd IR RIS U SR Afed o T 7 | w¥ie ¥ 3l aRE b 28 U 3y g
3R 3Tud! Y 28 YAl & IR OMR SHEET WR <7 Sifard R | Y& e 1 i &l BT |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

g~ ueq (Objective Type Question)

1. URM® Iefaar g —
(A) oY & HAd (B) &I &1 yamT
(C) &Y &I yarg -Te! (D) 3¢ & ®Ig &
Opening stock is :-
(A)  Source of fund (B) Application of fund
(C) No flow of fund (D) None of these
2. STl B TRT & —
(A) | @ ufa (B) R&R & ufa

(C) wafaxwr & ufa (D) SR T




Responsibility of entrepreneur”s are :-
(A)  Towards society (B) Towards government
(C) Towards environment (D) All of these

. =1 & @I 9T TR BT UBRN 7 ?

(A) VA 3rawR (B) aifem araeR
(C) vafaRor % faem srawR (D) s & Big 2

Which of following is a kind of Opportunities?
(A)  First opportunities

(B) Last opportunities

(C)  Existing opportunities in the environment
(D) None of these

. RISHT TR BT Sl 7 -
(A) Yddd! B gRT (B) userdT & gRI
(C) Sl & gRT (D) 74 & P o
Project is prepared :-
(A) By promoters B) By Managers
(C) By entrepreneur (D) By all of these

. gRATSHT ufdes W19 2 —

(A)  aeal &1 (B) a3l &1
(C) faweryor &1 (D) 3 =+

Project report is a summary of :-

(A)  Facts (B) informations
(C) Analysis (D) All of these
. oo o R Rafa # —

(A) M U 3MY BT SNfad =T &S urar
(B) SEM &7 oS T | BT &Il ©

(C) T=M SHM d8 HA DI AWST AFCT ©

(D) Sugw & B |

At decline stage of growth :-

(A)  The enterprise finds it difficult to survive.

(B)  The enterprise starts incurring losses at an increasing rate.
(C) The enterprise prefers to close its shutters.

(D)  All of above.



7. THIDHRO 3 AU & i~
(A) eraR® foarR (B) argg fawrR
(C) ondR® d gy fawR (D) ¥ & ®Ig =l |

Integration means :-

(A)  Expending internally

(B)  Expending externally

(C) Expending internally and externally
(D) None of these

8. AMIG: fAfdefienvvr avfiepd fopam ST & —

(A) < ad H (B) &9 axIapT #
(C) =R 1 4 (D) dfer et &
Generally diversification is classified in :-
(A) Two ways (B) Three ways
(C) Fourways (D) Five ways

9. g NIf B § —
(A)  SoqET & ue | (B) RPR & UeT H
(C) Swre fefar @& uer # (D) =t @ ueT H

Price Policy is :-

(A) Infavour of consumer

(B) Infavour of government

(C)  Infavour of producer manufacturing
(D) Infavour of all

10. 9 & I it ARG BT SRR B -
(A) YT FHERN aRTd
(B) =rs Iy ANTd
(C) P Y& &1 aa-
(D) vc»eT #1H IrId |

Which of the following an example of fixed cost :-
(A)  Direct Material cost

(B) Chargeable Expenses

(C) Salary of office manager

(D) Direct Labour cost.



11. |IDBI fg a¥ zenfoq &1 T8 ?
(A) 1944 (B) 1954
(C) 1964 (D) 1974

IDBI was established in the year ?
(A) 1944 (B) 1954
(C) 1964 (D) 1974

12. SFC Act yRd ¥ fbg a¥ wiRd fdar = ?
(A) 1948 (B) 1949
(C) 1950 (D) 1951

SFC Act in India was passed in the year ?

(A) 1948 (B) 1949
(C) 1950 (D) 1951
13. 910 AT & —
(A) fo= (B) feoma=
(C) =™ (D) 95 & Y |
Brand indicates —
(A)  Symbol (B) Design
(C) Name (D) All of these.

14. IH SATGH I<Id § 8 —
(A)  Ucger SaTEH (B) et Seare
(C) urafosm (D) fg<iras

Present Production system, infact is :—
(A)  Direct Production

(B) Indirect Production

(C)  Primary

(D) Secondary

15. eI BT ATHISID SARGTIT & —

(A)  w@f @ ufy

(B) ®ad HHAIRAT & ufd
(C) &R B ufd

(D) ¥ & BIg & |

The Social responsibility of management is :-
(A)  Towards all

(B) Towards employee only

(C) Towards the government

(D) None of these



16. Tl BT YA U TH-iId] Al & v fvar Srar & —
(A) 2 (B) 3
(C) 4 (D)5

Variables are used for technical capability :-

(A) 2 (B)3

(C) 4 (D)5
17. RA 99 S gRT i fear T —

(A) 3 T ¥ g

(B) fivsa 9@

(C) < ¥&

(D) &9 9%

India investment fund was established by :-
(A) IFCI

(B)  Grindlay Bank

(C) State Bank

(D) Can Bank

18. el Yol & <& € —
(A) = SIiRaH
(B) eI SIiRgH
(C) @18 SIRaA -T=I
(D) T A g{B |

Venture Capital contains :-

(A)  High Risk
(B)  Venture Risk
(C) NoRisk

(D) None of these

19. TS —
(A)  fasp! uca |l AN
(B) faw! wca uRaaTiiar amra
(C) fdm! =@ ReR NI
(D) =T & @IS 7|

Contributions :-

(A)  Sales less total cost
(B)  Sales less variable cost
(C)  Sales less fixed cost
(D) None of these



20. GA—fq=g fag =
(A) ReRr arra

W;ﬁna‘jﬂrﬁ
(B) AT AT
€ S

(D) =i & w1 &

x 100

B.E.P.=
Fixed cost
(A)

P/V Ratio

Fixed cost
(B)

P/V Ratio
(C) =

Fixed Cost

(D) None of these

100

P/V Ratio

21. TSR AT AU BT ©
(A) 21 (B) 1:2
(C) 3:2 (D) 4:1

Ideal Current Ratio is —
(A) 21 (B) 1:2
(C) 3:2 (D) 4:1

22. ReR @ # wnfier v ® -
(A) @z A1 B ARTA
(B) ™ @1 &@rFd
(C) wfda &1 arra
(D) PHREMT BT AN

Fixed Cost includes :-
(A)  Cost of raw material
(B)  Cost of labour
(C)  Cost of power
(D)  Cost of factory

23. RIS 3MHer 8IaT & —
(A) i fageryor
(B) faeivg faweryor
(C) mverE®ar fageryo
(D) w19 & Bl &



Project appraisal is an/a :-
(A)  Export Analysis

(B)  Expert Analysis

(C)  Profitability Analysis
(D) None of these

24. JMIADHIHROT FEIRAT B—
(A) SdrEr B
(B) ScIEH @1
(C)  wfsharsm &t
(D) e\ @I

Modernisation imporves-
(A)  Products

(B)  Production

(C)  Process

(D) Capacity

25. SI161 3R, SN & AR G & USHR 81 © —
(A) 8 (B) 6
(C) 4 (D) 2

According to George R. Terry, the type of Planning are :-

(A) 8 (B) 6
(C) 4 (D) 2
26. U Ahel STl H ey 8 % 01 811 =iy —
(A) g @1
(B) =T &1
(C) & yda= &1
(D) T8 | WY

A successful entrepreneur must possess the quality of the following :-
(A) Leadership

(B) Control

(C) Innovation

(D)  All of these.

27. IYAT | A 8 —
(A) UPHIH AUR
(B) mRIGRI BH
(C) wgad Yoit wu
(D) Swad # A BIS T |




Easy information is :-

(A) Sale Trading

(B)  Partnership firm

(C)  Joint stock company
(D) None of these

28. Mfd e & —
(A) Rara
(B) w=r
(€ g gam
(D) =T & @IS 7|
Subsidy is:-

(A) Concession

(B) Discount

(C) Re-Payment
(D)  None of these.

Multiple Choice Answer 1 To 28.

1) B 2) D 3) C 4) D 5) D 6) D
7) B 8) C 9) D 10) C 11) C 12) D
13) D 14) B 15) A 16) C 17)B 18) A
19) B 20) A 21) A 22)D 23) C 24)D

25) C 26) D 27) A 28) C
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“ gus—II (UNIT-II) “

g SN ueH (Short Type Question)

e — I8l 98d 9R oY ST U ¥ W B | w_ier ¥ gl OjE 8 U oy Siid SR |l
8 Ul B IR AT Jfard BN | TP U U 3 BT NI | SRR YRl H 39 3T o' & Ui &
IR I 9 I 3P I PR FD T |
(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answer to all 8 questions are compulsory. Each carries 3

marks)

1. Te— ReR IISHT T7 Uhd JART Aol § 3R Iy |
IR—(1) ReR IIGHT — I8 AT b IR 1 R SRl &, ST SUhA &I U R fafer
T ATl & e H e B IgwU AAl BT FERO Rl 2 |

(2) THS YART AT — fhel ey aRRefd & IS 81 59 IR ISHGT GARHE & fog
TP AN AT G910 STl 2 | S 1 07 81 O & 918 ;81 FA 81 el 7 |

Q:- Differentiate between standing plans and singal use plans.
1. Standing plans:- Standing plans are used only one, or at most, couple of
times, because they focus on unique or rare situation.

2. Single use plans :- A set of activities aimed at achieving a specific goal with
in a particular budget and time period that is unlikely to be repeated in
future.

2. Y- PIY—YIE fIaRT R 8 ?
IR— ol Rerfa faaron a7 fafor & aey g @ ARl & 9 § 89 darel aRddr
&1 fageivor ox & forv 997 a7 fAaRor B —yarg fAaRoT Bt 2 |

Q:- What is Fund-flow staliment?

A:- Fund-flow statement is a statement prepared to analysise the reasons for
changes in the financial positions of Company between two balance-
sheet. It shows the Inflow and outflow of funds.

3. Y- Ui & IR R 9d37 |
IR— UBRTT & IR B FreferRad 2i—
(1) ST GReT |
(2) IUTE BT fa=mUT |
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(3) SR @ He g |
(4) ST B BT |

Q:- What are four works of packagings?
A:- There are followings four works of packagings:-
(1)  Protection of product.
(2)  Advertisement of product
(3) Increase the value of product
(4) Reputaion of product.

4. I RIS yfddes & wr faRivda] § ?
ITR—URATST Ufcrded &1 9@ faRyand fr=fealad € —
1. g8 URIISTT BT Ve faega Uord il & forad aRASHT &1 Fyol faavor fear grdn
g
2. URATSHT gfcrdes 9 dIR fbar a1 8 Sl gRAsT § o drell IR
TEITRAT DI YR HR T SIAT 2 TAT URASHT B ATGLIDHAT IGHd Bl ST Tl
g

Q:- What are the characteristics of Project Report?
A:- There are following characteristics of Project Report:-
1. Project Report is a comprehensive thesis of a project with a complete detail
of it.
2. Project Report is prepared after when all the initial probable hurdles are
crossed and the need of a project realished.

5. Wed — ReRr @nTd vd uRIq=ele mTd # 3fdR 9aTsy |
ISWR— ()RR &R — 98 ora 7, Rrd Sdre &1 731 § aRkdds 89 R 9 P
qRda T8l Bl & |

@)uRacTefid @ — a8 ora &, fOH Sdred @ #en # gRdad 89 W
IRAfT Bl Y&l B | 98 T ST & IRITTNT IFTd & YA & ST Bl
=

Q:- What is difference between fixed cost and variable cost?
1. Fixed cost :- A fixed cost is a cost that does not change with an increase
or decrease in the amount of goods, services produced or sold.
2. Variable cost:- A variable cost is a cost that varies in the relation to
change in the volume of activity.

6. U¥I— AUV @ FERVT BT AR |
IR— fAyvE a8 ufehar &, R idvid Jedard agail idl Harell &l I~ fdar Sram
g AT AN & A1 WA Ydd FI8R BRS ATTLIBAAT DI A (AT ST
g

Q:- What is marketing?

11



A:- The management process through which goods and services, move from
concept to the customer, marketing is based on thinking about the business
in term of customer needs and their satisfaction .

7. U AN BT ARG @ |
IR — bl Al ag & oy S 369 ol 2 Ud faf=1 yR & | iR =t
SUANT B IATEH T fHIT ST 2 | Al & Jeod Iadre 3R Gol Sl

ART BT ANTT FEd 2 |

DT
D

Q:- Define Cost.

A:- An amount that has to be paid or given up in order to get something. In
business cost is usually a monetary valuation, material resources, time and
utilities consumed that called cost.

%k 3k 3k 3k 3k %k %k %k >k >k ok 3k %k %k %k >k %k *k *k %k %k k
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| =os—IIl (UNIT-111) |

< TN w2 (Long Answer Type Question)

freer — 8l 98d AR < SO g QY M 2| e H s aRE 3 U &y o &R W 3 geel
@ IR AT AR BT | U U B 3 P BN | 3R GRIET H 3777 ) '8 ¥ Yol & IR
T TS 3fH U B A |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

8. UII— Y4 B BRI U YT STl |

IR — Y&Y & DT BT UlduTes FauLH |9 1916 H 31 hard(Henry Fayol) & AR
"Y§e DR BT IR GATIA Td TSI g1, IS BRAL, QY 1, AAIY BRAT
AT 30 B A T 3 UBR BAld & AR Y & fAifha dfg a1l §

1. fracE- Planning
2. G- Organisation
3. Fgfaadi—  Staffing

4.

IBCREE Direction
EREDELS Controlling

uaaa%wmﬁa%waﬁmﬁwﬁawwﬁqmﬁﬁﬁwqmmﬁsmﬁmaﬁ
Th AT TSR Ald YA HRIF’ & Yo FaTad o, Udg & A1 Hrl & ol JIR

31| I=M 396 folg “PODSCRB” M Udh Hdhd e &l UfuTed fodhar |
& & F 7 B fAEferRad ® -
gaigA g1(To forecast)
Jmarstd g9 (To plan.)
e+ 991 (To organize)
3mee <1 (To command)
999 H31 (To co-ordinate)
AT <A1 (To Reporting)
7. goifeT (Budgeting)

1. S (Planning) :- RS 949 &7 3MERYd &R © | oM 769 & Sl &1 Ui =g

o B faem RuiRa o= & e g § fa91 e Ao @ ol Ry &RAT U6 ISR |

ST U Srherarall bl =l <1 BI1 8 | Sl AR, S & AR e 9fdsy & 1o
# 3@ 31 A srrar d@ie 7 | o MR &R & g4 |ree @ Ui § | 98 B SR @

qd el | 9 UAR AN YEHDH BRI O—ed, dIHe Fawe  (Personnel
Management) e, S T4 301 o @ 99ard efd & |

2. HwreH(Ogranisation):- UR® @G IeH & A4 AN BRI & FHed 8 oD
IITAT B AR DI JATGLIHAT Bl & | U TR Bifidp! I ded MuiRa oxar 21 Id®
13

o gk~ 0w N =




fad @7 Ifdd ITH B A BN YT R g FARYA B A 2| ST B HrAf b Sfaiid
I & A TeH aAl Afdd, AT, ga1 vd AT anfe &1 fbarel &1 gaferd, &R,
FAfad ud FRIT oA 9 SeM & ST B UT e © |

3. fgfaaar (Staffing):-  udg &1 As@yol & dH=nRAT & Fgfad o=, Fyfaaal oar udg
& geafS B Rt e 3—Ted &1 ANHIgaR ad YSIaTRAl Ud HHaral ol
T BT, IHBT Taedd URIETT HRAT 8, UGN, HaT Jfad Ud IR 3MfS &1 Fael
AT | O SUHH & BHARI STa Yor, rdl ud uiRierd 81, SUhH BT dridbeld I &
THIAT BT | VT B A |

4. fydee (Directing) :- UdY HoId: AR & AT SR IRM T G DI Hell & | I Tl H,
fFdee @1 aef ART—<eE, Riefor, MR U6 AR g§RT BT $I FHEreldl H UG dR+ g
SR € | MM BT Hae SHaRAT BT gdA T © fb BRI AT Vel o YR X | {o g

S SISl 3R, 91 9 fGeM @ | R T <AT(Actuating) e &1 WAt fhar g1 et
AR © fohar § URUIT HRAT TAT FHE BT URVITHD k] UG AT |
frdem @ ofchra = fobamen &1 afffera faar Simar 8-

(1) wideror (Supervision) :- TIJEIT BT A 7 MR & Bl W FRMEN @1 | THIe I8
JARFa =1 & oy snawas 2 & arfivrer fad w1y el &1 ures &) <8 8 a1 79|

(2) @=mor (Communication) :- I8 U U Ufshar © RS9 37T Ga-T Ud 98T &I Tdh drd
AT A TR AT TP Ugardl ST 2 | Idg B I ISl & b I T BIAT ©§ AR DA
HAT T | 3T AP © b Y&eT Yob YHIALlell Hagaed Jomell [Jwmiad & |

(3) g (Leadership) :- I8 Us Ufhar & RTAd 3fcid Udged 30 eIl & FIBR Bl
RCRIG qom g9ifdd &RaT & | Yeed S FdeR HIAD ¥ & IS & Il DI U b
forg = srefiv=ell & FEanT Urd &)+ H A%l & oIl % |

(4) fAURoT (Motivation) :- ISR &7 AU mefiell & URT &= 4 & dlfd 9 Il &
I DI YT PR & oIy IATE b B BN | AR URUIY SIWURT & 3128 |eF 8l o |

(5) fri=eT (Controling) :-FrRIF0T @1 I8 FHREd =1 © & SR fvan Fefea fear s 2
AT &7 Joaie qAT MIeIHdT e WR, FEAIHS HRIAE! SR dlfd e ior
g B, @ ®U H gR9ING fdar o1 S g1 FRE 98 ufear @ e gR1 ufdhar sroen
MR BT o uTe™ FHRarn 2 91 e & qd MgiRd dedl & 1qul I8 R[S
HIRIAE] AT Al & | 0T &1 g Sexy g8 [iREd o1 & & fbar spuferd aRem
IIfed @Y 3R IR Ti—

ferr=or ufeean # frifea &t emd g—
i, e @ AMQUSl # WIYAT BT |
ii. dfde fFrere 1 HuA |
iii. AAfA® BRI B YATT F JAAT BRAT |
iv. HEAHS HRIAET 3El YR & |

Q:- Discuss the functions of Management.

A:- According to the father of Management Peter F. Drucker, “Management is a
multipurpose organ that manages a business, manages managers and manages
workers and work.” Different scholars have different openions regarding the
function of management like they are at variance on the definition of
management. The subjects of the management functions were taken up in 1916
by Henry Fayol. According to his opinion, management refers to the forecast and
pre-determind projection, Planning, Organising, directing, to-ordinating and
controlling. Accordingly, Fayol has described the following five areas of activities
for the management :-

1. To forecast and plan

14



vk wnN

To organise
To command
To co-ordinate
Control
With regards to the functions of management getting impressed with Fayol”s
ideology. Luther Gulick, the first chairman of the American “National Public
Administrative Institution,” has prepared a list of seven functions of management in
term of “PODSCORB” is the following sequence :-
1. Planning
Organisation
Operating
Staffing
Co-ordinating
Reporting
Budgeting.
Harold simdi opines the four functions is terms of “POIM-
1. Planning
2. Organisating
3. Integration and
4. Measuring
Nylce has said that co-ordination and organising are only two tasks of
management.
Planning :- The first task is to determine as what to do, why to do , where to do,
how to do and by whom it is done taking all these points into consideration, the
management has to plan a programme by determining the objectives and planning.
Besides it, a course of action is also chartered for encounting the adverse
conditions. Without any definite and concreate planning to start a venture means to
invite to uncertainties and failures.

NouswWwbN

. Organising:- After determining the objectives as planned the second phase is taught

with the problems of executions which is got encountered by the organisation
through its management. Here the organisation refers to the medium or instrument
by which the objectives are to be accomplished as determined through planning.
These planning of an organisation however may be very attractive and good, yet for
want of a proper execution can prove to be a tiasco.

. Staffing :- The first and foremost function of management is to make approintments

of the employees. To appoint staff is the administrative function of the
managements which means to make appointment of various employees as planned
in the organization, to provide them adequate tranning, promotion, motivation,
retirement and transfer facilitated etc where are also to be there are efficient
employees and dedicated workers the should will be organisation with the efficient
management.More efficient is the work-force, stronger should be the organisation,
otherwise in absence of which, the management is rendered incapicitated.

15



4.

|<

Directing :- Directing is the most important task of management which is directing
and conducting various activities. Management basically is doing and getting done
along with other and such as an art. For getting things done through others, it is
imperative to give them directions for carrying out certain actions for the fulfilment
of objectives. Here, directing refers to making other understand as what have they
to do, how to do and this is also to be seen whether they are performing their duties
as per the norms or not. Directing is the most significant task of management which
gives may to a collective endeavour and transforms the management decesion into
actuality and also paves the way to the fulfilment of the organisational objectives.
In directing four kinds of activities are included:-
Supervision :- It aims at keeping an eye on the activities of the subordinate
employees. Supervision task is to see to it whether or not the employees at
lower rank are complying with the directions and the supply of the raw material,
machinery are being propsly utilised or not.
Communication :-It is such a process through which any information is passed on
from one person to the other. A manager needs to inform to him subordinate
that what is expected of him as what he is expected to do and how should he do
it.
Leadership :- It is a process in which the management through an effective
leadership has to ensure a good behavioural pattern on the part of the
employees by directing a code of conduct. Management also solicits co-
operation and support from its work force for the realization of the organization
objectives.
Motivation :- It means to encourage or inspire the subordinate employee. So that
they should enthusiastically participale in the orginisational affairs and perform
to the best of their ...for the facilitating the realization of goal of their enterprise.
Controlling :- A layman takes management for controlling and vice-verse. To him,
a man who supervises a task which is already done and tries to see it accuracy
and precision and whether or not its is satisfactory done, being a member of the
management he inforces the decision.

S P Ul FHES B SNSRI BT oI BN |

Describe the responsibility of the society towards an enterperneur.
IR — Tl T BT | F&T ofdl fATd ST ST Sl | 3Fd Uel YT & a THST Bl
A =1fev { Ppag Il & Ui HdeTeiia B 3R sUs SRR fderd & IganT < ST Uel
I3 IR BT b | FHSIHR SIBT fded dx al <l 8l IrIf~ad 81 | ofd: 39 aTIed
H fr=ifda a1al &I &= @ A1y —
1. I & HHAN B 39 [aR | & =7 @iy 6 gawma R gRfa =) gwen
W B AN W W G B A Al S@T AMRY | YIS Gadl, BREal, HH bl
e | IRES @A A1 |
2. I8 919 98! ¥ f& Sudadr 9oiR &7 o ® s ufa et &1 orfm <ifia g ar
2, forg SoTadT w1 ST BT AR BT AF—HATG], AOGRAT MM FHS g THI
@ gl HHSIA BT GREHIV UM =1 |
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AMYfiardl T I8 SR Bl © 6 |l gRT B T Fed At/ §HH / USR]
anfe @ e o, T8 ao, T8 < 3R W8 Y W PRal N2 | bIs qlel
WRT el AT 8T O 99 I199 o Bl JIR g1 a1y |

foxig eIl a1 3y sMeraRl &1 41 I8 < § & el & $H—3—dhH ol
@ R R IS | A For JRAT UM IRD Iqb BT H AT AR T |
WRBR Bl Jg @1 =120 b Il & fadr & dig A T 781 99 qaifd g«

g e &1 ga (Angle) AT & | 31d: & $HaA W IAD [ABN & AN DI YR
gTd Y81 81T |

TJUHH D FEG AN Bl A Al & A1 ASINASD GIedhIv I @12y | I
IE AT AT b S Y SUBpH SHD & H Al ®, SHH SHdl SrHdTeld o
NIECESGIRS

Clapping always involves both the hands or since when the society has a lot of
expectations force the entrepreneur, the society must reciprocal him in the
same vein by being sensitive to the aspirations of an enterepeneur by means
of extending into whole-heartebly support to him in the development of his
venture. Both the sides being conscious to their mutual responsibilities to
each other similarly the society, too, owes some responsibilities to the
entrepreneur by taking into consideration the following factors :-

1.

An employee of an organisation ought to work in a manner that the
organizational interest be safeguarded. One must be careful and concerned
with not only his benefit rather of the company, too. He must refrain from
unnecessary obstinancy, gherao, stop work etc.

.t is also true that the customer is the ruler of the market and an

eutrepreneur has a lot of responsibilities towards him but the ruling
customer rather them being a deterrent and contradictory to the prestige,
social status and certain compulsions, should adopt a co-operative stand
towards the entrepreneur.

. It is the responsibilities of the suppliers to ensure the timely supply of raw

materials, products equipments etc. in genuine quantity, at right price and
well in time. If some item is found defective they must be ready to take it
back.

. It is responsibilities of the financial agencies or other financers to provide

him finance at the minimum rate of interest and the finance should also be
provided sufficiently to contribute generously for the development of his
business.

. The government should also see to it that no policy, such as should prove

to be deteriminental in the development of the entrepreneur is business
because it is the entrepreneur who is an angle of development.

. Even the local people of the project ought to adopt a co-operative attitude

towards the entrepreneur. They should also understand that if any project
is set up in their area, it will yield them a long term benefit.
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10 WA A7 U6y # 3faR ¥ PHIfTY |
Differcentiate between Administration & Management.
e 0 JAN BT 3R ENIRET EE]
1. UHIId R dTel | RIRIE 9@ ged! oY | UeY A4 wfdd g7 STfed
HehH AMfed  oe T | FHIfad BIAT € |
SR &1 fdd | 31ferd
gaTfad BT 2 |
2, WH 9 Add BT | YR ST &I @HT 8T | Y99 Y9INIE &1 ddd aidl
e 2 Sl I AEaId Yol Y& | & Sl Id IMQATAR BRI
PP AR Jhd & ©U H | HAT & AR 0 HAdmeii &
S T el @ | geol § UIRHMAD B RO
IRT U bRl & |
3. YdIDhIg WR YA IR TNV 37fdT | Uee | T AegH Ug =1
FdTed JeIBT WR 9 B | TN JEIdHIT wWR 9 & |
4, frofaers oW | yemae e folarete @ | udy U foharaae e ©
fparae e | B
Egp|
5, TS AT TNAE ORT & SS9 Ol | U6 U9 gRT (e
AT B FERT dRaT 51 | W8T GREAl Bl AT
BT B |
6. e e Qe UeH axal g | | Y IE  <@dl © (b
HHART T I @
AR B IR |
1 Factors exerting | External factor i.e. collective, | Management gets more
influence polilical ~and  power of | 3ffected by the power
common Masses ,do of human resources.
enfluence the administration.
2. Master-servant | Administration is the master | Management is in service of
relationship of business and by providing | the administraton and acts
it the financial assistance, | upon accordingly and gets a
earns profit in its return. part of profit for the
services rendered by it.
3. Management level | It refers to the title and top | Here the management
level of management refers to the middle or
lower of management
4. Determinative V/S | Administration”s It has executive
executive function | fynction is | function
determinative.
5. Structure of | Administration  determines | Management  establishes
orgnisation the structure of organisation. | the structure, determined
by the administration.
6. Directing Administration issues [ It is the task of
directions administration to ensure
compliance of the

directions by the employees
at various level.
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11.

ey H aref forfay |
Write the meaning in brief.

g1vs 31ar ©9 (Brand or Branding)

1. IATGDHT AT AR §RT U I & Ygad & foy o9 amaiRe Rgd &
SIRT fHAT Sar & a8 91vS $ecdl & | 9198 & 3(id TS Bl A0 Jqd] SHd!
TgdTe SR alell Dlg &g, 3MeR, Udid, feorgs, foge anfe affaa f&a S 7

2. odfeim(Labeling) — <rafei A oM U e a1 & a1 A 9 g o™ g
I & IN H Fgayol oA & Sl 2 | ofdel Ui &1 & U 9RT 2 SR a1
T arel o, Ol W & F I BY & AR T AT R ST ¥ DIs fre A
BITST T faar ST &

3. geA(Trademark) — HMFI: AT ®f gfte H 108 AT gSHID Al U o faah
@ 3 UBCL &1 37 S H BIS 3R el © fdbg AT B9 AUS wU A AT BR Al
gdld B8R fb 39 TMI # (AR 8| SSHID TP §10s © ford demfd ARe&ToT g sram
2| 99 fHdl 9198 BT IRBR H Goig= BT form Sf1em & d 98 S o9 oIl ¢ |

4. Yafoi(Packaging) —smfe I 3 UBRAT &7 Aew@qul I 2 | Yol U iR a
IS BT YRET YT BRAT & AR T AR IHD FHYI H ghg BT 8| A
e H, "UBIFT I A fbdl Scure Bl (bl g o] H R b 1 I@T Il ©
difh IHd 98y 3MTARYT TR ITE BT 9 Uq F1vs 3nfe fafed faar Siar 2 |

Brand or Branding

1.

Brand & Branding:- The manufactures or products use a trademarks in
order to give a distinct identity to their products, which is known as
“Brand”.Brand refers to the product name or any word, a sign, a letter, a
design sign etc.

. Labeling:- labeling refers to such a piece of paper or a seal by the help of

which the important informations pertaining to a product are given,
label is a manifestation of packaging or on a box packaging or on a bag,
these pertinent information are printed or a separate piece of paper is
enclosed inside the pack.

. Trademark:- To a layman brand and trademark are like two sides of a

coin, without any distinction, but if it is meticulously studied, the
difference become conspicuous. Trademark is a brand , which preserves
its legitimate reserved right. When a brand is got registered by
government, it becomes a trademark.
Packaging :- In the modern age the importance of packaging is gradually
increasing day-by-day. On the other hand, packaging provides safety and
security to the product.

In common term, packaging refers to a thing that contains a product
inside or wrapped around , with its brand or name printed on the
package.

3k 3k %k 3k 3k >k 3k >k 3k 5k >k 3k %k 3k %k >k 3%k >k 3%k %k 3k %k %k %k %k %k *k %k
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fI8R Tdemery uRier g, geHT

qy 2017 &1 Hisd U9 U3 chj STINH| ]

Sa#ar - (ENTREPRENEURSHIP)
{Commerce}
SET : 02
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g ued (Objecti

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

ug (Section) -1
o

gug (Section) -2
IR—aRIfTs U (Non-Objectivle)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

|| Tus—1 (Section-1)

e —I8l W 9gd IR RIS U SR Afed o T 7§ | w¥ie ¥ 3l a'E b 28 U Iy g
3R 3Mudl T 28 TeAl & IR OMR SHEET W <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

s g3 (Objective Type Question)

1. 9 3o ufshar & wnfie B ® —

(A) e (B) =i

(C) ergfsbam (D) Sugaet wf
Learning Process involves:-

(A) Drive (B) Cue

(C) Response (D) All of these

2. QUHH BT gAd BRI I M o7 A 45 § —

(A) S (B) fauor

C) Ut o1 Sucterar (D) 79 & BTS2

The Point which Considered while selecting an enterprise is:-
(A) Product (B ) Marketing

(C) Availabity of capital (D) None of these
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3. I Iured B AN UR &RAT 81 ) U STHl IIdd & (b U &l GHE HRdl 8 2
(A) THIP IR (B) wTETETRY
(C) wuN (D) 314 9 BIg

An Entrepreneur prefers which form of organization if production is to be
undertaken on small scale basis ?

(A) Sole Trade (B )Partnership
(C) Company (D) None of these
4. RS 8§ —
(A) sfaegs (B) srra=y
(C) wa &! qaial (D) &< & qardT
Planning is:-
(A) Necessary (B) Unnecessary
(C) Wastage of time (D ) Wastage of money

5. T 31Dl o 8l & —
(A) TrTed (B) ¥y o= arell
(C) rergoi (D) wepof

A good plan is:-
(A') Expensive (B ) Time consuming
(C) Flexible (D) Rigid

Project is :-

(A ') Cluster of activities

(B ) Single activity

(C) Group of innumerable activities
(D) None of these

7. DPR § —
(A) BRI ST (B) wRIaTE!l TS
(ORERIERERINE (D) SWad ¥ ¥ dIs e
DPR is :-
(A') Working Plan (B) Action Plan
(C) Implementation Plan (D) None of these
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(D) Swgaa & ¥ BIg Tel

Net working capital means:-
(A)C.A.—C.L.

(B) C.A. +C.L.

(C) C.L.-C.A.

(D) None of these

9. oifc eforr & —
(A) DY B =T
(C) &Y BT yare

Closing stock is :-
(A') Source of fund
(C) No flow of fund

afer sftrfed # afg € —
(A) BN B T
(C) &Y BT garE

10.

Increase in share premium is :-
(A') Source of fund
(C) No flow of fund

11. ITe] AU BIAT & —

(A) e fereer argurd
(C) faf¥a srgura

Current Ration is:-

(A) Balance sheet Ratio
(C) Composite Ratio
12. GReT AT —

(A) fSe! Tera e
(B) ar<ifds faeh! T
©

(D) 5779 & ®Ig T

Margin of safety: _
(A) Sales less contribution

(B)

(B) &Y &7 YIRT
(D) 3778 & ®Ig T

(B ) Application of fund
(D ) None of these

(B) @Y &1 YIART
(D) T4 & @ &

(B ) Application of fund
(D ) None of these

(B) mH—gTi 3rurd
(D) 7 & @IS el

(B) P/L Ratio
(D ) None of these

B.E.P. &} fas! T ardfds faw!

Actual sales less B.E.P. sales
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(C) B.E.P.sales less actual
(D) None of these

13, URd WHR gRI AT feen—Fdel & JgarR weiie ol Sy & forg sko—wwdr argurd
=1 & —
(A) 15 (B) 2.0
(€) 05 (D) 25

According to guidelines issued by government, debt-equity ratio for venture capital
fund is :-

(A)15 (B)2.0

(C)o.5 (D)2.5

14, STH—TT84 W] SUYE & Flfd AP Fag & —
(A) Ui ¥ srfdae
(B) wpfar # wferefrer

(€) wfa & waT g%

(D) Sudaa w1 |

Labour-intensive technique is appropriate because it relates with-
(A)  Unstable Nature

(B) Movable Nature

(C) Constant Nature

(D)  All of these

15. "U§e] Ueh UM 2 | IS BT & —

(A) SIS eTR. S (B) sR&+1 gder VAIRIwe
(C) TR wara (D) 315 & P13 &l |
“Management is a Profession.” This statement is of :-
(A) George R. Terry (B ) American management association
(C) Henry Fayol (D) None of these
16. faUoE @R =g fdar T 99 © -
(NKCEIE]
(B) 3rTdedd IY
(C) uTEdI W R
(D) fafrare=

Money spent on marketing is:-
(A') Wastage

(B ) Unnecessary

(C) Burden on the customers
(D) Investment
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17.

18.

19.

20.

21.

22.

oo sraemRoT § —

() e (B) fzmeityed
(C) uTSHI=E (D) ¥ =1
Marketing concept is :-

(A)  Production — oriented

(B) Sales—oriented

(C)  Customer — oriented

(D)  All of these

IFCI Zerfod &1 s, a9 & —
(A) 1939 (B) 1948
(C) 1950 (D) 1956

IFCI was established in the year :-

(A) 1939 (B) 1948

(C) 1950 (D) 1956

TABIT T § —

(A) =i (B) =ret

(C) srg—aet (D) s | B T |
Telephone Expense is:-

(A) Fixed (B) Variable

(C) Semi-Variable (D) None of these
AT BT 31l 7 —

(A) TP HIIST §RT TEX ST DI o o

(B) © a1 1fre rarai &1 st

(C) 3 e H = e uread o3l

(D) SWad H ¥ P o |

Marger means :-

(A)  Taking over one organization by another organization
(B) Combination of two or more business

(C)  Acquiring controlling interest in the other organization
(D)  None of above.

g&e RT ® —

(A) Ba (B) fasm

(C) @err 3R fagm= < (D) 314 ¥ @Ig =T |
Management is :-

(A) Art (B ) Science

(C) Art and Science (D) None of these
GEISUEC I

25



23.

24.

25.

26.

(A) srfard (B) armawd

(GRYEED (D) e &1 gafd |
Labeling is:-

(A') Compulsory (B ) Necessary

(C) Voluntary (D ) Wastage of money

T 31 Aud A T —

(A) Us (B) erafcr

(C) UapfSt (D) IR =1 |
Maximum wide scope is of:-

(A) Brand (B ) Labeling
(C) Packing (D) Trade mark.
s &1 Seed © —

(A) F=Ifad DRl &I MHNT BT

(B) UTE® B AT <11 AR ANTGE HRAT

(C) SRl &I YR BN

(D) s9°H | BT T |

The purpose of advertisement is :-
(A)  To attract potential buyers

(B) Toinform and guide customers
(C) To make publicity of product

(D)  All of the above

STedlel F0T WR BT & —

(A)  Rer &9 )

(B) uRda==iieT &meT <)

(C) 9 @t o

(D) swa # ¥ I8 |
Long —term loan bears:-

(A)  Fixed rate of interest
(B)  Flexible rate of interest
(C)  Zerorate of interest
(D) None of above

ST §oh affeqpd 1 |Fadl 8 —
(A) I HRiEe Yol

(B)  uRdaweiiar wriefiar g

(C) frafd vd Arel sriela It
(D) Swdad ||
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27.

28.

Working capital may be classified into:-

(A)  Permanent working capital

(B)  Variable working capital

(C)  Regular and seasonal working capital
(D)  All of the above

IS 8T 8 —

(A) STBTA (B) HegahTell

(C) drdmTei (D) Y eraferl @ foru |
Planning is :-

(A) Short —term (B ) Middle —term
(C) Long —term (D) For all term.

o afds &7 gdbed & fore gamar T fUoRT 211 I8 P © —

(A) =g (B) &<

(C) T (D) &2

“A Plan is a trap to capture the future.” This statement is of:-
(A) Newman (B) Hurley

(C) Allen (D) Terry

Multiple Choice Answer 1 To 28.

1) D 2)C 3) A 4) A 5)C 6) A
7)B 8) A 9) A 10) A 11) A 12)B
13) A 14) A 15)B 16) D 17) D 18) B
19) C 20) B 21) C 22) B 23) C 24)D
25) A 26) D 27)D 28) C

%k 3k 3k 3k 3k 3k %k >k >k 3k 3k 3%k %k >k >k 3k 3%k %k >k >k >k 5%k %k %k %k %k %k 5k *k *k k
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“ wug—Il (UNIT-11) |\

g I e (Short Type Question)

frder — el 9gd AR oY ST g QY T 2| udie H ¥ RE 8 U QY iUy SR Wl 8yl
& IR AT SRS BRIT | UAd UL I 3 BT BT | R URIAT H AT S ORE A U & IR QI
T TS 3(H U B A |

(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answer to all 8 questions are compulsory. Each carries 3
marks)

1. g-foee fag qm 2 ?
What is Break-Even point?

9 IEHT TIT FAI URH BT 8 Al PHAd | I o™ 78] Bl 2, dfed Ho Al T 39 o™
T8I BT © SR AT &1 81 Bl &, oy w9—fa=as fdwg ®er oI & |

In economics and business, specifically cost accounting the Break-Even point is the
point at which cost or expenses and revenue are equal. There is no net loss or gain and
one has “broken even point.”

2. IR fhay IR & BId & ?
How many types of opportunities?
=T Rerfay # SfavR T UHR & 81 & —
i YIMEROT H [AEMM AR — B AT/ VA B B, Sl Usel W B IR H HIGE B, SIRI—PBITo,
HUSI, ST ST | 99 STH §{Y dGeld ol il © |
i, T TR — U9 IR ST Uge ¥ HIgE T8l 8 oY 3 URRYMT & iR S 6y oI 21

SRi—<forfdoH, &ex ganfs |

In normal ways there are two types of opportunities:-
i. Existing opportunities in the environment: - Some opportunities are exist in our
environment like there is need for some changes.
ii. Created opportunities:- Those opportunities which does not exist hence we have to
create in depended on situation. Like- T.V., Computer etc.

3. QIR & g foheH UaR & ?
How many types of Environment?
TR ;] UHR B B 2

i. ofdR® TRV — ARed UYITaRTT & MR 9 Ted A g, R W aedl &1 g3 @)
SR, IeTeH, Yoil, 51 s |

i. 9B iRT— 396 I(Ad d Ueh A B, T R AR BT bl FREer T8 S g oiNi—
AR, UTEd, bl ST |

There are two types of Environment:-
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1. Internal Environment: - Those types of environment which has full control of
entrepreneur i.e., land, production, capital, labour etc.

2. External Environment: - Those types of environment which has no control of
entrepreneur such as competition, customer etc.

4. 3T fAsor T R ?
What is Product Mix?

IcTe s 9§ omer il Wifad avg a1 a1 ¥ 2| O sar @1 Araegsanei & Gl el
g | I8 o Scares i &1 fad=d ud fFofaor g 2

Product mix also known as assortment refers to the total number of product linear that
a company offers to its customer.

5. HREMET INd T & ?

What is Factory cost?
FHedl ATl S D FEIdl | dREA H faf=t ufdharell ¥ [oRd 8¢ Udd AT § daordl 7, 39
TR R AT dREAH | S 41 @9 BT 2, 39 SREMT SURII HET ol 7, d g SREM]

NI Bl ST 2 |

Factory cost refers to the total cost required to manufacture goods. This concept is the basis for
several cost accounting analysis that is called factory cost.

6. STUS T & ?

What is Brand?
IATEHh! JdT FFATAmel gRT 3U= IUTE &1 UgdaF & forv 579 amaiRe fore &1 wanT fhar Sar
2, S 9198 Hal Ol & | s 3idd dls Ies, 31eR, Udid, fSuig- st I & Jdhd 2 |

A brand is a product services or concept that is decided by entrepreneur and use with product name.
Brand may be word, alphabet, symbol, design etc.

7. SMYMBIHT RIT & ?
What is Modernisation?
AT & IR H q I8 B oY AEl DI AU IATE BT M I I§4T 8FT| g S| B T,
fe¥d, SMTpR, SIS &1 YANT a1 ST Hepal &1 39 I A Teb 3R ST&l Ui gp1g oW HA
ERfl 981 UTEDT BT TAaH gHa BI SMYfT a2 |

Product companies are always looking to be on the top of marketing so it is very
necessary to improve in product. Improved in product in ways of colour, variety, size
etc. In that case the cost of product is reduced and demand of customer impressed.

|| gus—III (UNIT-111) ||

< ST 34 (Long Answer Type Question
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frer — 8l 98d AR < IO g QY T 2| e H s aRE 3 U &y o &R w3 geel
@ IR AT AR BT | U U B b B BN | 3R GRIET H 3777 1 ORE ¥ Yol & IR
9 31 3fh YT B D |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

AR AR AT B G R FEeT © ?

What is the relationship between opportunities and Entrepreneurship?

TR TAT I & I IE Fay g O UM IR Avell & 919 B B 98 Ul # & AT Hiee
qerrerl € &R S # =T Y& 2| Serll Bl w8l &7 U SEeR’ & £ o 39 gl @ 4™
Sia—qcg $T Hag B | e FaY el 3faER Pl g™ PR I (fed dal & A= Fafda SerI
TN TR IFD! ARAABAT BT DA BRAT © | $Hd oIy FHEA S JCTHR Uroide HI - RITIT
JARFT FRaT T | 39 AT ST AT AR Pl AT HY I USd B

UgAHEH BT HU — 09 59 WU H STH IR H I g IT (AT ek § | S19+ Anydr Ud
EHAT & ATHY ATHR Bl UgaH IR S [A8d B BT BM Bl © | SHD AT FaUTH IqD A9 H
fIar(ldeas) S ot 8, 9 f9aR &I 98 uRaer & 1T favafdd (Analysis) &xar € | FEfd STHaHRy
UT HRP Ulolde & I TR fIOR HRd H9 Udhl BR oidl & & SO T BT 2 |

Uadd $I B — " AT & GARTD PR o D 918 I[F A2l ‘DY FAT 87 b JE W TR wRar 7 |
TI—FHOT & §RT T Ulolde &1 RITUAT SRl 2 | 59 a8 Al & BR [JaRT &1 FHaMd | 3R9 BlaR
JIoide 1 AU BT PR FATK BIdl & b 4% Uleide b1 WUd R a7 13 A I B FHC
B B S7aT dfed S0 eRe Rfd § 99 AT W SHBT B B |

The relationship between opportunity and entrepreneur is similar to the water fish relationship.
Fish has no chance of survival in absent of water that looks for its food in water and lives in it. To an
enterprising seeing fish water is its opportunity and a life-death relationship exists between them.
After obtaining various relevant information”s an entrepreneur evaluates the reality and then he
determines and ensures to establish a new interprise after dual consideration in term of managing
resources for it.

Mode of Identification: - An entrepreneur by exercising his prudence and perception identifies
certain opportunities and starts contem planting on various aspects under the prevailing
environment. Taking into account the existing circumstances newly innovative ideas are conceived
in his mind and he begins to analyse and weigh all the pros and cons before obtaining the relevant
information with regard to his planning of the project on his mind. After deliberating over all the
relevant aspects he arrives at a firm decision now what to do next.

Personality of the Innovator :- After determining “what to do next,” an entrepreneur now comes
to determine his modus operandi on the project at hand and the removes ahead and establishes
the new project. As such, the job of an entrepreneur beings with the ideas which lead to the
establishment of the project. But not only this, all in not yet over, rather his actual work starts now
onwards as he is supported to ensure the viability of his newly established project and its
sustenance in the time to come.

. a—faevg faveiyor & q=adre R ?

What are assumptions of Break-Even analysis?
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10.

FA—fqeee favemor fost J=gdrel R iR & —
1) uRITTNSA AT B ATUIIRAT =— I A ST & b I & YA WR R Ul §hblg uRda-eid
R ReRr TEch € @1 I8 anTd ScuTe &1 A1 H# gRdas 8F wR Surfad w9 # uRdfrd gl 2 |
2) FA—fdeee faveivyr JMERd AIAT I8 & fd aNTd @ 841 dedl &I &1 9 9 3fiiq ReR arrd eiR
Rl arTa # ffra fasar o daar 2|

3) RerR orTad &1 MREAAr — T IURA W PR IAGT &l T [hdl & AT H IHEA B W)
Rer amra & @t Wl fAREd sk sRdfia = 2 |

4) ANTAl B YW AIER — ARl BT FagR Y@ (Linear) BT & 31 dFTd GHG! BT N@fad W)
UeRIT B IR UH AN @1 a9l © |

5) AWM Hed WR ¥ ReRrdl — arTa @ fafi= a@l Si— amRfl, A97ey) iR oy ali & dey # a8 "M
forar an € fo FAiRed oy # I @I uRda+ &1 8 |

6) o Rerdar — a8 79 forar Sirar § fo R s & forv aw-—fawse fagevor fean Simam g, S«
Al ¥ IATEA UG, AUl DI HFASAT T AhAD! UGN H fAR el B |

Break-even analysis is based on three following assumptions:-

1) The variable cost per unit is fixed production-oriented but undergoes a transformation
proportionately in relation to a product.

2) All the elements of cost are divided into fixed or variable cost.

3) The stock valuation is restricted to a certain cost.

4) There is always coordination between production and sale.

5) This analysis is related to one product and in the event of several products sales mixture is
transformed into cost.

6) The cost and receipt are influenced by the volume of production.

Sl & faff=1 UaRI &7 quie o |

Explanin the different kinds of caital.

T e 390 & 1 IR @ Hod1 T8 & I Fhdl § 31D I IHR Yot & a7 fhedt f SuspA
DI FAT YT NI & AT oIl aeqT BT Sila Iad 2 |

ISl 459d: & UhR & BId § —
i. I Yol (Fixed capital)
ii. @l 9ot (Working capital)

i, ot Ooft (Fixed capital) -— el §o0 &1 oraer Uoil W @ed & | @l IS & emery I &
9 9RT ¥ & et Ao werll dufadt - qff, 9949, 999N, SRR IUaR offe &l WNiE @
forg foar Siran € woe vd AR (Flaney & Miller) & 319R, IRl Uil JefHicds gite | Iy
g@fd & Bl & fT9eT SRR a9 & HaTed ¥ BT § iR I8 fama & forg =18 el 5 1" 39
WE DI Yoll DI W B BT HRU IJg 8l BT [ AP Jod VIR 8l & dfcd SIdT GANT
et © oy fhar SIar § &R g7 dRelar &l ST 81T § | Il GOt afem, otas qem gfenyfoat
& frtae dorr faRre foxfa Heermel | <rddrela ol & w9 9 Ui 81l & |

ii. HRIRNE Uslt (Working capital) :— 591 R 9Mg &1 <1 Y89 & o 9o+ Jmavdd §
S UHR IqAR BT Sifdd W@ & forg Rl 4ot @ snmawdar g B feg erieie on
JAMILIHAT I AfH AT HH IF1 &1 BIMBRS & | AR el § Hrdfiar Yol 4 ey dre] |ufadl &
=T SR TR SNfEa ¥ 8| SN Wl # Al Ire] Wufadl & IRT H 9 4re] <@l & I Dl Fer
faam S a1 S WY 92T, 98 BRiEid Yol e | Al Wufadl ¥ MR 349 |ufadl ¥ 7 o Rer
T YEHY gSoldl I8dl 8, W— BT H b, db H JAdbs, Ay IR, 3ifqw <sfoan, uea oy, U™
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11.

faar anfe Safd =re] SR | e 99 IR 9§ dT Jumeie YIaH &A1 8l & old—dd
sffRfdey fafder oFeR, <afdd, sred =g afe

Capital is of two kinds:-

i. Fixed capital

ii. Working capital

i. Fixed capital :- Fixed capital is also known as fixed assets which refers to that part of
the capital which is invested on fixed assets, i.e. land, building, machinery, furniture and
equipments etc. According to Flaney and Miller, “Fixed assets are assets of relatively
permanent nature used in the operation of business and not intend for sale.” The reason
of terming it is fixed capital because its price remains the same and permanent rather it
is used in the long term which lacks to liquidity. The fixed capital is obtained by issuing
shares debentures and securities and securing long terms loans from various financial
institutions.

ii. Working Capital :- Working capital refers to the excess of current assets on current
liabilities. In other words, if the sum of current liabilities is subtracted from the total sum
of current assets, whatever remains its termed as working capital. Current assets refers
to those assets which continue changing rather than being fixed, viz; cash in hand, cash
at bank, sundry debtors, closing stocks, bill receivable, marketable securities, prepaid
expenses etc, where the current liabilities of which the immediate repayment is to be
made viz; Bank overdraft, creditors, bills payable, unpaid expenses etc.

yder & fafer= fagrodmen & fademr i |

Explain the various characteristics of management.

1) yaer us ufshar & (Management is a process) i— a8 U& UihaAT § Wil $HD 3ATd 3D BRI
M B O SR @ gfd R B | Ig AHINIG UfhAr ® 9ife ueudd &1 qEd: dARl & #e
Wdal | Gfa T | ey Uw e fohar o © aaife s i ARl &7 wAnT fhar S |

2) gdg U dMfed o & (Managemnet is a group activity) -— Udg 9eNm AMRE UATEl Bl Hed
<dT B | I8 Afdadl & Uh 9HE ® O el ke @ forarell @1 Hared dRar ¥ o WRenm @
S B Ui e cafaadl @ \RRdT @ Sl @ 7 b i afed faRw @ et

3) udy & Haq fhar 8 (Management is a continuous activity) -— eI # fRAR TARImRIT BT
FHERI 9 IR R DI MMeIHAT I8! © | S BRUT Yae DI U Fdq AT Hal ST & |

4) ws§y derm Ud fasm= a1 ® (Management is an art as well as science) :— Uae &1 &l T &
IR fagma At wifd g9d AP Ud BHelicdd ®UT BT AT 8! fHaT ST Ahdl 8| Holl & U H
gder 3nfe faRiwamy 2 iR s & ®u # &R AR uRomA &1 wdy, i &1 wdeon, aradr &
aRRomH} BT gargar ffe faRivard & | 7 dag udy dell vd fasie <M B |

5) gder ge |EIRT far & (Management is a social process) -— Uded H& w0 I HdY JaA D
AT UeT ¥ BIAT 2| AR @ 9 HHAR Gl & B 3R ¥ o1 T A9 9 fdem
ARSI far & & 3T 21 39 ¥ # d=(Brech) & 1UR, 'UdY H AMAI I BT BT AHINIS
fohar &1 faRy Steror U™ e ® I

6) yda TH Y3 & (Management is a profession) — @qam & Sifcadrelil & &R fHAr @
ATEATRID HIRAT BT Yae bdel AMRI S IT AqHd S AR R a1 [HIT ST Faball | 3ffUg g9
foU gderemes &1 oresT Sl BT ANty | geay fasma H faRre s, uferor & gfden, dar e,
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1)

2)

3)

4)

5)

6)

R Afedr vd faldne s &1 wgfod SuanT onfe it Uer @ faward url ot 21 or: ua® Us
e B |

Characteristics of Management:-

Management is a process: - Management is a process that includes various activities
which lead to the attainment of predetermined objective. It is social phenomenon
because managing of the activities is linked to the people who manage them.
Management in also an economic activity because it uses economic sources.
Management is a group activity: - Management is a team work or the management
always spurs a joint endeavor. It is group of people that operates that a the activities of
an enterprise and the attainment of the objectives is possible by the collected efforts of
a group of people rather than by an individual”s efforts.

Management is a Continuous activity:- In business there is a constant Endeavour of
commission and omission of activities is therefore, known as perpetual or a continuous
phenomenon. The size and the varying circumstances, has further complicated the
process of management.

Management is a an art as well as science: - Management is both an art and science, as
well as and are so well knitted, that are inseparable. As an art, the management refers
to behavioural service efficiency, skill, constructive thoughts ideas and development
through practice etc. Thus, management is a dichotomy of art and science.
Management is a social process:- In business, management is related to the human
aspect. All the workers is an organisation are the organs of the society. Thus, their
leadership and management are the part of social activities. In this context, Brech
remarks, “Presence of human element in management is its testimony of a social
activity.”

Management is a profession: - In view of the constantly growing complexities is any
business, depends no longer, on the general knowledge, common sense and experience
only but deep knowledge of in management is the need of the hour. In management
science, an extra knowledge, training facility, sence of dedication, good behavior sence
and code of conduct, all in totality along-with all the essential characteristics of a
profession are involved. Thus management is a profession of which the education is
imparted in various universities and academic institutions.

%k >k 3k 3k 3k 3k %k >k >k ok 3k 3%k %k >k >k 3k 3%k %k %k >k %k %k %k %k %k %k k
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ug (Section) -1
o

g ued (Objecti

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

gug (Section) -2
IR—aRIfTs U (Non-Objecti\le)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

@ug—1 (Section-1)

e —I8l W 9gd IR RIS U SR Afed o T 7 | w¥ie ¥ 3l a'E b 28 U Iy g
3R 3Mudl T 28 TeAl & IR OMR SHEET W <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

q¥dfss g2+ (Objective Type Question)

(1) = & 9 PI—4T SRR BT IBR 2 |

(A) 9o 3[aEr (B)Hfia srawx
(C) arf<TH 1R (D)g7H | Pig -TET
Which of the following is a kind of opportunities?
(A) First opportunities (B) Created opportunities
(C) Last opportunities (D) None of these
(2) GETfTd <far &I =T B © |
(A) ¥ & fFars oo | (B) <ifar & fparess fawe |
(C) ¥ & fFarets fawre & (D) g9 & ®I3 T8l

Social Structure is composed of?
(A) Functional division of Society (D) Functional division of Caste
(B) Functional division of Community (D) None of these
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(3) STOTR @ HAT BT 1 | R Ped B |

(A) HTT P1 wfqearof (B) arxfas #fT
(8) ff (D) 4 @ B &
Market Demand is also known as!

(A) Demand Forecasting (B) Real Demand
(B) Supply (D) None of these

4. HRT YA BT fFF w9 H A1 AT 2 |

(A) IR AT (B)faaor=

(C) #fT wa yfd (D) 7% & &g &l
Demand force casting is which termed as-

(C) Marketing Demand Marketing
(D)Demand Marketing None of these

(5) 1 # 9 T IS AT HaT &1 FA1d B FHIT S G] SN & |

(A) wfcrafrar (B)Swured &rTd

(c) & @1 FHTEAT (D)SURTT Y

Which of the following factors is to be considered, While selecting a product of
Service?

(A) Competition (B)Cost of Production

(B) Product Possibility (D)AIl of the above

(6) SuEH BT AT R @var 2|

(A) YTd! AR (C)aT== &1 SR
(C) aredt @7 wg DY Jrgar (D)z=# & BIs &I
Selection of an enterprise demand on?
(A)Sole Trading (B)Right of Entrepreneur
(B) Self Ability of Entrepreneur (D)None of these
(7) e & A aT & U BT iR dxar € |
(A) 3R (B)werr=
(C) sz (D)= ¥t ®I el
The o, Of Business also determines the form of
(A)Size (D)Conation
(B) Study (D)None of these
(8) AT | ST U U AR |
(A) S wrer (B) &1
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(C) fawer (D) & P1E T

.............................. A main Problem connect of Business.

(A)Risk Management (B)Money

(B) Marketing (D)None of these
(9) fRITST 8|

(A) der g (B)Sezy sifage

(C) w1 ufba (D)t wl

Planning is ....cccccceeveeeveeceeevee e,

(A) Good Oriented (B)Object Oriented

(C) Mental Process (D)AIl of these

(10) fordrer # “nfrer |

(A) R BT B | (D)pd BRAT B |
(C) D &=AT £ | (D)sgat |t
Planning involver.

(A) What to do (B) When to do
(C) How to do (D) All of these

(11) gRESHT UgaE GER HRAT & |

(A) wagrRf gRareHr faar | (B) arfdrsp srawR ¥

(C) woTaemel | T & (D) 7% & &g &l

Project identification deals with.

(A) Viable product idea (B) Logical opportunity

(C) Effective Demand (D) None of these
(12) SUBROT & JATNDHROT H HH Bl |

(A) maR® aTermet | (B) T8l eIl ¥

(C) TR aTemsil | (D) framme amemet |

Lack of standardisation of the equipment is due to.

(A) Internal Constraints (B) External Constraints

(C) Government Barriers (D) Regulatory Constraints
(13) gRarsT = & 9 Faferd =8 8|

(A) sTavea (B) weus wifaa

(C) <hiRkaw (D) gotear

Project is not concerned with..
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(A) Innovation
(C) Risk

(B) Vision
(D) Creative

(14) Tapta—eniies faveryor # ugar fdar ST € |

(A) afch FwrasT
(C) forata awTa=T

(B) ART q™TaA
(D) 3mard {qwTa-T

Choose the correct alternative from the following.

(A) Supply Potential
(C) Export Potential

(15) forarer fageror e € |
(A) fHfErmRor mragaamang
(C) =9 maegdHad

Input analysis deals with.
(A) Funding Requirement
(C) Labour Requirement

(16) IR AR B ST 2 |
(A) YaddT gIRT
(C) Serfl g1

Project is prepared.
(A) By Promoters
(C) By Entrepreneurs

(17) g€ adae g fafy wwafda €

(A) F=T &1 79 Jou &
(C) Y it T et &

Npv method relation method.
(A) Time money of value
(C) Present value of money

(18) fafaa wriefier Uoft &t sfer 8Kl § |
(A) T SRR Yol
(C) gs prieier ot

Permanent working capital.
(A) Permanent working capital
(C) Net working capital

(B) Demand Potential
(D) Input Potential

(B) At SmaegdHday
(D) FARM MaTIHATY

(B) Mental Requirement
(D) Resource Requirement

(B) veerdl gRT
(D) =9 ¥t & gRT

(B) By Managers
(D) By All of these

(B) HaT BT 9¢ gY oI A
(D) =79 & I3 TEI

(B) Infleted value of money
(D) None of these

(B) uRadH wrier o
(D) 3% & BIg el

(B) Variable working capital
(D) None of these
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(19) B"1-yare fawel"or § Wgad ‘BI'T Teq BT AR T |

(A) Daet b (B) =me] et

(C) =] <Tiaea (D) =e] AT BT =Te] QTR UR ST

The term “fund” as used in fund flow analysis mean.

(A) Cash only (B) Current Assets

(C) Current Liabilities (D) Excess current assets over current Liabilities

(20) @ &I & HROT Rmh vl 7 gfg €|

(A) &' & Hiq (B) &I"1 BT WA

(C) &1 BT 3= yaTg (D) 3¢ & &g &l
Increase in fexed assets due to cash purchases.

(A) Sources of fund (B) Application of fund
(C) Input of fund (D) None of these

(21) ¥ 37T U ST |

(A) TReTaT 3rguTd (B) IreTaeh 3rUTd
(C) fapareierdn arurd (D) fa<irg Rerfar argura
Stock turner ratio comes under.

(A) Liquidity Ratio (B) Profitability Ratio
(C) Activity Ratio (D) Financial Ratio

(22) v —HIA SFguTe—

(A) =100 (B) s X 100

© (D) ST & @1 |

P/V Ratio

ontribution ales

(A) =G X100 (B) oritperon X 100

() % (D) None of these.
(23) iR tl;Tfﬁ Rramr wenfud fear |

(A) 1970 (B) 1975

(C) 1986 (D) 1988

Risk capital foundation was established in---
(A) 1970 (B) 1975
(C) 1986 (D) 1988
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(24) Serft Yot faemR SeuT gar |

(A) 9T (B) s7<is

(C) ™Rar (D) SIruT=
Venture capital thought was firstly originated in .
(A) India (B) England

(C) America (D) Japan

(25) s/H—T8= Urenfie SUARl § |
(A) famraeiia <=n &g (B) famfRya <= &g
(C) fUs< sefaarer €g (D) SWad # & foelt & forg =&k

Labour- intensive technique is useful.
(A) For developing countries (B) For developed countries

(C) For backward economices (D) For None of these

(26) 779 =1 U B ¥ |

(A) goid: grferd (B) emfia gxfer
(C) SrgRferd (D) 374 & IS &
Naked debentures are..

(A) Fully Secured (B) Partly Secured
(C) Unsecured (D) None of these

(27) ST v dod B |
(A) ST SEIT # foRdR AT (B) =1 e # fafderdr &

(C) 3 EBTS BT B (D) |7TeT BT SU-SHIZAT H dichH

Conglomeration is a technique to.

(A) Expand in the same industry (B) Diversity in other areas

(C) Taking over other Units (D) Divide the organisation
(28) IR ¥eF H—

(A) T wHfr (¥e) gy @ fore fafr
(B) T& WM (¥HeX) UF TN | qqar
(C) vd Fwft (¥apex) e | do

(D) s Wl (¥aneR) 3iFalg WER )

Under market penetration-

(A) An asset “scoter” is exchange for another
(B) An old asset “scoter” is exchanged for new
(C) An asset “scoter” is sold for cash
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(D) An asset “scoter” is sold online purchase system.

Multiple Choice Answer 1 To 28.

(1) B (8) A (15) D (22) A
(2) C (9) D (16) D (23) B
(3) A (10) D (17) C (24) C
(4) A (11) A (18) A (25) A
(5) D (12) B (19) D (26) C
(6) C (13) D (20) B (27) B
(7) A (14) B (21) C (28) C
wus—|| (UNIT-II) |

oY I e (Short Type Question)

freer — JEf 9gd IR oY S U QY T 2| u_er # g9 v 8 U fa¥ S Sfik |l
8 Ul & SR AT fard BT | TS U < 3fd BT BRI | SFIR URIET H 39 X TR | U b
IR < TG AT 3B YT B AD |
(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answers to all 8 questions are compulsory. Each carries 3
marks)

1. AR fagersyor & wr WEg € |
What are the limitation of Environmental analysis ?
grareRvy favereyor &1 g dMn Frefoiad &i—
1) SUFH B TGl B RS & o— IIArEeRv fIgeleyor M= oMy H fhell WRenm @
AT &I TRET Fal € |
2) AEIRT # BfcAs — araexeiia ey & o ®9 <A1 a%dd: Udh Sied &M 8| I8
P —FT 3req @l & forg ufcefad grar 2 |
3) iff¥ad “fasy — araraReiy fagereyer “fdsy @ fARear & vy § $o W 78 qaar 2|
FJqa H g gfafes T5—3 Iy 3= Bl I8l 8 de fhadr AT amau /& T8 <@
NI
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The major limitation of environmental analysis are summed of as follows -

1. Inference of factors, No Guarantee : The environmental analysis is not a guarantee.

2. Difficult in practical application :- It is difficult to give a practical shape to
environmental analysis. Sometimes, it is indicative on a short term basis.

3. Uncertain future :- Nothing is predictable about the fate of the environmental
analysis

2. YAER 39 @ ¥ |
what is preference share?
YaTEreR RN ¥ dad S e | 2 7 Ay & i H wreifiedr <1 SRl § | 3 anie
T P UTET AR SRIRAT © o # A femr e €1 @t @ ) ARed @k 2
HH D FHO BF OR GHAT STTRmREl @) gofl 9 @ Sl € |

Preference share are those shares which have a preference to get divided according
to a fixed rate and repayment of their capital at the liquidation of company before
equily shareholders.

3. Rasd! yee= I MY RIT AHS © |
What do you mean by window Dressing ?
B HHRT o facfia faavoil &1 faser SRiT av yeffa oxci € arfs argg well & W
focia Rafd g AmverIddl &7 J8ar U3M ) Ad | ofd: U foxiiy fAaRol & ek o 9Torm
P T Ul & R H HGY Y8 Bl MavIdhdl Bkl 5, Hifh $9d JAMER IR Fel oy
T8 forg 1 dad fg 9189 uell & oy I8 ST oidd dicd © fb wH H faser SR far
TR € |

Some of the companies display their financial statements on window dressing so as
a better picture of their financial strength and profitability of strength one ought to
remain cautions, because on the basis of such ratio-projection the correct decision
can not be taken since the exterior concers find it difficult to be believe this window
dressing.

4. UrENfreT eI aR9Td i |

Define Technology.

O] 9§ AU IS gRT 37U+ A& 3R $ I H dea4 & oI =rgal I+ gq
Ugicr & foram ST Adhal & | S0 $0 s & AR, URNND! I ARG BT BT AR~
TR TG STANT BT T8 I AT ferar o= Afed 19 & w9 # gRenf™1a far <7 Favar
g1 Sad YRAT'T &S MR U PHE S Al & [ Hrenfiep! foedl ufbar ol e = 3ferdn
ICUTET 37FaT TSI T FHRIRN B g Bl B Ay 7 & |

Technology implies change of its sources — skill, technology,equipment into
production by organisation according to J.K Gailbraith, “Technology is used for
accomplishing business activities by exploting the scientific methods and others
organising skill and for acquiring this knowledge, can be defined in this way”. On
the basis of the aforesaid definition it can be inferred that technology is a method to
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the used for concluding an activity and solving this problems in relation to the
products or services.

5. Y& ol R fasm g ' dwl

Management is both art as well as science .How?

frcE Y9y Perm iR fIsM SFI €| IRAd H UeY & ISP Ud hellcAd wUl Bl T Tal
far ST wadr| dAgifie M @EERG dF @ 9T IMERT §, TAT @RS dF b o
JgIs T BT SUART TR B FahdT i Uh HI YSHd: B forg S SR STWa I uRA
AMMITTH E |

Undoubtly , Management in both art as well as science. In facts, its interrelationship
between science and art is inseparable. The science based on principles is
incomplete in absence of behavioural knowledge and viva-versa or for a successful
manager, both knowledge and experience are of paramount importance.

6. fauvr 3R A # iR wW'"e o |
Differentiale between marketing & selling.

fagor= IBEZ]

1) SeI—IAUUM BT Teed UED! Bl | (AP BT I GRS qAT Harsl Bl
<qe e B} o At axe v | | 3ifdread fAed B 2
) fF-RwE w1 &F wmus ¥ 2) ey &1 e | €1 faueE ar @
zad faea A affera €1 3T E |
3) URW—TAUUE BT YR axq i @ 3) f[d®da &1 URY a3l & Ided &
faaR & ey & & S € | qeaTd BT E |
4) FT-SABT I U P Gfe B | 4) TABI T [AHT & W & 91 & el
e e £ | gl
1. Object — The objective is to earn 1. Here, the objective is to
profit by statisfying customers. achieve maximum sale of the
2. Scope —The scope is much wider products or services.
which includes selling also. 2. It has a limited scope,
3. Start — The very thought of science it is a part of
production marks the start of marketing.
marketing. 3. The beginning sale starts
4. End- The end lies in customer after production.
statisfaction . 4. Its end lies when the sale is
over.

7. IcUblel fad & AR @& 2 |

What are the sources of short term finance?
JTBTA fad & Fredt &7 a7 991 & favwed fhar mar 2 |
(@) 9 AT
1 gRfgT =0T
2 9 Irffad"t
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3 JIGRIET 0T

4 fde W P

@) iR dF arE

1 MRS T

PICCIRCINIT

3 o4 e

4 BT SR

5 dHH AHI D ToTg o

6 ufrsT U Uq g

The sources of short term finance can be divided into two parts:-

(A)Bank Sources
1. Secured Loans
2. Bank Overdrafts
3. Unsecured Loans
4. Discounting Bill

(B) Non-Banking Sources
1. Trade Loans
2. Open account
3. Public Deposit
4. Outstanding Liabilities
5. Short-terms Loan
6. Promissory Notes & Hundies

H@W@’—III (UNIT-111) ||

<re TN w2 (Long Answer Type Question)

e — I8l 98 IR <" SR Uy A W g | wen H 3l dRE 3 U I S &R | 3 Al
P IR <7 IAA BRI | TS U ©: 3D BT BN 3FR TRIET H 3T S R I U & SR <
T9 3B 3h YT B b |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

8. U JUBH Pl WM B & Yd Al Bl fb fbT qrall UR & <A1 412y |
What essential factors should be considered by an entrepreneur before setting up

of a new enterprises?

ffl Y Sued &7 T § g ‘M’ P avgdar Bl ¢ |

1) 819 2) Hal Al 3) I 4) oI 5) IOIR

19 9BR A919d &7 INR Uig dadl 9 AT 2, 3e S bR SusH &l go § o g«
dadl &Y SMagahdr gidl § |
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1) $¥— IUGH & T ARAT § 3 BT F8dT Faidq ¢ | 3] 51 ofdd & SR W
T JUGH B FAheldl HRAd & | IUSH Bl FATA B BIA Ud AHIA SHI A8 B 3
BT SRR B B |

2) Hedl Ald— Jfe IUGH IAGA  FARd 2, I RO & Y ded Al B IuIerdr
e, gou, amgfc @1 FRARaT anfe R AR axe g7 Fawell &A1 ISl & |

3) T~ IR de 98 IT B fHdl TM W 81, 39 oIy G &1 Magaddr gl
g T | SUGH URT B A U SHG] ARAT Rl ANRY |

4) TaT— qaT AT Yol SUGH Pl SilawRad © | 39 [d91 SUSH &I bodl &l & 81
ST AT | A SUBH WU & Y4 D! FaRRAT HI &1 Ul B |

5) ISTR— SUPH & IcaTfad avgall dI = 8q P & IR B IR AT ISl
2| 9OIR & AN @ IR & Sred fhar Srar 8, a1 Wt 99ic 7 8 9 gl Al &l
SRUERICER AT I

In order to successfully operate an interprise there requires five “M”.

(1) Men (ii) Materials (iii) Machine (iv) Money (v) Market

(I) Men or Labour:- Without men we can not imagine of an enterprise. In all the
recourses of production the ingredient of labour is the most mobilising element that
stimulates all others factors and turns even the most useless things into a useful one.
For the successful operation of an enterprise both kinds of skilled and unskilled
labour force are required.

(i) Raw-Materials:- If the enterprise is production oriented a prior arrangement
should be comphasised with regareds to availability type, cost/price and a regular
supply of the raw-materials.

(iii) Machine:- Whatever be the scale of the enterprise whether big or small,
machines are required in either case. Prior to the establishment the machinery and
the others equipment should be purchased and installed as well.

(iv) Money:- Money/capital is the life blood of an enterprises without which the
establishment is an inconceivable presumption. The capital in long and short term
and its amount and the capital resources are the pre-emptive requirement.

(v) Market:- In accordance with the presumed estimate the production is to be
ensured under production or over production both can inaur losses. According to
the demand of market, entrepreneur supplies product in the market.

9. BRI USIT BT HEcd 1@l o9 AT AALIHAT W UBTeT Slel 2
Discuss importance or advantage or needs of working capital.

5 UpR 77"9 & f57=1 89 & 419 ARS8, IA YBR IdARI DI Sfdd I8 TG IHPT
AR B & foly BRI Yo sawaeddr el | SRR ISl sawasdmdr 4 #fdd
Ir BF gl 8 R § W 21 59 gf'c ¥ gadr ¥ drieid Yol 9aie gl =1fey
96 84 9 fHifed o urd 8 g
(1) a9 BT e &HAT BT Y & F A8 ¢ |
(2) BIC—BIC HHCI, MBRAB TSR, T ATUNRD HHCl BT Al qddb AHAT fhar
ABT B |
(3) 3R TR JATHART BT S ISHAT ST Fehall & |
(4) FaTST Hed 3N T oA™Y [AART PR Fabdl © | IPTERT [ I8 &, TAT 372 IR
# 39l & IR gou ReR gAY <@1 &1 el 2 |
(5) THE B BT AT SSMT ST AT & |
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6) AT —HGTgNl T 3 QI AT DI AT FHY YT fhaT ST Feball 2 |

The way in order to remain alive food in essential for man similarly in order to
sustain a business the working capital is essential but it is fatal if the working
capital exceeds or fall short of. It there is surfeit of it, It encourages the
extravagance, administrative lapses, dissatisfaction among share holders
incredibility of the financial institutions decline in profitability. Fostering of
speculation increasing delay, corruption like other problems etc. On the
contrary, in the event of paucity of the working capital difficulties start raising
their ugly hood in terms of operation of business to liquidity and other unfore
seen problem. Therefore there should be an adequate working capital which
yield due the following benefits:-

(1) Helps to maintain solvency of business.

(i) It is easy to overcome trivial problems. Unfore seen accident and business
crisis etc.

(iii) The appropriate business opportunities can be easily exploited.

(iv) Boards of Director can distribute attractive dividend the share holders
remain content and the rate of shares remain stable in the market.

(v) The benefit of cash discount can be avoided of.

(vi) There in convenience in disbursing the salaries/wages and daily
expenditure as per schedule.

10. fo=g wdy &1 afegnitra fhforu |

Discuss financial management?
g I &1 R €1 39 & 991 9 @1 ®I8 9w ARV & fhar 51 |aar g, @ik T
IHHT fABr B W9d ¢ | ORI vy &1 A a9 &1 oy WReqiedl & § Sl erel Warerq ua
I BT AHAAYGd YT B & oY &1 Sl 8 | el ofar & & 99 e &1 sia 3
2| 5l g & WUl 9 ol 3aedds FAEA] & el SR oiv— ¥, wad, &l
AT, Wic Td HRI BeleR SQIQ BT YA &R a0l 9 dagd & forg qaia fa @
ATeIHAT BT & |

=i wsier &1 aRwmaT - 1 RIgmi g1 39 UaR &) 718 73—
1) BAS UG QU & AR fa<ig yaer | ey e FrRIFr s &l o &l R
FRAT B |
2) T UG ST & AR, I Udy o1 Hay U IfafafEl | 2 S e § ygad el
@ e, TEHE T g9 memid 9 S g8 @
3) S0 U0 HHl & SRR fa<i Uaer 98 Harercie (AT 2, Sl U adrd & §Held Adier
& forg smawae fO<T &1 Ut mmasﬂeﬁwuﬂmqﬂfwmzﬁﬁmwrﬁr%ﬁ?ﬁ%l

Finance is the base of business, in the absence of which neither can any business be
stared nor can grow. Financial management is skin to the financial arrangements in
which an efficient operation for achieving the projected objectives can be ensured.
It is said that financial management means managing for any organisational health
with finance, Which is also required as the life blood of any organisation.
Establishing for any commercial organisation and requisite sources for it. Such as
land, building raw meterial, plant & machinery furniture and other infrastructure

46



11.

etc. Payment of general expenses and for distribution an adequate amount of
finance is needed.

Definitions of ‘financial management’:- Various scholars have defined in different
ways as their perception and belief, some of significant definitions are as follows:-

() According to the Howards upon,” financial management is the application of the
planning and control function to the finance function,”

(1) According to Guthmann & Dougall,” Business finance is the activity concerned
with the planning, raising, controlling and administering the funds used in business.”
(IlI) According to J.L massie,” financial management in the operational activity of a
business that is responsible for obtaining and effectively utilizing the funds
necessary for efficient operations.”

fasmoe | @ oM 2?7 fAsue faderansit &1 dey # guie By |

Which is meant by Advertising? Explain in brief the characteristics of advertising.
fagmo wreg fa g T’ Q1 vl | e 91 g1 Y @1 red 'y ar fafd"s &k smuH
BT 31ed fa"T SR <1 € | ord: fasios &1 sref faer"t TMeR g9 W | adae # fase
BT 3 BId BRI o1 Tb o AIAT 81 © dfed $AD gRI Y 8D BT Jold b1 Sl 2
Td QR ARSI B W g9R1 Srar & | e @ ora fafte ArEl | uigdl B awgeli
AT FIRN & G H Fol B S99 AT b1 [I9ard S &1 U fhar Sir 8 &R S=ar
B FI B U MHTT B agRll BT AfBIEds fAeg fHar Srar €| derg # g &1 e
[HIIT ATeDT DI IUTG IFAAT HAT Bl STHGRI AT AT S= &I &R folg YRT HIAT 2 |
FIeR & AR AT N & BT PR B Seed ¥ fdaRl, awqan a1 i bl fdafdid
TR 2 e fog a8 1

Tesd @ IATAR, Ao 0l Fauil¥ie wifdd © e svia gfad el g1 A% gig #
T et 8, Tfa &1 fAfer g ® den 9rg 9edl g 1

fagm @1 faRr"ang—

1) o599 dqa SfdaTTd 8idT g |

2) fATUT g1 He™ S WEIAY & U HGSi-dey § Ugdrl Sl 2 |
3) 39 fory MU= S1am gRT A= fam SI1ar & |
)
)

4) fa=smus &1 Hewr forRad srerar Hikgs 81 Fahdr € |
5) fasIToT &1 S Uesl o Asfd Il &1 7 w3 & v aRd &eAr 2|

The wordly meaning of advertising is to give specific information. At present the
meaning of advertising is not limited to give only information but the new
customers are created by it and the old customers are made permanent. Under
advertising goods and service by various mediums and maximum sale by goods is
done by attracting the public towards purchese. In brief advertising is meant to give
information of its products and services to the proposed customers and to inspire
them for purchasing.

According to wheeler,” Adverting is impersonal presentations of thought,
goods and services with the objective of inspiring the people to purchases.”
According to the Sheldon,” Adverting is such a commercial power under which sale
is increased by printed words, goodwill is formed and credit increases.”
Characteristics of adverting:-

(I) Adverting is always impersonal.
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() The message is made to rearch the general public publically by adverting.

(Ill) Advertiser paid for it.

(Iv) The massage of adverting can be written or oral.

(v) The objective of adverting is to inspire the costomers to purchase the advertised
material.
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ug (Section) -1
o

g ued (Objecti

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

gug (Section) -2
IR—aRIfTs U (Non-Objecti\le)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

@ug—1 (Section-1)

e —I8l W 9gd IR RIS U SR Afed o T 7 | w¥ie ¥ 3l a'E b 28 U Iy g
3R 3Mudl T 28 TeAl & IR OMR SHEET W <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

q¥dfss g2+ (Objective Type Question)

1. 99 9 9 S99 IS aUR Bl YSdaTT bl JAIdd B el 9ch g |
(A) T<aR® HT BT AT (B) fAfHid srawR
(C) TateaRvr § fIed 3TeRR (D) SWa & ¥ Py &l

Which of the following factors affecting identification of business opportunities. —
(A) Volume of internal demand (B) Created opportunity
(C) Exiting opportunities in the environment (D) None of these

2. IR R A8 Bl § -

(A) e (B) &% <

(C) &<t GSit T yrerer= (D) weded qIram
Incentives are not concord with —

(A) Rebate (B) Exemption fromtex

(C) Provision of seed capital (D) Lump sum payment
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. I BT e <t wfed giar € -

(A) SraReIuA (B) ere<arg @1 faem

(C) =g &Y A= (D) 378 & P A=l
Regulatory framework of business is concerned with. —

(A) Regulation (B) Direction of business

(C) Volume of business (D) None of these

. 9 A W o A1 ged IR e TR UHIG STerdT 8-

(A) Jg&s greraRor (B) TG &I ANTd

(C) Hr (D) 5% <1 B1E LN
Which of the following factors affect market assessment.-

(A) Micro Environment (B) Production cost

(C) Demand (D) None of these

. A 9 e SATe A1 AT &7 gAd R A ST G ST Jal © -

(A) ISR &1 e (B) amasTRepar
(C) gfcrafirar (D) Seure=t s
Which of the following is not to be considered while selecting a product or Service. —
(A) Market Assessment (B) Practicability
(C) Competition (D) Product planning

. TR ¥ Yo &1 Rerf &7 1| Giora #Rar § S af<Id: 9l v o H gl &l © -

(A) gaa+ (B) anfaspR

(C) Swdaa eI (D) SWa & ¥ Py &l
What creates imperfection in the market which ultimately increases the volume

(A) Promotion (B) Innovation

(C) Both of the above (D) None of these

. fae g € -

(A) a1t & forg (B) wfasy & forw

(C) g9 & forg (D) = & forw
Planning is for:-

(A) Past (B) Future

(C) Present (D) All

. PRch YdoIdl Uy qﬁﬂl\ﬂ“lli %l—
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(A) IS et gRATSTTY (B) 51 emearrRa uRRATSTG
(C) d@ira ure uRAeTY (D) ATg B gHi

Factors intensity oriented project are —
(A) Capital oriented projects (B) Labour Intensive projects
(C) Technology oriented projects (D) Both “A” and “B”

9. P AT ATGANID [qFR BT B |—

(A) T (B) e

(C) g (D) s & Big &I
Every new business opportunity is :-

(A) Easy (B) Difficult

(C) Unique (D) None of these

10.9RATSHT & TR B R g fbar Tar o+ & |—

(A) faferarsr (B) ==

(C) sro=ry (D) 5% & &g =Tl
Money spent on the preparation of project is :-

(A) Investment (B) Expenditure

(C) Wastage (D) None of these

11.wiafy Fwfdd € -

(A) feR o et 9 (B) Seva @y |

(C) fparaa= smafy & (D) arforsy arafy &
Generation Period is concerned with :-

(A) Idea creation period (B) Incubation period

(C) Implementation period (D) Commercialisation period

12.f=fRad & 9 $i9 a1 Gered g T8 § |-

(A) s & (B) URf™& =g
(C) 7ot (D) fob=ram
Which of the following is not an operating Expenses. —
(A) Advertising Expense (B) preliminary Exp. Written off
(C) Wages (D) Rent

13.91Rew Yoil RreeR, =1 gIRT enfua faar T —
(A) 3 TH AT &g (B) 7 <1 a1
(C) 3 <r &t a11g (D) 3 ¥t 3 W a1g
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Risk capital foundation was established by —

(A) IFCI (B) UTI
(C) IDBI (D) ICICI

14. 3z ol Suere € |-
(A) srg=a SR STl Bq (B) ATl SIS B
(C) TR ShrSAT (D) 3wt & ferg

Venture capitals provided for —

(A) Very risk unit (B) Technical unit
(C) Organisation units (D) All of these

159511 T8 Ui &1 gblard ol Sl &, Fifd—
(A) =rer i fRerfer (B) \rfTeh g
(C) ISR 3Rt H gl (D) Sugaa &+

Capital-intensive technique is favoured due to —
(A) Repaid economic growth (B) Social influence
(C) Incensement in employment opportunities (D) All of the above

16.99% Hell € |-
(A) T B B B (B) S&RT ¥ &M o @l
(C) T &M &= Td AT | B o QAT Dl (D) 3% & P =l
Management is an art of —
(A) Doing work himself
(B) Taking work others
(C) Both for doing himself work and taking work from others
(D) None of these
17. ve7 SAfdqal o1 fFam € 9 6 awgell &1 Fdes 98 doF © -

(A) ofR=F ¢ Twel &t (B) 3R <1 Sfasy
(C) @rer ud T[afer (D) 74 & P ol
Management is the development of men and not the direction of things statement is of —
(A) Lawrence A Appley (B) R.C Davis
(C) Keith and Gublelline (D) None of these

18.9Rd & ya=y g—

(A) sTaea® (B) srTasge

(C) arfata (D) s & Big &
Management in India is —

(A) Necessary (B) Unnecessary

(C) Compulsory (D) None of these
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19.fayoe & 4R & |

(A) SET W) (B) o= W

(C) SuHTaRl W (D) g7 & | W
Marketing expenditure is a burden —

(A) On industry (B) On businessmen

(C) On Consumers (D) All of these

20.fI9v S[qEROT BT HEd o—

(A) TarsT & v (B) SusTaT & fofq

(C) S & forw (D) 391 ™1 & forg
Importance of marketing concept is for —

(A) Society (B) Consumer

(C) Producers (D) All of these

21,31 31T (fAs107) BT uwIfdd &_e dTel ged B—
(A) fqaor (B) Saure
(C) fa<i (D) &

The factors affecting product mix are —
(A) Marketing (B) Production
(C) Financial (D) All of these

221990 Yavg SAEROM BT ST el gll—

(A) ST (B) amRRapt

(C) w=a (D) 574 & ®1g =&l
Where is the birth place of marketing management —

(A) Japan (B) America

(C) India (D) None of these

23.mieT 8-

(A) & @™ (B) & @t fafarer

(C) 5= zorst (D) 2radRd & T 37T
Dividend is —

(A) Net profit (B) Appropriation profit

(C) Reserve Fund (D) Part of undistributed profit

245 8T e g—
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(A) SreaTel fax &1 (B) Srefmpret= far &t

(C) weamaprel fa<r &1 (D) | foder @t
Public deposit are the source of —

(A) Short finance (B) Long finance

(C) Medium term finance (D) Social investment

25.7c JINTd T ASdH ISeN’ & —

(A) Tt R =1 (B) \rft @mTa
(C) a7 &= (D) fo=mar

The best example of variable cost is -
(A) Interest of capital (B) Material cost
(C) Wealth Tax (D) Rent

26.9RASHT Jerdid- & Uge] 8—

(A) TBiIb! FedThT (B) fa<ira Heraien=1
(C) Yarerahig Herdich (D) &

Aspects of project evaluation is -
(A) Technical evaluation (B) Financial evaluation
(C) Managerial evaluation (D) All of these

27 .3MR&T & T BT A BRI o—

(A) FaTer= (B) B2reT gaeT
(C) 7w wifaa (D) 30 & BIg 2l
The primary cause of America prosperity is-

(A) Resources (B) Efficient management

(C) Man power (D) None of these
28.S1Rgw Uil &1 ATIAT B Bl T5—

(A) 1975 (B) 1992

(C) 1947 (D) 1957

In which the year risk capital foundation was established-
(A) 1975 (B) 1992
(C) 1947 (D) 1957

Multiple Choice Answer 1 To 28.
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(1) A
(2) D
(3) A
(4) A
(5) D
(6) B
(7) B

(8) D (15) D (22) B
(9) C (16) C (23) B
(10) A (17) A (24) C
(11) C (18) A (25) B
(12) B (19) C (26) D
(13) A (20) D (27) B
(14) D (21) A (28) A

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k %k %k %k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3%k >k %k %k %k %k %k %k 3k %k %k %k %k k

“ wug—|| (UNIT-I) ||

g ST ueH (Short Type Question)

e — JBT 98 9N oY S U Y T 2| wRier § 9! dve 8 U ¥ S SR |l

8 Ul & SR AT JMfard BN | U U3 I 3 bl BN | MR Tlelm & o1y g avg 9 Ui &
IR T T I 3H U B D |

(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answers to all 8 questions are compulsory. Each carries 3
marks)

1.

IR T Ppad 287

What is an opportunity?

JTHR BT 31 gaa uRRARRT § FIRT ¥ o™ IS © | {Y Afdd $H USAMH SHA o™
3T o © Sidih 3 ™ A8l SOl UK | 3fa¥R ¥ AT 78l 8IaT | I8 §o faar & oy afman
2R = ST © | ST JrET ATl sawR | Wi T8 BT U8 g9 fad & fog ondr ®
R T ST B | ST AR DI FHEART W fTaR oxe T SEURT 1dl AR & Jd w9
ad B

An opportunity means to take advantage in the present circumstances co-incidently.
Some people identity it and take benefit where as other could not take benefit of it.
The Opportunity does not has stability, it comes for some days only and then it goes
away. The entrepreneur start, industry or business after thinking about the
possibilities.

. SUBH DI WU § N BT 7 I 2 |

What does the strategies mean in setting up of an enterprise?

JTR— UM B AT DI WIDHRA 8 et dieed Ud i A0 &1 HAF & fb IOl 9
g g e ol 2, 98 9= ' © R W a8 Ferdl € e U8 98 oy @ e gwr a8
AHAT & UH FAf¥Ed wWR W ygad g
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Bill Bolton and John Thompson say, “What does the strategies mean in setting up of
an enterprise” after accepting the importance of strategies that strategies are those
which are performed by the enterprise. It is the same path on which they run it is
that decision by which they reach up to the definite level of the success.

. BUS YdIg AT 87

What is Fund flow?

IR dce Thrsve—d (ICA) | < 39 9 UbR uR¥Ivd fear 5— ~ faxig Refa 7 gy
aRad=t &7 faaxor ve AfRed afr @ fad Rufa # gy uRdat &1 ARt g & St o=
Al BiaT & b IaaifRie d¥en gr1 fod Sdi @& oIy urd by dr o1l &1 93 fod
UeR foar mar|”

Indian chartered accountants institute defined it, “The statement of the changes
took place in the financial position is the summary of the changes happened during
a certain period where in it is include of which is sources and how these funds were
used that the commercial institution has acquired the funds.”

. AT STRGIRIE &7 87
What is Social Responsibility?

HUSS AT S & AJAR * AHINIG IR & b g8 fIeawd 81 fb gl & S(f¥dR
T gEIfRd f2d 7 T |

The social responsibility is the personal responsibility of every person working in his
own interest that he become sure that there may be no cash between rights and
legal interest of others.

. "AUUE SrguRYT BT ATgEIRG AT fFATHE w9 B AuvH ydy ® 17 U8 U fhadr §oden
SABT RAT I 287

“Marketing management is the marketing concept in action.” Who said this, what
does he meant?

I FHU faferas Slo woed &1 2| $9a JIJAR fAuue faaR & |7 Ry d W™ 3—

(1) ST @1 A AT iR fharwen Ied Adfic 8 dem (2) darue f[Aea wv-l &1 ded
Bl 39 UPR S9 &I oedl & Ui B SO S dlel G8IRe Had AT fhd S drel
foharamemdr &1 € e fHar St € |

This statement is of William J. Stanton., according to him there are two basic pillars
of marketing concept-
1. The planning policies and activities of the company should be satisfaction
of the customers and
2. The profitable selling should be objective of the company. Thus, the
practical steps or activities taken for achieving these two objectives are
included in marketing management.
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6. Sl Yol & a1 faeryany ford |
Write two characteristics of venture capital.
(1) I8 el AGT BT AAR H I HTHT SART SIRGH | R BIAT 8, qAT Aholdl D
3AER AH B & Hifh Ig o AT 0P Yo B I DA W oIdh? Ied SlIRgH MR 3=
AT URATSHT BT ST HRATT ¢ |
(2) SEEt Uoft AT gRT 99 Soa ddAia! et # fhar Sirar @ Rrad daeiiel &1 9ART 81T '
IT A8 Th+Id TANT BB AU Il BT ITe il © |

1. The entry of a lone individual in business is replete with risk and various
challenges having wider scope of sources because it begins with a long thought
up to the planning of high profitability coupled with greater degree of risk and
the venture capital provides an opportunity to overcome all the debentures on
way to success.

2. Venture capital generally invested by the firms in the high technological areas
and by use of innovative technique, new kinds of merchandise are produced.

7. JorEar fREe @ g?
What do you meant by Quality control?
fpeft oY fomioll SRem & SRl @ ART 39 Sae # ART P @ R W B ® aen
UTEd! §RI 9 a%] DI T4l WIHR [HAT ST & Sdfe IS IR a%] H Fal A3 H fhe
faeme 81| safery fFe & e S fRivdrel | 8 RS9 R R Udh IdE ¥ Y 316
B g @I Sl v sy FEeT B ARy 6 oawgell @ few @1 MR ekd @wy
SUTFRITS BT T3 BT I &I I |

For any manufacturing unit, the demand of its quality which is accepted by the
consumers in the event of it being a quality product according to their expectations
and aspiration. Therefore, hence the quality refers to those characteristics on the
basis of which one product can be compared with its counter product. Therefore, it
is quite imperative for any manufacturer to keep in mind the aspirations of the
consumer”s while determining the quality of his product.
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|| gus—|lI (UNIT-III)I|

<re TN w2 (Long Answer Type Question)

freer — 8l 98d AR < IO g QY T 2| e H s aRE 3 U fdy o &R W 3 geel
@ IR AT AR BT | U U B 3 B BN | 3R GRIET H 3777 1 '8 ¥ Yol & IR
T TS 3fH U B A |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

8. I8 uRATSHT e Ug fSHior &1 SUe¥ &l guid BTy |

Describe essentials of good project planning or preparation.

(1)aRATSTT &1 AT aRquRe Td aemeiyef ATareli W SmenRa 8T @1y |

(2)em™uE AT & 3fa¥RT BT YdT oM & [y Fadr & (AR~ Usefall &1 el &Rl |

@)uRErST & fHior § aRASHT & AR Usqell Td fawgall R freerdyaes faar f&ar Sim
MR |

(4)aRATSTAT BT SFFA FATIA T2AT UG I [AReivor UR erRa 1 =12y |

(5)|meadT fddad TIR &3 & forg faxii, daeiia! gd anfiie ugesll UR T8+ 3fega ud faweryo
o ST =Ry |

(6)uRaTSTT foaior # daeiiat faei"si srfadrell Sures fodisrst vd sienfie sifaael &1 fa9'T
®Y W HAEART BFT AT |

A good project is always implicit of some essentials in the absence of which a
successful completion of if is not possible. The main essentials are:-
1. A project planning should be based on logical and realistic factors.
2. Various aspects in relation to the project must be meticulously analysised.
3. An objective contemplation should be done with regard to all aspects of the
project.
4. The project estimate should be based on probable information’s and their scientific
analysis.
5. While planning for a project every technical, economical aspect should be carefully
studies and analysed.
6. In the context of project planning consultation with technical expert economist
product experts and industrial entrepreneur is also essentials.

9. GRS Jedid ®IT &7

What is project Appraisal?

S gRATST FeuTT & gRT @IS fI9R S U9 amerdd Udid 81T 2, ar R SHd Jeidd
@ A= sreRerell ¥ FaAR [oRAl Usdl B e sid uRder & onfdfe foxim wd
THAID! e F IR 81 DI Sird UG BT Il 2, 3R B IFqH Yol &1 AFRRT B Sran
g o aRasET § AR o S9EET &1 Hradyde SUART fBa1 S iR fAfFReH
ISl W Sfd g Ut 81 VAT O B8R Safd el )T gge Ud aMGRId IR BT gA1a
far S| 39 UBR uRAS Jedidhd W MR fHAl uRarer & anfdfe vd fxig ewar,
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USIdHII Hal Td -t dl arforedd ARgdm T uiRen favever ud qedrdd R 9 2|
99 v STl gRT URAIfad e URATSHT &) ATl Tholdl & Fr+e § o7 o g,
AT URIAISHT B ABHIAT UG AMGRIGAT BT Hedidh- BT & |

In similar terms, project appraisal is an analysis of cost and profit of any proposed
project. Its objective is to select the best of the available alternatives so as the
projected goals could be conveniently realised. There are limited financial sources
with an entrepreneur where as there are several alternatives plans and projects on
his mind, “high dreams with limited budget and he has to opt one of the best
available alternatives. To facilitilate his so called “selection” he takes into
consideration the basis of project appraisal. In the large context, “a detailed
evaluation of the project to determine the technical feasibility, economic necessity,
financial variability of the project and managerial competence required for its
successful operation.” It is a technique by which the decision by an entrepreneur is
to be taken for strengthening his project for making it a great success to him dream
project.

Or, it is a way to assess the desirability of the project profitability, competence by
taking into consideration,, various techniques, financial, economical ,
communicational and management aspect.

10.F9aR & Ui STRaRIE &1 fadg=r feRig |
Describe Responsibility towards employee.
BIs |l IEUNT— AR ITH Dbl ! el Fhdl | I8 SHBT @RI B Fhdl ©, e § Aol
g, U9gd B AHdl T, [y $9d GAe $I OFHER] 396 HHAINRAT & IWR 81 B8Rl & A<
HHEARAl & J 98IgR AN B 2| e ged Aaiie Ihadt Bl ST/ dSs Sidl ol
FHAT & | T Fherdl Bl doil [0 HHARAT & 81 H 8 AR A2l 59 UfT U STyl &t
& T T A1 §9B IS BT BeddT I | B S Foball € | 39 <1 & fyarg § e
DI AT BMMRY b HHART U /TSI I T V& |
(1) P¥EART U A1 H G T |
(2) FHAY B Sfad 9a9 aRenfie Ao @Ry |
(3) v & gve Ud B B TN b & |
(4) T T WR UdTEd Aol e ARy |
)
)

o
g

(5) 5= Sfua sradrer e =@nfRy |
(6) AT ¥ IR Ud YRI=Tdl T faHR AT anay |

No business/industry can be run solely by an entrepreneur., though he can be

commander, a director, a leader or a manager, yet the responsibility of business

operation always rests with the company’s employee. Only the employees who are

satisfied the brave and gallant soldiers with the help of whom, the battle for the success

of business can be fought and won. As such the key of success lies in their hands and

the entrepreneur if turn indifferent or careless towards them, what would be the result
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in future can be well anticipated. In this context, it is important for an entrepreneur to
be considerate in following manner with regards to his responsibility towards
employees:-

1. Employee’s satisfaction with the employer.

2. Employees must be sufficient and adequately remunerated.

3. Working hours and working conditions must be appropriate.

4. From time to time, there should be a provision of encourageing allowance.

5. Adequate facilities for leave.

6. Stability or job security, promotional opportunity should be there.

11.ReRr vd gRITTINS ARTAl H IR T &N |
Differentiate between fixed cost and variable cost.
(1) ReR AFTa— HREM & 98 Wd Sl ST & AT Fal, 8 eI &1, S W SR
ATTd B8l SITdT 8 | Siki— Hac! & fhran, fastell Ya—@rd @4 3nfe |
IRATTENA AN — 98 Wd Ol SdEd g8 ¥ ¥¢ R "ed ¥ U gRIdHIN BRETHT
AN HEAR & | O — &9, se+, e, onfe |

NerR mert gRdaeier |

(1)%“ & ReR wmrl W fopd S (1) Scures & uRdaeiier el W fhd S
J qrel Tl B GRITTMNA AR FEd 2 |

o fﬁq?gﬁj'gﬁ;ﬂﬂi % (2) uRdaTeNeT TR SeUTeT B HIAT B TS
- ggﬁzﬁwawasgﬁaﬁ%ﬁw%

(3) ¥ SATGT g% BX 37 R YA |

(3) jl;ﬂﬁ“ﬁﬁfﬁf?m T E W ) () TP B T4 T SeAE ST T B, o
(4) BH Rer @FTal &1 B STy @ B 54 Tl &

frad srawa fiyer |

S SR v T E uRaciefiel ARTdT & STERUT—

ReR @FTdl & SETERUT— '
(i) PREFT & 9a=1 &7 BT (') Pl AT DI AT
(i) gcger 59 g

(ii) ga=&rh hT I+

1. Fixed cost :- The expending to be encurred in case of production or no
production, can be called as fixed cost.

2. Variable cost :- Variable cost is that expenditure which increase or
decresses according to the production is known as variable cost.

Fixed Cost Variable Cost
1. Expensesincurred an fixed Expenses incurred on variable sources
sources of production are of production are called variable cost.

called fixed cost

2. It has no relation with volume | It varies according to changes in
of production. production.

3. Fixed cost can not be zero even | It becomes zero after closing
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of the time of no production

production.

A firm can continue production
after bearing the loss of fixed
cost

i. Rent of factory building.

ii. Salary of managers.

A firm continues its production till it
receives revenue equal to variable cost.
Example of variable cost:-

i. Cost of raw material.

ii. Direct labour expenses.
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ug (Section) -1
le

g ued (Objecti

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

gug (Section) -2
IR—aRIfTs U (Non-Objecti\le)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03( A& 6 3(P)

|| gus—1 (Section-1) ||

MG —T8l R 950 IR IS U IR Afed [ T § | wWielm 3 3l a8 b 28 U 3y AT
3R 3MudI T 28 TeHAl & IR OMR SHEET WR <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

g~ u2= (Objective Type Questio‘b)

29.fF H W PIF—T NI 91 BT dd B |

(A) FHsT DI o (B) uRdad =) TR
(C) FauRdsT R ToR (D) Sugaa &+l
Which of the following is a element of sensing the opportunities. —
(A) Ability to Perceive (B) Insight into the change
(C) Innovation (D All of these

30.uRATSHT U= AT -8l BIeT g—
(A) ypTafoRs U=dTd | (B) wsapa Hifr FeriRor 4
(C) Re=iigd Fraaa 4 (D) fAa=irapa <ifer fReriRor |
Project management is not concerned with —
(A) Functional Approach (B) Centralised policy formulation
(C) Decentralised Implementation (D) Decentralised policy formulation
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31. 9RO SrfaRe g—

(A) AMTSTaTS JeferaRer (B) UsTrardl srefeqawer
(C) fAf3ra srefarazen (D) 37 & |1

Indian Economy is —
(A) Social Economy (B) Capitalist Economy
(C) Mixed Economy (D) All of these

32. 91T 6T 3MfABR U f2d BT GRev Serfl b ———IaRelIed a—

(A) e (B) fa=irar
(C) \ar T (D) 395 & ®Is &I
Protection of right and Interest of people is a ----- responsible of entrepreneurs.-
(A) Legal (B) Financial
(C) Social (D) None of these
33.a7fefe Nfodt ———— FeiRa &t 58—
(A) TTETT DY A= (B) TqE™d BT <M
(C) =gaara @ faem wd #mn (D) 378 & P &l
Economic Policies determine —
(A) Volume of business (B) Direction of business
(C) Direction of business (D) None of these
34, F9Te U B
(A) oI geer ST (B) fAsaret Srgurd
(C) =lerT ewar rguTd (D) SWa & ¥ By &I
Operation Ratio is :-
(A) Profitability Ratio (B) Activity Ratio
(C) Solvency Ratiio (D) None of these
35.31e] wHfa # wnfie e 8-
(A) <fh (B) TeR
(C) PR (D) 574 & ®1g 7Tl
The term “Current Assets” close not include:-
(A) Stock (B) Debtors
(C) Car (D) None of these

36.fF=feRad 7aT # 9 {59 =re] IIGUTT @1 TOMT H &9 H 8! T SiTdl—
(A) TTeR (B) &TeR
(C) wier (D) ¥& srfrfae
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Which of the following items is not taken into consideration while current Ratio:-
(A) Craditors (B) Debtors
(C) Furniture (D) Bank overdraft

37.3af@dr e dRIGH U Hidl o—

(A) SRIoTTRY (B) ISR
(C) FsTER (D) ATt
Entrepreneurial development programme provider —
(A) Unemployment (B) Employment
(C) Corruption (D) Dishonesty
38.9Rd # SAMAT HRIGH & 8—
(A) 9wt (B) ara®mat
(C) GuR I Araggehdr (D) &
In Indian entrepreneurial development programme has been:-
(A) Successful (B) Unsuccessful
(C) Need of Improvement (D) All of these

39.3afHdT faar HRIGA & UfT IRA & IRENI T3 BT GREDHT g—
(A) ATIHD (B) TDhTHD
(C) =TS D ESEINIRED

The attitude of Indian Government machinery towards entrepreneurial development
programme is :-

(A) Destructive (B) Negative

(C) Constructive (D) Non co-operative
40.<TRg" R 28—

(A) f¥=aar CYEIRIEEEEI

(C) SWRIad g (D) SWRIad # | PIg el

Risk is the result of:-
(A) Certainties (B) Uncertainties
(C) Both of above (D) None of these

41.ga1i¥ye SRIH & BRI I~ Aol BId—
(A) TR Aifa # aRda= (B) 3reT Ua=r
(C) 939 FHHArN (D) UTeR W

Risk is the result of —
(A) Changes in government policy (B) good Management
(C) Employee Dishonesty (D) Power failure
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42 . FHARY BT 391 b avE BT Iaad Sikaq & —

(A) T (B) wrepferen
(C) amfdien (D) axerY e
Dishonesty of employee is the type of cause business risk —

(A) Human (B) Natural

(C) Economic (D) Govt. Type

43,9990 & —

(A) vFo® (B) 3maea®
(OEEIEERED (D) @¥ g @ §qidl

Co —ordination is-

(A) Voluntary (B) Necessary

(C) Unnecessary (D) Wastage of time
A4 e Renfod fhar Sirem 82—

(A) ST & e (B) favm i @& wem

(C) ydg TG FHHAIRAT & A (D) W |1 & Wy

Co —ordination is established —
(A) Between Group (B) Between Department
(C) Between management and workers (D) All of the above

A5.99% &1 URHfT T —
(A) ST Ufer T & w9 H (B) arfSta ufewr @& w9 #
(C) ST=oTTe qerr 31T uferdr & wg # (D) 378 & P =l

The Nature of Management is—
(A) As an inborn ability (B) As an acquired ability
(C) As Indian ability and as an acquired ability (D) None of these

46.9 $T IR o—

(A) =g (B) HreA

(C) zerftemr (D) 74 & P ol
The essence of management is —

(A) Co- ordination (B) Organisation

(C) Staffing (D) None of these

A7 RIS TAT A & ER Yae & Ygd BRI 5—
(A) 5 (B) 4
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(C)3 (D) 2

According to “kontz” and “odonnell” the main functions —

(A) 5 (B) 4
(C) 2 (D) 2
A48.f ya & = B 5
(A) fo<ig o= (B) ®INT BT YT AT
(C) g& @™ @1 e (D) SR Wt

Main function of financial management are —
(A) Financial planning (B) Procurement fund
(C) Allocation of net profit (D) All of these

49 . uewr 23—
(A) BT (B) fasm=
(C) ett 3R fasm <= (D) 379 & P A&l

Financial management is —

(A) Art (B) Science

(C) Art and Science (D) None of these
50.950 e # affera 28—

(A) afer Ysft (B) S¥aT & ST

(C) s sHfa (D) 395 & ®Is &I

Capital structure includes is —
(A) Share capital (B) Deposit for public
(C) Current Assets (D) None of these

51.B=arsfoiT & 3f=id—
(A) SE R I3 BargoR & U
(B) STE WR fRIFU BeaigsoR & BT H
(C) 3wt T
(D) 57 ¥ @Ig =&l

Under Franchising —
(A) Control of the product remains in the hands of franchisor
(B) Control of the product goes in the hands of franchisor
(C) Both above
(D) None of these
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52.31e dUe @ faemang g—
(A) et T
(C) sy ®

(B) wRoi
(D) 3 =+

The characteristics of a good brand are —

(A) Short Nane
(C) Attractive

(B) Memorable
(D) All of the above

53.f7%% # 9 B9 U HH B A< faavor &1 vrT T8 2—

(A) &4 BT+ @ran
(C) oioR &

(B) s fRrgr
(D) 579 & BIg &l

Which of the following is not a part of financial statement of a company —

(A) Profit and Loss Account
(C) Ledger Account

54.f<fra faaxor Bt 8—
(A) yTlRig dea

(C) rgarfia qe

Financial Statement are -
(A) Anticipated facts
(C) Estimated facts

55.fa5I09 BT ST B
(A) F=Tfad Bl &I MdNa BT

(C) STUIET &I TR &Rl

The purpose of advertising is -
(A) The attract potential buyers
(C) Advertising of the product

56.30dT H Fauydad &I &A1 BT 3T 28—

(A) U I SUTE BT URY
(C) Swem =t

(B) Balance Sheet
(D) None of these

(B) srfieiRad ey
(D) 579 & ®1g =Tl

(B) Record facts
(D) None of these

(B) U8l &I JiAd Ud ANIGRA HRAT
(D) 3 wf

(B) The inform & guide customers
(D) All of these

(B) Saure @1 =3 fafr &1 uanT
(D) s & ®1g 7Tl

The process of innovation in entrepreneurship means-
(A) Introduction of a new product (B) Use of a new method of production

(C) Both above

(D) None of these
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Multiple Choice Answer 1 To 28.

(1) D (8) C (15) B (22)
(2) D (9) B (16) D (23)
(3) C (10) A (17) C (24)
(4) C (11) C (18) A (25)
(5) C (12) A (19) A (26)
(6) A (13) D (20) D (27)
(7) C (14) C (21) C (28)

%k 3k 3k 3k 3k 3k %k >k >k 3k 3k 5k 3k %k >k ok 5k %k %k >k >k 5k 5%k >k %k %k >k %k 3k 3%k %k %k >k %k %k *k %k %k k
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“ wug—Il (UNIT-11) “

g I e (Short Type Question)

e — J8f 989 AR g ITRIY UL & T 7| wer H s avE 8 U Q¥ S SR |
8 Ul & SR AT Ifard BT | e U <9 3fd BT BRI | SFIR URIET H 39 ¥ TR | U b
IR T T I 3fd U B D |
(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answers to all 8 questions are compulsory. Each carries 3

marks)

1. Feafa @ g?

What is the price policy?

IR— Uh [AHMee Faar BI 0l o I BT FHI—FFI W JAIdHA D 8T =My |
T o B fore dwd RuRer &1 dew Sfaa & iR ff Sel @ sMe Tedl o ufdgfeal
o1 FeIfad ufafear denfae e ares ufafear arfoie ded, SUMTadr 3Mdhree wrdl faard
e R e w9 ¥ IR ax)a & U IdEl b1 o FeiRa w1 =1f3e | e w4 @l
o H @Ad ufdsT a0 B 7| Faa & e 19 faR & | 98 gfia T8 g
ALY | e Bl IR—PHd Ufagl W A &I <1 =1fey |

In a seccessful enterprise the pricing policy must be open to appraisal from time to
time. While pricing for profit is justifiable, even then an cntreneur has to take into
account several factors before determining the prices, like possible reaction of the
competitors legal limitations consumers reaction social objective the consumers
aspiraction and probable development etc. Every firm is known for its price reupted
this should not get adversely affected on account of growth and development. An
entrepreneur is supposed to think in terms of non price competition.

2. fqc=or Areg| @ 2
What is distribution process?
HE I3 BT IWUEH AT & 9aT 21 2. afed I= Afad Iuaareli da ggamr 1 arfyard
2| gl B ifvaw SuHiadlt a6 ugam @ fory S sierar fmtar Re—faf ger Aeet
S i TUNI, Beh) ATIRI WD NS B Hag oidl &, o (R0l & HARIH HEl Sl
=

Only producing the goods is not sufficient but it is coupulsory to reach them to the
last consumers. The service of the various kinds of mediators such as whole saler,
retailer, agents taken by the procuder or manufacturer for making the things to
reach last consumers are called channels of distribution.

3. G9-—fI=gg favemer @i raedd o?
Why is Break-even analysis essential.

71



oz favermor &1 qadie o oM & FEee d fRiEe § Jgee g 81 98 oM ud
NI & Wl §RY WU B4 H e Bl © | Aa-f9woe fdrg B S @ e
fIgall & wegd 9 W fBar S ¥adr &—
(1) =1 I5— I [ATelvoT Udy & FHel BRI BT e Ud Bl & |
() SIRg" AeaidT—IRIT & Jedidd § wH-—fIewe favemor S Swarh g 8T 81 98 &y
i, Tell B, faea fasor anfe el & S & 989 9@ did 81T 2|
(3)T—guR:—qH—fdesT fd=g Ud & AIAT § S1UTd BI UM $9 ARyl & SRR Gl
S 2| RS SR TR o™ &I JHIfId $HRA dTel BRI & SIFGRT U & Sffell § |

Break-even analysis is a technique which is helpful in planning and control of profit. It
is helpful in making a relation between profit and cost. Following are some points
which clarify the utility of break-even point.

(1) Diagnostic tool:-It present diagnosis of reasons before analysis management.

(2) Risk Evaluation:- Break-even analysis proves very useful in the evaluation of risk
assessment. It is very helpful regarding the decision of order acceptance shift-work,
sale mixture, purchase and make etc.

(3) Profit Improvement :- The break-even point and profit volume ratio are calculated
under break-even analysis and the improvement of the profit is obtained on its
basis.

4, IR AT ¥ 3MY T AASTT B2
What do you understand by Human Resoures?

o1 W gared faemE €, |l [ty 81 &1 g2 AFd ddE €1 iRl a9 & | Sr:
AT FAEE Uh A% AARE BT § | S T SUGH &1 el WUl S 1A el
g, =g srbel Wl B WY TE B Fhd1| g9 (U Y A G R iR I8 8
gedl & | SUBH T & folU 3 HHARAT B Il Bldl & | SHD HHAMRAT HT Bs A0l
H B Ud MIIHATIR dCaRl S9a] AFIAgaR Fgfad @ SRl & | 3fd: A d \E9eE &
A YT, IR YD qhAD! A NG T T8 & HHAN M & | a1 anjfead
ATE & a1 UToide Ahe Tl 8 FahdT 2 |

All the available resources are of little use mobilised by the human resources. As
such, human resources is the most operative and active one. An entreprenure of
course is the captain of his project but can not perform each activity by himself. He
has to depend on other human resources. Many workers are needed for operating
project. For this various categories of employees are recruited as per requirement
on the basis of their abilities and qualification etc. Therefore human resources are
comprised of manpowers technicians, skilled and non skilled employee. With their
joint endeavour and co-ordenation a project canot be successful.

5. BeaTgionT 9T B ?
What is Franchising?
GeaTSioT @ ST SeMl Q¥ & A= W # 37U 1f¥gd fddar 981d o <dr 8, Sl Sad
ST DI I9 BT BT HAT © | MG [daa & FA1d H ITH DI A &1 DI ML hd
gl 2 R TToad fdaar o aftres & & foy Jo S H e &nfe &1 §8RT daw
I BT IR H g BRIl ¢ |
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TR TG H BRRIT Udh YBR & SHhaRl ol 2 e <iid Yo Hed? ATIRI

U ST & A1 U IHsiaT &ral § fb Scuied & Al 1dl Hdell @ faey e fAfded
PRI 31AT HHIYEH B I8l B BT ABR FIudT 2 |

As per franchising strategy an entrepreneur establishes his sales force in different
part of the country who does the job of selling. Yes the entrepreneur is required to
be cautious in the selection of the sales person because an unbecoming salesman
with an aim to earn more profit can exploit the situation by means of adult rating
the product can give a bad name to the entrepreneur.

In the simple terms, franchising is a sort of contract under which a franchise
makes an agreement with a franchiser for the sales of services or the merchandise,
the franchiser entiles the franchise with the right by charging a certain fee or
commission.

. focll R werct T 8 ?

What is Discounting of Bills?

fell R ®ER & ®U A §F R0 <7 @ AT | aRugadr @y o st @ afd, e & afdr
J U PR oIdl & 3R 59 UbR 9 &) weldl § ¥ Y 99 Sl 8, I9h] R0 & wq § YEh
BT < f3ar ST ® 3R uRugadt R §& uTEd | 9 R U AR ol 2|

In form of discounting of bills the banks from the date of extending loan to the
date of maturity, deduct the amount of interest from the amount of the bill and
whatever the amount is left is given to the customer in the form of a loan and till
the date of maturity, the bank receives its total amount.

. TIolde Y 9E-D T ?

How are the projects helpful?

Uroide & SR fAenedf o Jgi~ae IHeRT &) adfdd I Ead 89 BT AleT Hoar & g
faemeft &1 I8 SFE @1 Hier Baar g e araaffe sy vy 7 rys dRd 9Hd ol
RIgT S=F U ¥ arad ®§ 9 I9dT {6 A9 d% A SR 9hd § i dgifvad s Bl
ST9 ARG S W AT AT ®, 574 aRdfdedl ®f gdl gerdl § | 9@l aeay I8 Je) (b
Agif~dd 9 & MaIhHar & &l & ddol dRafdd o & T g | U0 81 & Agii~ae o4
JAGEIRG S & 99T R 2 |

During the project the student happen to come closer to the reality of the
theoretical knowledge, or they get on apportunity that during the cource of their
study of the business subject wherein the the principles they have studied if
coupled with the pracital knowedge, then the truth is realised. It does not mean
that the therocital knowledge is required and only the practical knowledge is
enough. But it is not so that the theoritical knowledge without the practical one is
incomplete.
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|| gus—III (UNIT-111) ||

<re TN w2 (Long Answer Type Question)

e — I8l 98 IR <" ST U A W g | wen H gl dRE 3 U Iy S &R | 3 Ul
@ IR AT AR BT | U U B b B BN | 3R GRIeT H 3777 1 '8 ¥ Yol & IR
T TS 3AH UT B A |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

8. T yalgA™ # |fAfeld dR®I &1 arem FHIRTY |
Discuss factors involved in demand forecasting
ART gaigae # FEfaRed RS 39 UHR 5

(1) qalgAe & vs— 32 e @t & ffre fasar Sram 2 |
(@) IreUBIT qargaTd — FAD! MAHAH A T (1) 9§ B Bl 2 |
() FeIBIe QAIIAT — SADI G 1 2 ¥ Bl © RTHH T & Fared  difefdl Ud
T B IW ored! a0 & R & foy Suge 2 |
(1) <rEBIAE qagHE — 9@ Iid 3 9 10 a9y dd Bl @ Yoind @, ¥ iy
JATILIHATY TAT WISl U fdbr & MER g &F & MR & oIy Suad FHsh Il & |

(2) YaTgAM & WR— I8 Ul fgaRell & ARG a9 AT Bldr & off fb siifie
IATEH Td TSR T & 9 & wqfa Fdene grT #ifid g 2

(@) geA R Yarga— I8 ol efeaeen @ @Ewide wdal | Hded gar g ool fé
e SaTed Td I - & wfd fAdeie gRT Al 2 |
() BH WY YaigAr —giedlv | Ja9 J8cdqol 8idl & |
(T1) SERT TR YaigaH — s961 3707 =1 R el gy far S 2 |

(3) S BT TAPRU— IUGT DI IAGA IRIQ Td IUAIHRTT aegall & w9 H aifidpd Al

3faIH BT B |

(4) W= Ud faRre gargAr—

(5) gaigA™ @1 FRRIG U9 fARR— yaigae & gaei ud ARl 9 Skl & 9wy ¥
QR4 SedTal & FHRRIl vd faferai & =1 gri |

The following factors are attributed to demand forecasting :-

(1) Length of Forecasting:- It is further spilt into the following sub factors:-

(a) Term forecasting:- The maximum span in short term forecsting is 12 month
which is considered adequate for determining the sales Volume inventory
control production level and the capital flow etc.

(b) Medium term forecasting:- The span in this regard range from 1 to 2 years for
ensuring disciple level operational level and the budgetary control over the
expenditure etc.

(c) Long term forecsting:- This term forecasting vary from 3 to 10 years are
considered to be aquate for capital investment expenditure employment
requeirement financial needs etc.

(2) Level of Forecsting:-
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(a) Micro level forecasting: - It is related to all the business conditions in the
economic management which is strictly in accordance with the determined
standards of industry production, national income & expenditure.

(b) Industry level forecasting:- It is determined and established by various
federation.

Classification of Products:- It is essential to classify the products as the productive

and consumerable items.

General or specific forecasting :-

Problem and method of forecast:- Problem and method of forecasting are different

in case of old and new products.

9. JUrT fAzeiyor &1 AR W YHTel STef |

Discuss the limition of Ratio Analysis.

argura fazeryor W @1 faxia Refd vd ggear @ welRid o # e we@yel 8 2|

g ol fo ffeaRaa a—

(1) T aRemE— Jrgud faci faerell R meanRa 8 & | 3l foxig faarol & sifwsr gg a1

g 1 99 W AmRa argurd W Ted B8R | e ey @ WU H Merer T aRErer | Ted

BT | oAt Ugfa # fl eFa SRl @md 7, o 89 WR miRa rgurd Wt favawdia T8 &1

A |

(2) WA YA eTeaTdell BT 39— BB Ul & AT 3T 3 Bl &, O BB BH oA Pl

TS & gd Td PR B 918 ol & TAT HY BH o B 1o Ud IR & 91§ ol 2 | §Y BH b

ey @1 =re] R A € A {8 IR ATel, IR A ¢ |

(3) TIUICHD USRI DI faRel— MU ATVl FaH & fT1G o1 URAVMHD AU 2 | I8

BH & TUIHAS U8 B 3fageldl Bl & Ol b T HRAT © 1 AU AT B BIRIEH

BT TP YETT SJALROT ¥ |

(4) TP Ueg @URI— U fAvelvor va wefia faveryor 7 | g ol 2q omavass & &t

T 3 SUARS BRI & | A [T fJarol &1 Gew fagetvor 8q Igurd &1 AT fageivor &1

T ARt & ey far S =nfev |

(5) Tdel AU P WG TIRT— Ul U AAY0T a1 I« § [ed &l BId1 2| o1 Ud

fed Refd &1 wwsm & forg 9ga 9§ S/ ural &1 TOMT &1 awadhdr gl = | fafde srgardr

B ToET A AT 9 @ adar g |

(6) AT Jerirad— <1 BT & GRUTHI & T BT Sl Fahell © feg I8 O T99G & 919 gHT

HHT H UYdd oldThd AR U BT | Jfa d STl —3felT ok fAffl &1 WANT &_al 8 df

SAP] JAIHD IFEAT AT Bl B Fbdll | S UHR JrAeRAl BT UANT, Giaernsii B Iueterdr

T HaeE R W A wEl @ o faRon @ wafad axa ¥ O wAT & srumar @

eI 9THES BT |

Ratio analysis plays a crucial role in exhibiting the financial status and strength of

an organisation. Although the ratio analysis is a potent tool for the management

yet flawed with certain limitations which are follow:-

(1) False Results:- Ratio are based on financial details if the statistics and figures
contained in the details are not true and exact so are the ratio based on them.
Which lead to the wrong inferences.

(2) Lack of Staudard Universally Accepted terminology :- Different words have
different meanings as several companies consider profits prior to taxation and

some consider profit after deducting interests and taxes.
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(3) Ignoring Qualitative factors:- Ratio analysis is a parameter or measuring yard
stick for a business execution. It tries to qualitative factors and tends to explain
the ratio is a measurding device to see the operational efficeinay of a venture.

(4) One sided analysis:- Ratio analysis is a one sided phenomenon which provides
only one aspect of the desired information. Therefore the micro analysis of the
financial statements must be coupled with others analytical processes by
expolting the ratio factors.

(5) A single product ratio is indadequate in provding a meaning ful information and
in order to understand any exat position a multidimensional analysis of ratios is
needed .

(6) Limited Comparatability:- The result of two organisations are comparable but it
is possible only when the accouting procedures a comparative study is not
feasible.

10.f0vM & STl W UHTeT Sifery | A7 AU vee & St by ford |

Discuss the objection of marketing.
Or

Discuss the objective of marketing management.

AU gaee &1 Jeqd IeeT IR H IATE DI AN I~ BRAT UG YTShT DI ATaIBIRAT Dl

gt BT B | 39 T BT A H @ gV YO yee &y Sevg e € |

(1) AR BT GoTd HRAT— AU Y BT Yo Ud Hewaqol Ieed IR § IATE dI ART a1

AT B | I8 BRI IuHIGaiet & Ui Af yeR & Jad aifta o=, fasmoe vd ey e

@ SURN & HIEIH W T fhar ST § |

(2) SUMIET Hgfte— fAUUH Uay &1 GERT He@yul Se¥ SUMIErel Bl Ifftdhdd A<t Ua

HIAT T VAT IR & oy fAUUE g IuHIaell &1 aeadhdrsll & AR & Sded

TG BT TG BT & 3R SHBT fITRT R 2 |

(3) IR RN — fJuoH Yawel &1 -1 Aeayul S d1oTR H 30+l ZRIaR] 991 3@

Td IHH ghg BRAT & | SQERV B fy, Uil qAT dIdbrdlar Sl GHEl ok H Ul

RN o @ Ud S9H gfg IR @ foly WRER UfRifar axdl 71 s9a forw fasie

P! Fag= doar USRI anfe & T T d¥d U B |

(4) ¥R wd SHBfd— fAUoE U &1 AlT 9EFY0l SR dI6TR H 30 BRIl dUT IS G

D @A Ud Seld QB &A1 & I8 BRI UT8d] &I Ifd Jedl IR JAT FHI W Td 3]

Ul IUTE YRS BRIPR YTEhl H (0 U3 q1hx fhal ST © | S — CTel, d1el, MexI

e |

(5) o Ford — @ de [Aea H yger ey 7 | M frae offdes 9@t gnfl, o a1 |/

Al Ia & s BRMY | erud uevee @l @ 9fg @1 'R Wva gaE aRar B afe B

ARG SHTS TATT o™ AT &1 el & dF iR # feds 181 ol 7 |

(6) THIST HAT— AR FHIST BT T T | (AT AHINVG IaReNId S 91 B8R | 9

foU amaegd & 6 98 SfEa oM Afid & | Ao SARGIRd AR IuHER & Ui,

HHAIRIT & U, Td IRBR B Ufer Bl 2 |

The fundamental objective of marketing management into generate the demand

of merchandise and cater to the customers requirements with this objectives in

mind following are important objects.

(1) Creation of Demand:- It is the first foremost objective of marketing
management to creat demand of a product with market. This objective
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becomes achievable through the service to the customers adverting and sales
strategies etc.

(2) Customer satisfaction:- The second most task of the marketing management is
to provide the optimum satisfaction to the customers. For doing so, a
meticulous study and survey is conducted to ascertain their needs.

(3) Market Share:- It is the third most important task for the marketing
management to retain its share in the market and to ensure its growth.

(4) Goodwill and public Image:- The fourth task into established the goodwill and
credibility of its company in the market. This task can be accomplished by
providing the customers with the products at reasonable prices by maintaining
the standards so to gain credibility of the product among the consumers like
Tata, Bata, etc.

(5) Profit Generation:- Direct relation is found between sale and profit. Generally
more is the sale, more profit can be earned so manager makes every possible
attempt to increase sales. If any interprise does not earn adequate profit, it can
not remain in market for a longer period.

(6) Social Service: - Business is a an organ of society and it is the marketing
management that ensures this social obligation. Therefore it is important for it
to generate the maximum profit. The responsibility and obligation in business is
always directed towards society, customers employee share holders and the
Govt. etc.

11.9RATSHT & YHR T quid By |

Describe types of project.
& U9 UPHR 39 UK B |

(1) o g fawr gRAH— 519 e § Technological IRdds &<t ool 9 8IAT 81 S9H
oMY Ud e Hral § 997 A0 H €9 BT AT SREr uedr ©
(2) fafaefiemxor RIS~ Th SUBH ST U1 SIIRIH HH HRAT ATedl 8, Uh & doTR § 31U+
SATET BT 7 B A= IoIRT § AT B UR™ HR FdhdT ¢ |
(3) IR URASN— TS IUHH DI 30U IAMGT DI AN H IAd ghg BF qAT fUAT
IATEH &HAT & BROT AT IaTed &Hal H gig bl Us Al o | s fog afaRe goit
fafSmT &Y smazadar B 2|
(4) gfoRTUE URASHN— R FWiRl & T 8F A7 A48 ddbAld! & BROT I9d Tdierd ad
A SH URIRAYA BT MITIHAT Bl # |
(5) fafder aRISFN— TH SUGH BT SS9 gRISHRIT # AT &= & aeadhdr & Adhdl ¢ |
3T 391 VTS & forw Y aRATSHT &1 Jravadhdr 8 Al ¥ |

The important types of projects mentioned in the following points.

(1) Research and Development projects- Those traders are fast being intruded into
by technological innovation a lof of money is required to be invested on the
research and development programmes.

(2) Diversification project- Any project which wants to reduce its risks instead of
giving its product to the same market, can start its business in different

markets.
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(3)

(4)

(5)

Expansion projects- For any business organisation, when there is growing an
instence demand of its product resulting in short supply, it becomes quite
imperative increase its production capacity. As such an additional capital
investment is needed.

Replacement project- Such project refer to the events of ruining or destruction
of the capital assets, or the technological failure resulting into a statement,
there is a need of replacement project. As such in this event, the old machines
and equipments are required to be replaced with new one replacement
projects for establishing new infrastructure are induced in this project planning.
Miscellaneous Projects:- Such ventures that need to invest in those projects
which are not directly related to the earning of profits for example due to legal
obligations an organisation is required to instal the pollutions control
equipments. As such projects, it is the miscellaneous projects which are
required.

78



fer faemer wer 9fafa gen

qy 2017 BT Hisd U T3 Ud SINRHATA]

Sa#ar - (ENTREPRENEURSHIP)
{Commerce}
SET : 06

79



ug (Section) -1 ]

g ued (Objective)

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

gug (Section) -2
IR—a&gfTs u= (Non-Objective) ]

@ 3w (Total Marks) 42

g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

@us—1 (Section-1)

MG —T8l R 950 IR IS U IR Afed [ T § | wWielm 3 3l a8 b 28 U 3y AT
3R T | 28 UTHT @ SRk OMR SHEET WR <1 Sifard g1 | U e 1 3fd &1 81T |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each

question carries 1 mark.)

g~ ueq (Objective Type Question)

1. YRA ST & Ir-e | SUfddr 8

(A) sTaeg® (B) arreTd
(C) R (D) W 3R e &l qare
In relation to Indian industries entrepreneurship is
(A) Necessary (B) Unnecessary
(C) Burden (D) Wastage of time and money

2. 3 U9 WIS & 9R Ta¥ady & dd 2
(A) =R (B) =
(C) ®: (D) e

Elements of innovation according to E.S.Meed
(A) 4 (B) 2
80



(C) 6 (D) 8

3. f=faRad & 9 o9 O v onfde fhar =81 @

(A) I&GT BT IUTRH (B) Tl @1 R

(C) UereR war (D) \HST Sar
which of the following is not an economic activity

(A) Production of goods (B) Trade of goods

(C) Professional service (D) Social Service

4. 1 fHft fAfdgd fofa & gd omaRe damMl W &I <7 Sawad BT §
(A) & T 2 (B) &7 STe) &
(C) ey ST & for ST (D) s & ®Ig &

Is it necessary to give due consideration on internal resources before initiating a
particulars decision .
(A) Yes, it necessary (B) No,Not necessary
(C) Necessary for external resources (D) None of these

5. 9MIY® JdeR IEId el 8T

(A) SIeT Bg IRl b IdTeT o (B) 3Mfi® wuaeR &1 gRde
(C) \rHIiSTep aregar &1 gfcl (D) < arot ufshan
Social behavior is not concerned with
(A) Production of Public goods (B) Avoid of unethical behaviour
(C) Fulfilment of social obligations (D) Profit earning process

6. IIIT BT HEAT AIRT!

(A) <1 (B) smarTa wfi

(C) sma (D) =4 < BIS =&
Legacies should be treated as

(A) A liability (B) A Revenue Receipts

(C) Income (D) None of these

7. IR AURe T § AR 3 B IOhdr DI Hel Sl &
(A) @ (B) arferey
(C) =1 (D) @

In non-trading concerns organisation excess of expenditure over Income is called
(A) Profit (B) Surplus
(C) Loss (D) Deficit
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8. I JAIH & YIGUHI & =< Uh HH-1 AT B el
(A) Baet FHaT 37T (B) ael qaifrery siwr
(C) \war 3fer iR gaifrary afer (D) 95 | @18 &l

Under the provisions of companies Act,a company can issue
(A) Only equity shares (B) Only preference shares
(C) Preference shares and Equity shares (D) None of these

9. e 1 e Wity e B

(A) siferger o (B) forfforer o
(C) wfoler Goft (D) g gsit
Total amount of liabilities side includes the following
(A) Authorised capital (B) issued capital
(C) Suscribed capital (D) Paid up capital

10. F9dT IR B B

(A) IFER (B) =

(C) 791 & UEH (D) s & P o
Equity share holders are

(A) Creditors (B) owners

(C) Customers of the company (D) None of these

11. I5T WREBR Y ST BT IS <ol &

(A) S & YA R (B) Tdh-Ia! S WR
(C) uRasd w) (D) 37 |4l W
State government provide subsidy to small industries on
(A) Payment of Interest (B) On technical knowledge
(C) On transport (D) On all these

12. o=t § Q@ B anfe ey @) fasydm @
(A) FR=R gfdear (B) =R ufshar vg gfg
(C) amara gfaed (D) 9f&

which of the following is a characteristics of economic development
(A) Continuous Process (B) Continuous Process and Increase
(C) Import facilities (D) Increase
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13. SufAdr faerT dRI%H YS= HRdl &
(A) FERISTIR (B) TRISTTR,Reror dq yfdefor
(C) femeror Ja ufretor (D) ¥<rER

Entrepreneurial development programme provides

(A) Self-employee (B) Self-employment education and training
(C) Education and training (D) Corruption

14. v I
(A) S oiaT ® (B) 9mIT ST

(C) ST <11 & Ya 9«17 Sirar 8 (D) 74 & BI1g &l
An entrepreneur is

(A) Born (B) Made
(C) Both Born and made (D) None of these

15. aRd & e ey ¥ dge B

(A) AR ST (B) fadsfh Serh
(C) wrdg va fagemm e (D) 7% & &g &l
In Indian”s economics development is helpful-
(A) Indian entrepreneur (B) Foreign entrepreneur
(C) Indian and foreign (D) None of these

16. SEfar faerT dRiwd yr: Gifed By 9 2
(A) ©: F<E FErer (B) 4 9<TE 3afer
(C) 8w arafer (D) 10 9w @i

EDP should organized normally by
(A) 6 weeks duration (B) 4 weeks duration
(C) 8 weeks duration (D) 10 weeks duration

17. AT BT Se2T 8
(A) Jar Sew (B) & AT
(C) emfet (D) war ¥ & aH

Object of business is
(A) Service motto (B) Earning profit
(C) Charitable (D) Service and profit both

18. SIMAAT Y& & o&d A—
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(A) <o ¥Ho cuer
(C) fi=e Arms Il

The book Entrepreneur written by
(A) B.C. Tendon
(C) Pinchat Gifford IlI

19. 3BT fdehTd BT &
(A) SRl &7
(C) emwar &1

Modernisation Improves
(A) Products
(C) Capacity

20. U Ahel ST # 3G T[0T W ARy

(A) g =1
(C) TTavad+ @

(B) HArcs Sfas wH
(D) R IR qrafaq

(B) Mold David M.
(D) Maier and Balwin

(B) wishar &1
(D) siffmt @1

(B) Processess
(D) Workers

(B) =1 &1
(D) SwRIad

A successful entrepreneur must possess the quality of

(A) Leadership
(C) Innovation

21. U URATSHT FHfRyd =8 8l 8
(A) Tauda=
(C) <ifRes

A product is not concerned with
(A) Innovation
(C) Risk

22. 36 3G U & 3Tl ST &

(A) dReraT 3r7uTd
(C) fereurest argurd

Stock turnover ratio comes under-
(A) Liquidity Ratio
(C) Acidity Ratio

23. el =ref IrguTd @
(A) 2:1
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(B) Control
(D) All the above

(B) @eusr e
(D) gorTefrerar

(B) Vission
(D) Creativity

(B) oI yadr 3rgurd

(D) 7 & @1g T

(B) Profitability Ratio

(D) None of these

(B) 1:2



(C) 3:2 (D) 3:4

The Ideal current Ratio is ----
(A) 2:1 (B) 1:2
(C) 3:2 (D) 3:4

24. SIdT & QT SRV 919 ©
(A) e mad iR Fre] 3T (B) =me] 3ruTa 3R &adT U
(C) =mef JrguTa 3R 3id HIBOT Iafdy (D) =Ime] S uTd AT QSR e 3T

The two basic measures of liquidity are-
(A) Inventory turnover and current Ratio (B) Current Ratio and Liquid Ratio
(C) Current Ratio and Average collection period (D) Current Ratio and Debtors
turnover Ratio

25. gfergfa ™ &1 gt =8 81 daar
(A) I & @IS dfed @ forg
(B) \ewil ®T 9919 3 & e & forg
(C) 791 & URMIS Il & 3Yer@d & oIy
(D) o=l & IS @ 92 @ MUl & folg

Security Premium can not be applied
(A) For Paying dividend to members
(B) For issuing bonus shares to members
(C) For writing of Preliminary expenses of company
(D) For writing of discount on issue of debentures

26. qUTH w9 H Hel D RIMIAT g5 oAl
(A) 1988 (B) 1990
(C) 1992 (D) 1994

Legally SEBI was established in —

(A) 1988 (B) 1990
(C) 1992 (D) 1994

27. AR BT 4T BReT

(A) wwfed aromR (B) srfwrfed qoIR
(C) wrerfie aToTR (D) iYor gToTR
Creats liquidity
(A) organized market (B) unorganized market
(C) Primary market (D) Secondary market
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28. ¥dl &1 = BT B

(A) feeeh (B) g
(C) ®rerdhar (D) ==Ts
Head office of SEBI is in
(A) Delhi (B) Mumbai
(C) kolkata (D) Chennai
Multiple Choice Answer 1 To 28.
(1) A (8) C (15) C
(2) A (9) D (16) B
(3) D (10) B (17) D
(4) A (11) D (18) B
(5) D (12) B (19) C
(6) A (13) B (20) D
(7) B (14) C (21) D

%k >k 3k 3k 3k 3k %k >k >k 3k 3k 3k %k >k >k %k 3k %k %k >k 3k 3k 5%k %k %k >k >k 3k 5%k %k %k >k %k %k %k %k %k k
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| @oe—il (UNIT-IT) |

g I e (Short Type Question)

freer — JET 9gd IR oY S U QY T 2| uRler # g9 v 8 U fad S ofik |l

8 Ul & SR AT AR BN | UAd U9 o9 3 Bl BT | R WRIET & MY 3 oRe o Ul &
IR < TG AT 3P YT B AD |

(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answers to all 8 questions are compulsory. Each carries 3
marks)

1.

AT ST T 272

What is feasibility plan?

ARITIA] TSI & i Scuied & a9 & 91 70 A BT TThR B Bl JIRT H o ST
2| 9D I & oIy ST IUHH AR ST, 98 del 8RN, Hal 811, $Hd BRN, FT N
MY IUHH Tt DA B8RT, [AhT o a1 BT SN | SABT AR YA IR Fa1 81T,
ASTU= o BN, o™ &I =TT T 8RN sIfe | U 9T 99T Ufham &l BTl R foraax
LTI HRAl & | UV HouqT Ud ARl  Jae™d & A1 981, ST 91dl Bl FrIadT AT el
ST 2 |

An entrepreneur finally decides with regard to the selection on the product/service.
Now he tries to actualise his imagined project, what should be modus-operandi in
terms of the product, its kind, its venue, its timing, cost of production, its impact on
the competitions, models of distribution and possibility of profit etc. By noting down
on a piece of paper write from the beginning up to last need to be meticulously
studied and examined yes or no position of business. If is feasibility plan.

grotde Ruie @l enaegs 87
Why the project report is essential?
RASHT gfadad Sel & BRI W TS VAT 9@ AFd @ ON$ §RT 983U ad
RIF(ST) T ugd U # |ned BT 2| of: el U iRd Sewa &1 e AfRad wwa #
&Y R BT 351 a2l Bl faavol aRAre1 gfidded @ed 2| I8 Fifdd el & gfid 2g
AR I B
1. U9 SUBH BT SN UG foom sha el 2|
2. 39 Uf9ed & MR W fafrarraal a1 #ero anfdfe Jgmdr <9 & IR 81 2|
3. IR & HeAidT BT FawR fHerdr 2 |
4. URIISHT BT AT AT Ud HHTAT A BT Ul <IeAdl & |
39 dYE 89 <Wd & & IR ufddes W A
% forv STERl @ B ), S9a faRad ey d1, faxia wvermel, fafrarmma<ien deor wReR
anfe @ forg 1 SyarRh 2 2 |

A project report to an entrepreneur is like a road map by the help of which he is
able to reach his proposed destination. How can be accomplish his objective
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within the stipulated time frame the description of these facts is termed as
project report. It is prepared for the accomplished of the following:-

. It serve as a path finder for the enterprise.

. On the basis of the project report a financer decides to render the financial aid.

. It also gives an opportunity for evaluating the project.

. It also explains the estimated investment and the prospective income.

As such it is becomes apparent that the project report is easy to help for the

entrepreneur as for the banks financial agencies and inventors and the
government too.

A WN -

. UM BT URATNT Y |

Define strategies.
fed Nt SupH & T oW | Q1 wfeadl S1e S ke PR Rl § O 9% @ o o |
IS AT IR AT | S9 Al B AR, &, A Ul gor—iedr Bl e iR b
IAAM 3feRAT H Fferd 8l Wl & A I IUHA BT 54 3 d ARSI 3§ 81 Sl
21 3 SUBHA ®UI 9T & O | Ugel ATEdl SHd! T (Strategies) ST ofal § wifd
IUHH BT UST HR AT & I TE BT dfed W SUR g9 IR @ B0 ® fh g SumH
3T STd # 9, Wol—Tet IR AerT &1 ARt 99 | |

fde1 Qe Ud SIF AIFRIE BT FHEdT ® fh, ot 9§, R SushH SR g,
qr I8 98 i & e g1 98 9%ed & e Med ®R d% ygadl o |

There are two kinds of forces which contribute to the emergence of an enterprise in
the similar manner as the parents who cause birth to a child. When the strength of
an entrepreneur in terms of ability, potentials and knowledge identified itself with
the prevailing market environment, it gives rise to a new enterprise in industrial or
market sector. Before giving a tangible form to his enterprise the entrepreneur
makes his strategies and following this not only the birth of a new enterprise takes
place but its future growth and visibility is also ensured so that this blossoming
enterprise acquire a symbol of growth.

Bill Bolton and John Thompson have stated “strategies are the things
that enterprises do, the paths they follow and decision they take in order to reach
certain points and level of success.”

. T BT GReTT T 3ferEE H 3R g |

Write differences between margin of safety and contribution.

A 1 GReT — HAHT B R arKfdd foehl 3R aA—fa=ee fIg @ ofdR &l <l & |
Tl H faeT @ A A1 R ge—fdwes fdvg 9 e ifde 8l & 99 sifday &l &1 A1 &
GReT Bl Sl ¢ |

T — M W M faah! vd Ay o gRda=eiiad <R a1 A oFTd @ 3fak 4
TR ¥Rl H uRdaTeie and R A @ I & e @1 sfee wEr ar 21 98 Rer
ANTT AT A9 & S}ISR BT © |

A feRF=IAha JeI—A™Id AT,

AT, ITEH=RER AN + &9

3120, 3MEH—RER ARTA=aTH |

88



Margin of Safety :- Margin of safety refers to the difference between total sales and
the sales at break even point Margin of safety indicates the soundness of the
business. A high margin of safety indicates an extremely, favorable position of the
firm is the market since even with a sustained decline in sales the firm will continue
to earn profit.

Contribution :- By contribution we mean the difference between the sales price and
variable cost or marginal cost. In other words, the excess of amount received
through sales over the variable cost in termed on contributation. This amount is
equal to fixed cost and profit or,

Contribution=Sales price-Marginal cost.

Or, Contribution = (Fixed cost+ Profit- Loss)

Or, Contribution: Sales X% Ratio.

HREMT AR Dl HHSH$€4.|

Mention to the factory cost.
BREM AN —Hedl Al 519 B Ferdl 4 dREE H A= ufdbamsii | ToRd 8¢ udd ATl
# georar 21 39 WR W IR HREM # 5 Wl @d BT § SH SREFET SRS HEl O ©,

X g &g NI H Sire g1 el € A1 I8 HREHT AN el o |

Factory Cost :- The raw material when to be covered into a finished product with
help of labour has go under various process. At this stage or in factory whatever the
cost is incurred is known as work overhead and when added to the price cost, it
comes to be known as factory cost.

TH R Y¥eT fasmu= a1 27

What is direct mail order advertising?

T RT Ugel fIsiod & oMy U fass 9 & e g1 sfafid &+ & forly S9a U™
Il ®U ¥ BU Y 3fdl fARgd Hae Aol 2| 59 UbR SHH AH[Eh WU A BT BRI B
3T B AN BT AYTE T | YA fham e 2 |

Direct-mail order advertising refers to the one in which advertiser in order to
impress some selective people, send permanently printed or written type of
messages. Thus, to attract people collectively, some chosen ones are invisibly
impressed upon.

. ST BT WRAR B Ui ST /T 27

What is responsibility towards government?

IRBR ATATH & ®©T § SUNT AR, TG DI GRETT Y= wral ¢ | faf= o sufas
FATHR AT 3NN AT 9P SUWR I & folv URT Bl B | o TRAR & Ui Al &
fr=ifrd STReIRI 88—

1. T b MNfde fAbr™ § IR <7 |

2. RGN ARIA HIFAI (<0 BT Ul AT |

3. &l B BT el qHY R I BT |

4. & Tofae uidl A9y &1 JHem |8 o T

Responsibility towards government provides security to industry, commerce or

business as a guardian. By industrial regulations that government encourages the
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entrepreneurs to follow and as such an entrepreneur has some responsibilities to
shoulder towards the government by following, the below mentioned points:-

1. To contribute to the nation”s economy.

2. To abide by government”s rules and regulations, and directions etc.

3. To pay taxes in right proportion in time.

4. Not to solicit any political party”s special favour.

3k 3k >k 3k >k 5k %k >k %k >k 5k %k 3k %k >k %k %k %k %k %k *k %k

||E|TJ§’—III (UNIT-111) ||

<" IR U3 (Long Answer Type Question)

e — I8l 98 IR <" ST Uy A W g | wer H gl dRE 3 U {3 S &R | 3 Al
& IR AT AR BN | YD U ©: 3 BT BRI | 3FR TNIET H 7MY S R A Ul & SR Qi
9 I 3fh YT B D |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

U 8. QU WIUAT BT fhar=ad= T & Heil?
How would you execute the setting up of an enterprise?

SR — 3UhH TATYAT T fohaiaaad el cIagiRe 17 fw=ifsa fhar Srar
3

() Ush T @fed &I — 3UhH ford TART W TATT gl § a8l 3o
TR A3t F cHafeUd # S G S 3usA & fAv e
€ SN S T T Tgael & AU anEe fr cxae, [Serel, a6l
Scae |

()  #aa AT - 3uhA & T Fal Fell sieife &9 # EER GaR
g TUTT UF ATl Yelel FI STl § 38 foiw fomrar for sirar § afe
AT SET § ol TSl Torr d o WUl 3MaRISdT AR SO 3R
T wk W TR J1ar § 3cdresT &1 gfehar & fov d1aa7 AT fohar
ST TR T |

() T TT I & FU9AT — AMT  d @39 9 @de FaUEAgds Hl
IV 3R 3IRH F TR TAYAT Aohdl HUeT H @XE T TAshdr
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(V)

(V)

(V1)

AT T ¥ BLAT AMGU dlfeh hAART HT FHAST Toh, TdTeleT &
gfafafer @ e o asadt & & & =1fgr 3R #her dr gafa
A €T H T@AT 1T

ST 3cUTed — TIF TATAT & Siel & &I A3 hod Al & Iaured
$r gfhdr IRH X ol A1fgl 3R ¢@ar aifige o saH a1 AT
3N IE IS & VAT A o] ¥ IR 3cUed &l dolR H 9o & Ugol
Saa S 8 Sl § 3R GURIcHsS 3919 T &1 ST g |

41 vd AT oyaewr - 3% 9I¢ 9 FS Ol ol QT al
3cUTesT YiohdT dTe] T &1 STl 81 S8 dar 3cUlg @l dfer cgaedm
Sh ¥ FT & TP Ga0T HT HRIART A AT &1 TS &0 g I
gfifad AT AT ST &1 0ET AU @ el g 3ear
Ugel ¥ & X odl g

o # wder — fFer 3R faaRor sgawdr gred R A & 9 39
AT 3cUTg deiR A SIi&el ofdl g Sigl 38eh! 37l et gidr g
TEHT 39el 3¢9 & Ufd SR I 9fdfehdmT 9X §HT dlhdl §eTT
W § U A YA 3cUieel Gishar & R & HAEITaER aRad
ST &1

These are factors execution of project establishment:
(I) Arranging the site — Prior to setting up of an enterprise, all the facilities which

(1)

necessiate the project should be carefully considered in terms of water, electricity
and Geographical approaches etc.
Construction of building —The site of building is provided in the industrial area on
rent by the government; otherwise, according to the suitability of the project,
either the land or the building can also be obtained on rent from some private
agency. If this is not possible the private land can be purchased in which a
building can be
infrastructure and other considerations.

raised according to suitability of production, technical

(1) Settings of Machines and Equipments- Purchasing of machinery and utmost

caution need to be exercised and in the beginning it should be installed by the
vendor company enabling the company”s
carefully and till the beginning of the operation the vendors company
representative should be detained so that any sang be rectified it if occurs.

employee watch the operation

(IV) Trail production — Soon after the machinery and other technical infrastructure

gets installed a limited production from the raw material should start to see of
any improvement is needed in the finished product. In this way the production is
properly examine before it reaches in the market.
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(V) Packing and distribution arrangement- Entrepreneur now chooses to give a kick
to the production process. The good is nicely packed and dispatched for
distribution as this aspect is already carefully considered .The insure sent to
goods to the wholesaler, retailer or to some agent.

(VI)Entry into the market — The merchandise gets launched into the market and this
phase is the real test of the entrepreneur”s ability. The entrepreneur keeps a
constant vigil around the market with regard to the market response to his
product and brings about changes as per market aspiration and expectation.

uee 9. eIl eI Rl I 87 Ig Hd fhdr Srdr 27
Why feasibility study is needed and how it is done?

ST — 3cUIE 3TUAT JdT T IIT @ oAl & 96 Sodl 38 PR Hld &
foIT o IR X a1 &1 38% 3c9lG & o ST Jiolell Sl STuaiT
3reen, fasha H{od fohdelr g9, 38T W 3T Giddiferar o &2
g, e et gl faemusr ar gem, faaRor fr cuawr Far @l
@ & U 3 3cuiesd g YT el W TN, SMH HI AT ISATSA
WM, 3G TN 3IRA T AT dh T aiar &I 3ETIA  Jagiidr
I F AN AT § 39 RUE & 3R W g 3167 fr Arstelr
IR T ST B

Il ROIC # @l 3ugerd LAl & Hefd aTcdl &l Je=iraell & &0
fo@e gHa1 3TN T@T A Yo dfgv qoer o1l g Qv &
faR faaA ot gRARad e @mige & aga # @dr 39 S
HS I S @ ¢ 3HH cdgies Foars fhdar ¢ |
gagar RAIE & 3regTqaT & 3MaEd &l Sl & &1 379 SIEHAT &1
RIS 3UsheA FAMAT Fel I Ufham H e AT g1 Ig a1 &Tef
¢ AT ¢ 5 3usA TR BT @ AT 997 Sl & fau cgagrRiar
ETIA AT ATk § FAifeh dg el Td dioge RO & fow
TR &7 ST Ll &

After selection of a product or commodity or service, an entrepreneur endeavours
to convert it into reality or tries to give a practical shape to the ideas or concepts. He
starts thinking about the production and starts contemplating on the following
issues. What would be the nature of scheme or project required for its production
.Where and when it would be implement .Who would manage and organise the
enterprise, what would be the cost of establishment, how much they would react,
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what kind of packing would be used, what would be the nature of publicity or
advertisement, campaign, what kind of distribution arrangements from where the
money would be a for production and other running expenses. What would be the
scope of profit or in other works the practical evaluation of each and every aspect
would be taken into consideration.

All the above parameters and their relevant aspects together from a questionnaire
and the entrepreneur holds a monologue to confirm the veracity and viability of the
projector or also to seek an interaction with the experts before giving a final shape
to dream project.

After going through this entire rigmarole an entrepreneur in the true sense engages
himself in establishing his enterprise project. Here the important point is to see
whatever the project is small or big the study of practicality is very imperative for it

serves as a basic of the planning and project report. _
e 10 — IMMURT YAV &I HIAT A5l &7 I8 URMS IRIATTHT F D el T g7 FHSM |

What is importance of “No objection certificate (NOC)? How does it differ
from preliminary report?

SR -URIISET 3(Yar Wil 8 3R oif &1 fafaaer feear o
TaTe IR H o § § T amr &1 @A 31w A
H REdr § sTas focwes U4 oo & 3TN ARAST & M fomal
U 3cANT I TAGAT FLAT AT IdA 3G fAHOT # Ry adieT
aEd Y AT 8T § U IRASAT vk AN AT Tl F FErT &
Tohdl &1 39 TR fopdr off 3eier & gfaaiferar 3R o &r et
dYuT IAd H gl dlel  TehIg URddell U9 AN JUT AlFHAT
UREcl I AT H W@ §U STGEI T 3NN H gRAcTe  Hle
HTGRIF gl & Fifeh 3R gl drel IRATAT & HTUR ) <IJaarg #
qRadeT gl fhaT Sar af 39« 8l arel ol & afaa & Sireem
SHITIT I 3MaTH ¢ [ 98 FAIRAR ge drel aRadell & 3UR
W 39e] 3cUGeT UG TIdRoT GHTANST o) dorr Susiaar &1 % el s
wd Bt H gl dled URAcleAl & QA & Scarfed gled arell a&d3i &
AR b odlel Tl A YA W foad giadel aeg & 3erdT
vd S R, 7 ART H gefer gl 81 o axg e IGWel 3R AR H
T FHAT g ST J2AT ITAT &1 SieT I@eAT HideT g S |

$H YR Ycdeh AEHIAS HEAT &I I &I 3Mefden Td
AT 3eldhd el & foU Wéa Qe aRAe=s3i & s & ST
USdlel Ud fauR Ay #d @elr =gl I four fhell &g a&qd &
3cUTesT el I faegAT 3cuieall H GUR oA AT 3oAH o5 a3t
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B s § Ja™d & Hhdl &1 AT ISR @@am & [dhE @
[’ % qUT 3T GoTdloeT e & 366T U oAdisl TRIATSTI3T
#I forarfead fRar STdar e &1

If refers to the investment on such projects which have ample opportunities that
reflect the scope of great deal of profitability. David Clifton and Eyffe opine ,”A
project envisages the setting up business or mixing up of a new stimulant with the
existing merchandise .A project may be related to a new machine or a plant.
Similarly the threat of competition the market environment and the business or the
products in conformity with the changing scenario failing in which may lead to the
reduction in profit .Therefore, it is imperative to bring about the required and
desirable change in the business or the products by taking into account the
constantly changing fashions consumer”s buying habits and their performance and
by giving a new look to the products so as there should be more demand of the
merchandise otherwise the product would appear to be lack-lustre resulting the
decline in demand lest it should be a threat to the survival of the business.
Therefore every commercial organisation must try to get modernized to Keep
pace with the march of time and try to keep itself abreast of the contemporary
business trends so as to get turned to the new emerging fashion. This is the way of
developing and expanding or re-organising a business by planning afresh.

ged 11 — AfI= YR & S Yrenfie! gasnsy

Discuss the different types of production technology.

SR —cIeheilehl o ThR — UTT: dehelicnl af A0 & g Hhdll g

(1) 5™ T8 depeileh (2) Yol e dehelleh

(1) 5™ e ddeld — 5 T8 dehelleh 3TUGTIhd 311Uk AT H HA Ud
Uoil &7 o AT 39T T & 8T 47 $r 3718 A= s ga
T 3ed HMET U fRIT SIdr § 58 YR $8H 318 s aur Jeir i
3 HIEGAT S YANET fohdl ST § 9o fAive & 36T8R — SH 98
3curee fafdar o § St & OOt &7 U S5 & dgel AH HI S
AT &l ANT A | AGAG Iy T Geit FAmor et & & qeg
HATAAT T |

(2) oIt TET Thelled — Yol e TTehelleh ol UH dehelleh & &7 H  aRwIRE
forar ST @hdr & T 98 # 39eTeha 31f8e goil I AT g3ter &
Sl & Siafeh IgT A I 37eT ATHT SgeFd Bl & 38 deheileh &
HANT 3curg S Ifd Sprs T Yol 3Rk @il § Sidieh SA Tl
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deheller # QT IO A Bl § o Yoll T8 cehoileh 3cUTGeT ol
AT TfshaT 9T g &Y T

3cUIGA dehelleh — g€ 1S @ 38R 3cUlce deholleh & [Addiichd ddT g

1.

foeqa 3cuigar g @9 aFete 99 wig@fd-  su gifEdr &
A 3curesT 937 AT H fhar arar § At 3¢t fafdes sryar
T ST 3T ST & |

SPHs U4 T od URNFTaT — URNfTel & 39 aFf & id Qe JT8d
(\T) Sl & ATAR IUIRd P S © 3MqAT X Aeheileh  TARAVS

CaNT 3red AT A [AfFAT $r S § O depeller &1 GeT A dTel
qIrSal H fggEdel TEiesd faffes #Rd TR & T gelehice
SATT & AT ST dlelAlled aa%i Sif AR Yod adT 3 &2t dr
Yol STGEAT & SIoTel Fofel STl & |

foreax e gfaferar wrenfadhr —denfrar & 39 d9r F 3cuig T
oA TOTaRor 9ishdr & & gt IRl & Ig Uishar Ao garsar
S T 37YaT YeterivT Hafadl ea@RT S Sl & |

Type of techniques- Generally, these technique involve two categories-(i) Labour-
intensive Technique (ii)Capital-intensive Technique

(i)

(ii)

Labour-intensive Technique- It refers to the sufficient amount of labour and the
major amount of capital to be exploited .As per Prof. Myint,"Labour-intensive
techniques are those where there is more demand of labour against one unit of
the capital."It regards both the human skill and capital availabitlity equally
significant.

Capital-intensive Technique- It may be defined as the technique where in the
desired and maximum capital is used but the amount of force of labour is
meager.In this technique there sre capital involved in proportion to production
per unit. Where as in labour-intensive technique there is other way round. As
such in capital-intensive technique more emphasis is laid on technical and
mechanical production.

Types of Production Techniques- Following are the categorized techniques of
production of production according to wood ward:

(1)Mass Production and Large Batch Technology —Under this technology, there

involves a mass production. The technology is used in manufacturing the vehicle
by Maruti Udyog Ltd. and the Suzuki Motors Cars.

(2) Unit or Small Batch Technology- Under this the production is initiated on the

consumer”s demand or the manufacturing production is under taken by the
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experts technicians in limited quantity. By using the technique the Hindustan
Aeronautics Ltd. that manufacturing helicopters for the Government and the
Diesel Locomotive works that manufacturing the diesel engines for the Indian
Railways and rail works of other countries also.

(3) Continuous Flow Process Technology- According to this technology the
production undergoes a continuous flow process .This is a complex technology.
This process helps in manufacturing medicines like chemicals and the purification
process is undertaken by various companies.
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g ued (Objectiv

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

ug (Section) -1 L
)

gug (Section) -2
IR—aRIfTs U (Non-ObjectiJe)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

“ Tug—1 (Section-1) “

MG —T8l R 950 IR IS U IR Afed [ T | wWiel 3 3l a8 b 28 U 3y AT
3R 3Mudl T 28 TeAl & IR OMR SHEET WR <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions inOMR SHEET. Each
question carries 1 mark.)

g~ ueq (Objective Type Question)

57 .o e gerar fhamett &1 a—
(A) T (B) st
(C) U™ 3R 3= <Y (D) 395 & ®Is &I

Of all managerial activities planning is the —
(A) Beginning (B) Eng
(C) Beginning and end both (D) None of these

58. RIS T Siiad—ash F=forRad o gwafRrd =8l g1ar 8—
(A) faffaRT—ga =Ror (B) YoF TS AROT
(C) AHITEHROT =RoT (D) Rerdrepror =—or

Project life cycle is not concerned with the following —
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(A) Pre-investment stage (B) constructive stage
(C) Narmalisation stage (D) stabilisation stage

59.9RIISHT Jedid & Uge] o—

(A) T Heidh (B) fa=ira Ao
(C) vt qeaid= (D) &
Aspects of project evaluation is —
(A) Technical Evaluation (B) Financial Evaluation
(C) Managerial Evaluation (D) All of these

60.3TfT e FRIFHA & Ui IR & TGN GF HT GREHI 3—
(A) TIHD (B):ifﬁ?d:laﬁ
(C) v=FTHS (D) SIEIRTTHS

The attitude of Indian Government machinery towards entrepreneurial development
programme is —

(A) Destructive (B) Negative

(C) Eonstructive (D) Non- co- operative
61.org ST A fafEes A 8-

(A) 3 TRIS 0 (B) 4 TR w0

(C) 5 ®_rs 0 (D) 6 HRrs. w0

Investment limit in small industries is —
(A) Rs. 3 Crore (B) Rs. 4 Crore
(C) Rs. 5 Crore (D) Rs. 6 Crore

62.fHFIT—3MR R IR iiqgd fHar ST |qadr & -
(A) axq fafFma aoiR (B) wp=r fafema aoiR
(C) =1 v Tof R (D) SwRtaT wY

On functional basis market may be classified as :-
(A) Produce exchange market (B) Stock exchange market
(C) Money and capital market (D) All of these
63.9Rd H e o ifrfed fo aef wiRa foar o ar—
(A) 1932 (B) 1967
(C) 1939 (D) 1940

In India the trademark Act was passed in the year:-
(A) 1932 (B) 1967
(C) 1939 (D) 1940
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64.T% ARG favg BT GoliaxoT fha=l mafey &1 8Fm—

(A) 3 a¥ (B) 6 T

(C)7 a¥ (D) 9 a9
Registration of a trademark shall be for a period of —

(A) Three years (B) Six years

(C) Seven years (D) Nine year

65. 91T MR TR IR BT qqHd [HAT ST AhdT & oTd—
(A) Rl TR (B) gy aToTR
(C) 3¢ Td RIEE qoIR (D) SwRIad )

On geographical basis, market may be classified as :-
(A) Local Market (B) Provincial Market
(C) National and International Market (D) All of these

66.31BR 3T T 37 & Rig—
(A) F¥ & e & fRifaa fear Sar &
(B) ¥+ & gaHI 3R BT frifAa fbar <mar 2
(C) P11 & Yadd! &I fAifAa far Smar 2
(D) wwufrt wkiest & ford fasanstl &1 fetfaa foar sar 2

Right shares are the shares which :-
(A)Are issued to directors of the company (B) Are issued to existing shareholders of the
company
(C)Are issued to promoters in consideration of their services (D) Are issued to vendors
for purchasing assets

67.U% HHAI AT BT 4 9RT & Urael & ST 92 R 3R &7 fHT R AddT 8-
(A) 78 (B) 79
(C) 80 (D) 81
A company can issue its shares at discount under the provisions of following section of
companies Act —
(A) 78 (B) 79
(C) 80 (D) 81

68. ¥ gRT AT fbd S & qd 1 ieremiRal | 1 I &1 it 81—
(A) shrar |7 1 7 Sfde fhar ST 8
(B) =1 wifvT fr & wfse favar Siar ©
(C) a1 iy ¥ # Sfae o mar 2
(D) 377 & ®Ig el
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Money received in advance from shareholders before it is actually called by the company
is—

(A) Debited to calls in arrear account

(B) Credited to calls paid in advance account

(C) Debited to calls paid in advance account

(D) None of these

69.57 By T 3 @ G e & uveEnq ofFr ER0T Wi & N Bl ARG $Y e S 28—

(A) o™ — B @ (B) ISt w= gren
(C) Im\= 9d @l (D) 74 & P ol
Balance of forfeited shares Account after re-issue of forfeited shares is transferred to —
(A) Profit & Loss account (B) Capital account
(C) General reserve account (D) None of these

70.3720T &7 B30T fHar S AT 8—
(A) =91 % SuRerd 9 89 @1 Reafa #
(B) #RT AIRT & A HA W
(C) S =01 A T @I rgAeiar
(D) ufcr{fd @& U # 3 @& T8IH B8 W

Shares can be forfeited —
(A) For failure to attend meetings
(B) for non payment of call money
(C) for failure to repay the loan to the bank
(D) For which shares are pledged as a security

7187 BT BT ST g3 AT—

(A) STU= # (B) Wi #

(C) ST # (D) smwpiepr ¥
Henry Fayol was born in —

(A) Japan (B) France

(C) Germany (D) Africa

72.9I® G & YRJadhdi o—

(A) wara (B) TeR

(C) < (D) 3774 & ®1g e
The Propounder of administrative management were —

(A) Fayol (B) Taylor

(C) Terry (D) None of these
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7399 & RIgrd 2—

(A) wrfcrefiet BEERE

(C) wrdHife (D) SWRIa |
Principles of management are —

(A) Dynamic (B) Flexible

(C) Universal (D) All of the Above

74.ys & g e o—

(A) rda| (B) erdret

(C) 7ot (D) =R
Principles of management are not —

(A) Universal (B) Flexible

(C) Absolute (D) Behavioural

75.0% & & feued & foy Uery &l “|aE IR gel” ARy | dEe Ya BT h—d1 g
9 Ufad &1 @R FRaT 2 |

(A) AT CREIS
(C) F#qut (D) arasIR®

Management should find “one best way” to perform a task. Which technique of scientific
management is difined in this sentence —

(A) Universal (B) Flexible
(C) Absolute (D) Behavioural
76.fa%9 % A9 Ugl Wh fqufor o1 MU g8 ofi-
(A) faeel (B) ==
(C) srrenT (D) Sirar
The foremost stock exchange was established in —
(A) Delhi (B) London
(C) America (D) Japan
77 3 &1 & wrateg Rerd 2—
(A) feeet (B) dlIcteprar
(C) ==T2 (D) 71 &1 SrTE
Regional office of SEBI is situated in —
(A) Delhi (B) Kolkata
(C) Chennai (D) All of these
78.318 §1vs P fagrerdn 23—
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(A) & = (B) Wi

(C) i (D) 3
The characteristics of a good brand are —
(A) Short Name (B) Memorable
(C) Attractive (D) All of these
79.EfefT 28—
(A) a1fami (B) 3mmazad
(C) vfo®m (D) &9 @1 qdTRT
Labelling is —
(A) Compulsory (B) Necessary
(C) Voluntary (D) wastage if maoney
80.wRd # SufAar &1 Afawd 8—
(A) B R H (B) Sootad
(C) wfearg # (D) s & Big &I
The future of entrepreneurial in India is —
(A) Dark (B) Bright
(C) Difficulty (D) None of these

81. I Fgcd e &l HRcil—

(A) |ERRI B4 (B) a1 fvm1 fawrer

(C) /= are™ e (D) 74 & P ol
Enterpreneurship fails to lead-

(A) Partnership firm (B) New corporate division

(C) New subsidiary venture (D) None of these

82. R ST fAbTg W= &l WIuAT &7 Y ofi—

(A) HBRIEE WHR gRI (B) TR WRPR gIRI
(C) 7 U< WRBR gRT (D) affierrg WRHR g

Entrepreneurial Development Institute of India was established by-
(A) Maharastra Government (B) Gujrat Government
(C) Madhya Pradesh Government (D) Tamilnadu Government

837l BT ATIIDHATAT BT YaTIehd RIgr T2 gRT eMRd 8idl & fb—
(A) T AEEIfEE wT H srazgdantl gRT IRT B B
(B) AT sMaeddaretl gRT AMING ®U I URT 8 8
(C) AT oI dR IR aegadarl & URd 8 @
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(D) Sudad & ¥ Big TRl

Maslow”s Hierarchy of needs theory is governed by the fact that-
(A) People are universally motivated by needs
(B) People are socially motivated by need
(C) People are politically motivated by need
(D) None of the above

84,7 e T e g8 oA

(A) SeTE 1990 (B) Settg 1991

(C) Je1$ 1992 (D) Semrg 200t
New economic policy was declared in-

(A) July 1990 (B) July 1991

(C) July 1992 (D) July 2001

Multiple Choice Answer 1 To 28.

(1) C (8) C (15) B
(2) D (9) D (16) A
(3) D (10) B (17) D
(4) C (11) B (18) C
(5) B (12) B (19) D
(6) D (13) B (20) B
(7) D (14) B (21) D

>k %k 2k 3k %k 5k 5k 5k 3k 3k %k %k %k %k %k >k >k ok >k >k >k >k 5k 5k 5k 5k %k 5%k %k %k %k %k %k %k >k >k >k >k >k %k %k %k %k *k *
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| wws—Il (UNIT-II) |

g ST v (Short Type Question)

e — Il 98 WX g S g3 Q7 W g | q¥ier § o9 oRE 8y Ay Wi iR Al 8
gedl & SR AT AfTard BRI | UAd UeH 9 i BT BN SR TN H oy 3l TR W U b
IR T T I 3fd U B D |
(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answer to all 8 questions are compulsory. Each carries 3
marks)

SUBH & GG H RGN AT B T AT 27?

What is the role of government regulation in selection of an enterprises?

U Y% FEN AR B WRFY Gd ARPRI AN BT e HRAT Isdl & | BRI FF §o
AR B ABR & AR A B & O BB WG & IR WR| SSERVA: UHid] AR AR
AERER! 4fd BIC AMBHR dlel IUHA & oY B &, od Fod 39 R WRBRI FH301 & 7151 FB HH
Bl B, Tafh HUN UIReT dTcl SUHH ¢ UAM & BF & BRI JAMES S e ¥ §¢f B 2|
SIPT YD HRIGETT HUT AT B eIl & JTIAR Il ¢ |

Each and every trade quite after has to observe the government rules and regulations.
These regulations vary according to the size of the enterprise or on the basis of the
ownership. For instance, a sole trader or an enterprise of partnership is meant for a small
scale business which does not fall much under government regulations whereas in large
scale business enterprise there are legal complications and in this case function is
subjected to legal formalities within the purview of government regulations.

. oTaRITel! e # e @ Far fier 2°

What are the role of planning in effective control?

IS @ ofaTid Udd Uded o9+ SefiERel @ Ufthar iR FarH @ W fEe Rnfid eve &1y
HRdl 2| RS Bl g9 S O JEieReil @ fhamsll &1 " ot fhar o 21 I8l A8 goie
IS @7 Ud 3T B 3IR |1 8 I8 = &1 TP ST © | 31 doic gRT A Ydudhiy yordl 9=
ST 2 |

By means of judicious planning every manager, executive tries to enforce his control to the
best of his control to the best of his capacity over his subordinates in terms of their
performance. In order to make the planning effective the meaningful the performance of
the subordinates can be adequately measured. Not only this even budget is an organ of
planning and also a tool of control. Moreover, also strengthens the administrative control.
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3. BT faT BT AT MMALIHAT 87 $ID IR ARH & A ford |

What is needs of short term finance? Write its name of four sources.
FTBTA o] & MM I KON A & Sl UYdb GRAT U1 3feUdbleila ATaIhdra &I gfd g o<
AT F UTd BT & dT REd af T 9y a7 9 B BT & Rifd g6l STANT Id dufadr ar
< ol ¥ BT ST 2, O SIfAel & Aoiqyl, da9, dedHial BT %3, e bR i |
IFTBTe fad & IR AeE fFEfalad 8-
. gRIE T
. 9o Ifafaey
. IrgRIerd o
. MIR® 0T

A WOWDN =

Short term finance refers to those loans which are procured by a commercial organisation
for meeting its short-term financial requirements for a period of one year, or less. It is
utilised for daily expenses or current assets such as wages to labour, salaries, purchase of
raw material, Godown rent etc.

Following are sources of short term finance:-

1. Secured loans.

2. Bank overdraft.

3. Unsecured loans

4. Trade loans.

4. B4 Urenfrel w1 =nfae?
Why are we need tecnnology.
GEnfra 9 SR A MawId g
3 H fYE A & gad & wU H Heifia] WR mawds 2 |
. 39D gRT M Yol TAT IR & 31 Tchl &1 SGHAT IR Al 2 |
. ¥ faerd & forg faRdre daiia uR & wR & forg denfira smawas 2 |
. Fa T BT IATe H gt Ud darAd Yol gd HRRI BT giod @R Bl UreNfiel U i
AR B |

A WODN >

Technology is essential due to the following reasons:-

1. The technological standard is essential for beings an indicator of the national
economic growth.

2. With the help of technology an improvement can be brought about in terms of
labour, capital and other factors with regard to the production.

3. Technology is also imperative for economic growth and its technical specification.

4. Technology is an integral source or a means of bringing about innovation for changing
the production to consolidate the capital and to upgrade the machinery and
infrastructure.

5. 379 IR 0T # AR qARA
Distinguish between shares and debentures.
SN |
1. 3791 Yol @i Yol 8Kl & | 1. 397 U3 %97 Yol Bl 3|
2. 3P & URThel & wY H MY | 2. FU—UA & Uldhel & WY H ANl QAT Sfal
e <mar & | 2 |
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3. IR BU b W B 2 | 3. RSN HUl & FEAT B ¢ |
4. IMIRINT BUT YaeT H 9NT ofd 81 | 4. RO—U=RINT BUl & Usel § YNT A8 of Ahd

2|
Shares Debentures
1. Share is a part of company”s | 1.Debenture is a part of company”s
capital. loan.

2. Dividend is paid on share as 2.Interest is paid as consideration.
consideration
3. Share holders are owners of 3.Debenture holders are the creditors

the company. of the company.
4. Share holders participate in 4.They do not participate in company”s
company”s management. management.

6. fauor fAsor @/ 87
What is marketing mix?

fauor 8707 oreg BT WANT Holwd 9 e 99 Whal @ il died o fhar o7 | U |Aw fuue
Rt S f faseg &1 defRd axa &, fauvs fsor sgar 21 fuvs fsor eaam & Qe 89 &
oy #eagul B1aT ®, AR 9 HWd & & A1 Adge e &1, faaRer e 8 a1 Sare &7 |

This concept was basically conceived by a professor of Harvard Business School Mr. Neil
Brodon, which refers to all kinds of marketing decision that help encourage and faster the
sales, can be termed as “Marketing Mix.” It is very crucial in every area of trade, be it an
area of price, distribution or production.

7. gATIh Tch T &7

What is social factors?

TS TITIROT DI AMISTh Teh |l 9gd GAIAd HRAT & | TS H R1eT BT TR STAHRAT BT HR

fofiT, amed onfe U ges 7, e gyiearor y9ifdd siaT 2 | SH! IFSE] A1l J8] &) \dhdl el

I IR IR et elf | 3id— AT} 379 YT 39 Tch Bl &4 & TghY & JIR BTl 2 |
SETERVRGRY, IATE BT W 9 AN & e, AHIfoTd o Ud ARpla & a1l Sl

BT 2| Hel Bl T BT g9 A1 HET YW AFT 1T 2 | TR <2 § &1 [T ST P9 A4 o1l ©

Safh FARRIT H S 37 A © | 37 AIEHT B ST < A9T I aTell I S gl ¢ |

The social factor also affects the commercial environment. The literacy level in society,
population, size, sex ratio etc. Are the factors responsible for the business climate? An
entrepreneur cannot afford to ignore these factors, otherwise he has to encounter serious
consequences. As such an entrepreneur must determine his business strongly in
conformity with such factor. For example, the colour of the product is also selected to the
consumers” faith, social value and cultural value etc. In the Muslim countries, green colour
spells value but its sound is auspicious in Malaysia. Therefore an entrepreneur must follow
the idea of adopting the things as applicable.
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|| gus—III (UNIT-111) ||

<re TN w2 (Long Answer Type Question)

e — I8l 98 IR <" ST Uy A W 7| wer H g dRE 3 U 3 S &R | 3 Al
P IR <7 IAAR BRI | TS U ©: 3D BT 8FIT| SRR TRIET H 3T 3 R | U & SR <
T9 3T b YT BN b |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

U 8—AqAIIS JTaRRT DI USAM DI YHIFAd B dTel TSHl & AR B \lT|Q|

Explain the factors affecting identification of business opportunities
IR~ ATGAIIE TR BT Ugd DI GAIAT HR dTel ded / beSd —

(1) I/ BRI &1 WL — ATGANAS AR DI UgaE H MARS GARFEl & AT dred FeRidl
ey B Al faRkree e 8l 2| arel ARl Ud @Rl SfaeRi &l U H Ycderd: e
HRAT & | IR ARHR M Td WROMRAT & w H FERIAT U ! 2 |

(2) Fafa & GuTaaT— aTaAe AERT B ugAE # fRtd &1 AHaHr gl & SeHl U SEnT 6
RMYAT IT URTAT & HdeT H AISAT 99T bl & TAT difdd HrRIdre] B Ahdl & | ga-7 ol ol
WHR A Fafd ga geEal B 3 IRVMY T M UG Gl | 3k B & gRadd &
ot <rar 21

(3) g SiEfIes fahr @& Hae § AN ST HRAT — AFHIAS SUhA B ggad Uihar &
e el foddl 9efie &l & IR # vl odr § 1 Sedl uRarfad Selifie faer & ddy |
AT Ud O @A U dRa I ST Sff §ohdl @ b 69 San faeer d§ e &
TS FHEAT faed 8 9 i UhR BT ST a1 amyE © |

(4) IfaRe FARMI & UGS — AfARe FAREl B U & Ud Agdyol gcd & ol
TS JTAR] DI UG H ADT FHET & | UK ATEEd Jad@R & 9 R0l 8l & —
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ga<i, fawR @ fafdeieror | Iugad afawR dorl IR &R STEid fhar gg URd &Rl & oifd
s foIU S9& U QT o< A1 7 89T Sa3dd 2 |

(5) SEfTH Hed AT BT SUART — Pod Al Bl SUARIIT ATTATID NAART BT BIHI AT dh
faiRd ) & wifd s & gRT 9Idl ST &7 WX dF Bl 8 Ife P qrol I 9
ST 8 Whdl € IT B8 Bl GITIAT & d STHT U ShIs &l WIUAT & folU AhRIcHd HaH
IST AhdT 2 |

(6) SIRIA &I AT — THh Iag R # eMa UeR & SiRgH afmfad &t 8 o9 & anfefe
SIRIA FMISTD SREH IIaTaRoy SReH, Taheiio! SIRgH e YUY & | drareRel § gRad_ &
A1 SR BT HAT T4 Yepfd T gaefddl I&dl & | Semeiiel SIigd 98 SiIgq 8 Sl gRad+l vd
3 fohamsll & A1 AATRIS JTART BT Foid Bl © |

(I) Form of external assistance — Indentifing the venture opportunies, the form of external
assistance is no less significant than the internal resources which play a vital role. External
assistance like the internal resources immensely facilitate in spotting the business
opportunities.

(1) Possibility of expert- Provision of export can also facilitate the entrepreneur in identifying
the so-called opportunities which serves as an important factor. If in any venture,there are
possibilities of export , a responsible entrepreneur can contemplate to conceive some plan
to start such a venture and take the appropriate steps the direction.

(1) Gathering information regarding proposed industrial development- After obtaining
information  with regard to the propsed industrial development, an
intelligent,entrepreneur happens to take a find plunge into a project of enterprise. On the
basis of the various information,the entrepreneur can unearth the hidden business
opportunities and the scope of any further expansion.

(IV) Availability of Internal resources- The availability of the internal resources is significant
factor which consideranly facilities the process of identifying the business opportunities.
Generally , the business opportunities rest on three stages-Promotion. Expansion and
Diversification.

(V) Avialability of industrial raw materials- The availability of the raw material also determines
business opportunities to a large extent because the level of production is also
determined on the basis of the availability of the industrial raw-material. An entrepreneur
can make the optimum use of the venture opportunities provided the industrial materials
either available.

(V1) Level of risk — Any business venture includes various challenge which involve many risk in
term of economic,social,environmental and technical complication etc.But such a changing
scenario encompasess several intangible opportunities and the entrepernuer kbows how
to convert the challenges in the opportunities or in other words the opportunities lie
enshrined in the challenges.

9. yed— o & ARl & e o |
Explain the limitation of planning.
SR— 9. o™ & ARl @ @R & |
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IR— gduT # e &1 W fAEfalRad 8-

(1) Yargae R mIRd — RS qargae o= SmeTRd BT & 3R o Jmef &1 gar 2| afe
IRRYR oM & fawg 81 12 a1 Ao &1 gRREng 81 SFT W@enfas 7 |

(2) IS STRRAT — WRBHR BI e, e, Aifgd AT & 3wy bl AT T B ST
2 319 IS WRBR g8 ¢ af 34 -ifaqal § gRafda g1 su a1 forase sy 8 o 2

(3) UEH FRA DI AT H HH — RN & Fad IS JHRT Ud HHAR o gd FeiRd old W=
B H UE T8l Adhd & | 39 ¥ AMGRIS AW W BT § BT Wl 7 |

(4) wEel yumell — FRISE Eden ufhar Bkl difh 39 @ forg sl wd gEAel @l
UHAIDHROT [Ieleror Halq Ugfd &1 gATd 3ffa A1 Usdl & | Bl A I8 @diell Jorell
|Tfed Bl 7 |

(5) ArEfieTdr &7 3T — AT BRIGAT TIaRy I §9 8id 2 off 8% 99g fAmid &xa &7
MR &l BT & |

(6) ®/B AUR & [y JJUYH — FAH A BIF dTel O B R IR Gl dPb-iid ATMS
IS Iqdr H dredrele MRS srugead Bl o | i fea—ufafes a8l aRRerfel aaerd
REdl & |

There are the various limitation of planning :

(1
(1)

(1)

(IV)

Based on forecasting —Planning is first based on forecasting which may not be realistic. If
the circumstances go contray the planning is bound to haywire.

Political instability — The planning are formed on the basis of the government”s
,industrial ,economical and monetary policies.Following a change in the government or
the policies are subjected to change which senders the plannings useless.

Reduction in initiative capacity — Every execution and employee has strictly to adhere
here to the predetermined policies and is not permitted to take a lead in any activity or
decision at his own,resulting in the loss of useful opportunity sometime.

Unsuitable for some business- In fashion,share market,information technology
etc.Related business a long term planning is sendered unsuitable on account of the ever-
changing conditions.

10. YIT— Udh Thol IUhH bl GG Il Pl a1 B |

Discuss the requisite of successful enterprise.

STIN— TP Ahel SUDH Pl YD I fTeTRId B—

(1) RMY=T # AT — I PIg SUDHHA Sleal 3R M H UG HRAT & AT Thld] AR SId
YEdl & | ATSIER B Wfd &= & folv A 9Rie f[OaReRT dTel 3 IRIER & ol gsdl
g |

(2) ey fhar & UbR — AEdl DI U IRl & bl & AJwU &l SUHH DI AT DAl
MR |

(3) vt fFEFor — afe Al A MY AR W Yl 0 /a1 Aedl & SN BT g¥aed IS
TE BRAT & A I UhTd! AR AT S HU a7l IUSROT BT A HIAT MR |
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(4) uRaTe™ &1 &5 — I AUR & IRATAT BT &5 BICT & 3RIq W 8 al THid! AR &I
AT SYYde BN b IR &7 &7 I$T AT AL AT IR KR BT & Al AT IUHH
HON B wY H IGAT A1RY |

(5) goft @1 Iucterar — o & oy fha goft anfey Sue foy Al afe W |9e & a1 S9a
ThId] RTUR HI IUHHA G a2y | Al VAT T8I € a1 ARl Iugad sl | fog 9|9 o
D Yol BI ATaIDl Bl IR HU YRR dTell IUHH Sl T |

(6) TR fFaFe — UM U ST AMUR Bl AT U4 RGN 987 6T gTe= H_AT TSl ¢ |
Thid] RTUR TR RGN FHFAU &1 A3 {B HH Bl § Sidih HUN YRt dlel IUHA I UAM
& B B PRI JAARNS ST ST § 81 T |

9 TRE SUYF uchHi Pl &AM H I@H & el ITHl DI U fou SuspH g
anfey |

Following are the requisites of a successful enterprise:

(i) Easy formation — If an enterprise is soon and conveniently to be established sole trading
is recommended for a partnership the same minded partners with the same ideology
have to be taken into the fold.

(ii) Type of Business activities- An entrepreneur ought to be select his enterprise according
to his business activities.

(iii) Direct control- If an entrepreneur wants to keep a strict control over the business
activities and is not willing to brook any interference or contradiction he must prefer
sole trading or personal and private company.

(iv) Area of operation-In case the area of an enterprise is limited and confined to local area
the sole trading will be the most suitable one but if it is vast area or ay national or
international scale the enterprise should be in the form of company.

(v) Availability of capital —If the availability of capital is adequate and the entrepreneur is
self sufficient he must prefer sole trading otherwise the partnership would be suitable
and if much more capital is required than the formation of a company would do better.

(vi) Government regulations- Each and every trade quite often has to observe the
government regulations where as in large scale business enterprise there are many legal
complications.

As such in view of the above considerations an entrepreneur has to make a
judicious selection of his business enterprise.

11.f05m= & Seey fora?
Write objectives of advertising.
TR — A9 & Sz 9 Afdd o1 gRe A s &1 Jord Sewd fama gig &= & g
aATe gReHOT ¥ fadTT &1 Seed I8 a6 i T8 2 awgell &1 g ®E Seww 9 faan
ST B |

THO 3MRO TR & IFTAR AU BT IeeT IUTGH Bl oA Ugalell SUHT Bl e w1, fasvar @
HEIAT PR, UIRUET DI FHAG PR ATAIRAT P 3T 3R ATRRIT HIAT AR Fad 37feh Iearasd A
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STHaT & g ddy fid FRaT 21 39 UGR e @ ffdy Seew g9 2 6 UE SR
ffoRad 28—

(1) =9 T ggell vd Haril & SFer) oA — ARl @l fhdl 99 Affa o sferar dar &1 9o
H IE@EdT &1 SIFaRI &1 T I SMhRIT B AN U~ BT (IS BT YT e & |
(2) faspa glg PRT— fAETUT &1 U 3= Y@ Ieed Ay g &A1 § | AURI 9qd A% gy
HRAT ATEAT 2 | 31 ST 2T I g8 (U1 aegall BT fILMu Rl 2 |

(3) U AU ATSIRI B ol UG fAbrd BT — fA=uT &1 U Se¥d qU¢ — U FISIRI DI Gold bRl
Td 3P [ =1 A 2| A9 R AU IR | YA HRAT UG SAdT [AdBN BRAT R
BT 8 |

(4) U= HET BT URIOT HIAT — AT BT I Dael ART Iq~ BRAT & UG Sd~ AN BT qreroy
AT W B 39 S @) gfd & fog & fagmos aRaR far S 2

(5) Suwradr & fRrféra axa1— fAsmus &1 Seey SuMadr & fRrféra oxer W & Ao gRT SuHiEar
®I AUl a%] @1 SUSLIAT U TAT IFD YA & gR H ATaID SFDRI GG Bl Sl o |

Objectives of Advertising- With the spectacle of a common man,the sole objective of
advertising is to increase the sales but from the commercial point of view,the objective
not restricted to this only.A product is advertised with several purposes.

As per S.R.Davar,"The purpose of advertising is to benefit the producer,to educated
consumer,to assist the seller or salesman to attract the traders by suppressing the
competition and above all this to establish rapport between the producer and the
consumer."As such advertising has various objectives which are follows.

(1)To Introduce New Products or Services- It is through advertising that the people are to be
informed about any newly launched product and induce them to buy it.

(2)To Increase Sales- Another aim of advertising is to promote sales. A trader always strives
to increase sales and with this purpose in mind, he does advertising.

(3)To Create and Develop New Markets-One objective of advertising is to explore and
develop new vistas or markets, which is easier to do so by means of advertising.

(4)To Sustain the Existing Demand-The objective here is not only to increase demand rather
to exploit he current or existing demand, which requires a repeated advertising.

(5)To Education the Consumer-Advertising always directs the prospective buyers to the
sellers by inspiring and educating them about the product and facilitates the efforts of
the producers, this is what the advertising does.

(6)To combat and Accomplish Success in Competition-This is also an objective of advertising
to combat competition success.The products which need to be advertised should be
better advertised should be better advertised than that of the competitive products.

(7)To Increase the Goodwill of the Advertiser-It is also an aim of advertising to increase the
goodwill of the advertiser,Though a consistently regular and frequent advertising in a
most suitable medium and manner,the faith of the consumer can be reinforced towards
the advertised commodity.In our country in the popularity of Tata,Hindustan Lever and
Reliance and many more,advertising has a considerable contribution.
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(8)To Remove Doubts and confusion —One more important task of advertising is to dispel
doubts or confusion in the way of product sales and for popularizing such
product,adgvertising is the need of the hour.

(9)To Make cautious-The last but not the least task of advertising is to warn the consumers
againt the fictitious products , the warning is also intended for the traders,too.

branches and by installing a better technical infrastructure ,he expands his
business.
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ug (Section) -1 L
)

g ued (Objectiv

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

gug (Section) -2
IR—aRIfTs U (Non-Objectivg)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

||@U€—1 (Section-1) ||

e —J8l R 950 IR IS U IR Afed [ T | wWieT 3 3l a8 b 28 U 3y AT
3R 3Mudl T 28 TeHAl & IR OMR SHEET WR <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

q¥dfss g2+ (Objective Type Question)

85.9RITSAT UgaT= | SMaeIhdT Bldl o—
(A) srgwa (B) #R<Te®
(C) 3rgva ©d aRed &1 SYANT g1 (D) S99 A ®Ig 81

In Project identification is needed :-

(A) Experience (B) Use of mind

(C) Both experience and use of mind (D) None of these
86. T afy FrfRra Bt 8—

(A) I 315t Ufshar @ forw mazad srafd

(B) fafframT &1 agell & fofu aiawaes srafer

(C) ReR &IFTd el & oIy 3raeads rdfer

(D) Sudaa & ¥ Big TRl
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Payback period deals with —
(A) Period required for profit earning process
(B) Period required for cost of investment recovery
(C) Period required for fixed cost recovery
(D) None of above

87. gerl fafdre wfadat &1 wg § S SIRew Soid € iR rfAfR¥@ddr &1 |mer oxd & |1 I8 gRwmen
Eil
(A) R odier (B) Sio o %o
(C) two T Arge (D) Two €0 &

“Entrepreneur is a specialised group of persons who bear risks and deal with uncertainty”
this definition has been given by -

(A) Richard cantillan (B) J. B. Say

(C) F. H. Knight (D) F.V. Hane

88.fr=foiRad § & &I A1 Wad—= &= 2|

(A) Brea (B) daet feeelt

(C) mfSramare (D) wdiETETe
Which of the following is a free trade zone -

(A) Kandala (B) Only Delhi

(C) Ghaziabad (D) Faridabad

89.3UHIaT @ He e § |

(A) e (B) Torer<

(C) wgRe DEES
The major concern of a consumer is -

(A) Price (B) Quality

(C) Satisfaction (D) Brand

90.v% T & fad & U@ WA &—

(A) arer (B) Fu—u=
(C) & o1 (D) SR %Y
The Primary source to a company is -
(A) Shares (B) Debentures
(C) Bank Loan (D) Credet purchese

91.T% 7S Bhaesl BT WUd Hx1 & U g5 Maedhdr Bl 8—
(A) g&a Golt (B) 1A @1 g1 WS
(C) war \Hq wrfad (D) armarfaa w3i=
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To establish a new factory, we need-

(A) Large capital (B) Big plot of land
(C) Adequate manpawer (D) Imported Machines
92.f 7 | P19 AT faerT &1 W 8-
(A) RIS aTATaRoT &I T (B) amfafes araraRer @ HHT
(C) gt (D) 74 & P ol
Which of the following is an element of development of entrepreneurship?
(A) Role of social environmet (B) Role of economic environmet
(C) Both (D) None of these

93. %l orTd H wftAferd 8
(A) Tz AT DI AT (B) 59 &I &FTa
(C) = &1 &rTd (D) BRMT

Fixed cost includes-
(A) Cost of raw materials (B) Cost of labour
(C) Cost of power (D) Factory cost

94 . TRIRTT TTfd T 37fSh MIABAT dTel AT 37fSh Wi T 28—

(A)gER & forg @mT 4 (B) 3199 31y &7 & forv TR
(C) wofta wrerer & forw (D) 378 @& ®IZ 7TEI

People with a high need for institutional power are more interested to :-
(A)Ensure sacrifice for other (B) Willing to sacrifice on his own
(C)Among support system (D) None of these

95.fafr RIfar arura &1 wm=a: weiRia fasar Siar &—

(A) |TEROT Ut (B) wfcrera

(C) Tom (D) 57 &1 ®1g e
Financial position reatio is generally shown in —

(A) Simple Ratio (B) Percentage

(C) Times (D) None of these

96. 3RV UTT B ITOET R H F=IfeilRad SRl § 9 -1 GRRkl & &9 H§ T80 3@r
ST B—
(A) P8 (B) wrenr fau=
(C) =t (D) 37 ¥ B1S el
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Which of the following assets is not taken into consideration in calculating acid-test ratio

(A) Cash (B) Bills Receivable
(C) Stock (D) None of these

97.URMRIe =g g # = el & orfq <ol Smar &

(A) mf FwfEt (B) faferam
(C) =ur wq 3fH (D) fafder =
Preliminary expenses are shown in the balance sheet under the head :-
(A) Fixed assets (B) Investment
(C) Loans & Advance (D) Misc. expenditure
98.&faroT fawereror ST SITeT 8-
(A) wrferefier fawereror (B) AR=ATHS fawersror
(C) =&fae fawersmor ' (D) 379 & P ol
Horizaontal Analysis is known as :-
(A) Dynamic Analysis (B) Structural Analysis
(C) Static Analysis (D) None of these
99.faftry faaron & fdem & wnfie grar 28—
(A) 3rrereT ga fagererr (B) gor=T wd ygiy segae
(C) @t T (D) sroam &+t
Interpretation of financial statements includes :-
(A) Criticism and analysis (B) Comparison and trend study
(C) Drawing canclusion (D) All the above

100. @ &1 AR WHY o

(A) PR (B) STHa=I

(C) farer (D) & =+
Power style of leadership is :-

(A) Autocratic (B) Democratic

(C) Free - rein (D) All of these

101. =& —u¥ & fH9 gRT &I &1 $H9 28—

(A) BT &1 TN (B) ®reT &1 AT

(C) @rer @1 yare & (D) 39 & Bl &
Purchases of goodwill by issuing debenture is :-

(A) Application of fund (B) Sources of fund

(C) No flow of fund (D) None of these
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102. i od U $hls dedl & ofd —

(A) ST HH BIAT & (B) SUTeH d@dT &

(C) IcuTeT gaqar &l @ (D) 3774 & P 2
Fixed cost per unit increases when :-

(A) Production decrease (B) Production increase

(C) Production remain same (D) None of these

103. YRd™ AN @ 3T RUAT S TRAT o —
(A) YRT ERPR gRT (B) 71 QY WRAR §RT
(C) AERIEET WXAR g (D) TORTT WRPR gRI

India investment centre was established by —
(A) Govt. Of India (B) M.P. Government
(C) Maharastra Government (D) Gujrat Government

104. o1 R WI-—fAeN srawadman qof & Sl 8 & gRT —
(A) & # Hg=d (B) fre ScuTE 3MeaRd AT
(C) wfreror ®RishH H WrfieRT (D) 399 & P &I

Self actualisation needs on the job are fulfilled by -
(A) Determination of activities
(B)Grouping of activities and defining of inter-relationship
(C) Optimum utilisation of human resources and provide right environment (D) All of
these

105. w3 A A1 fHAr Sfrar g
(A) daat fohameit &1 ek
(B) GHETaRYT Ud Akl & Mol Rl BT FEiRoy
(C) AT1d1 AT T et SUART Td I aTareRer YT Hel
(D) SwRrad a1

Under organisation what is done:-
A) Determination of activities
(B)Grouping of activities and defining of inter-relationship
(C) Optimum utilisation of human resources and provide right environment
(D) All of these

106.  9vic & 3ef B
(A) freareq &1 g @ed (B) wfaey & ®RIGAT &I WM
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(C) F¥aTeT &7 \er faaxo (D) amrenfrad gRemd & 3= &I faavor
Budget refers to :-

(A) Planned target of performance

(B) Use of handling future activities

(C) systematic action and allocation of resources

(D) Statement of expected results expressed in numerical terms

107. ST W Ydd NS IR U9 qHT BT 9RT I hIdl 2—
(A) 35% (B) 50%
(C) 75% (D) 90%

Higher-level management spent on planning part of his time :-
(A) 35% (B) 50%
(C) 75% (D) 90%

108. J=fAe yew & fudr —

(A) fireTsier (B) TerR

(C) e (D) 57 ¥ BIg =
The father of scientific managementis :-

(A) Gilbreath (B) Taylor

(C) Robertson (D) None of these

109. fviH &1 B § —
(A) =1 gaer (B) e gawe
(C) 3= uer (D) 4T Yagah g wR

The function of decision — making is of :-
(A) Lower management (B) Milddle management
(C) Top management (D) All level of management

110. I Ue=T A AT Bl —

(A) @M BIeT & (B) =1+ Brfl @

(C) P1$ T <& (D) 5% & B =&
By scientific management workers :-

(A) Benefitted (B) suffer loss

(C) No effect (D) None of these

111. =1 g A WP $ BRI P °vSl A BN B
(A) If& (B) &1
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(C) &1 yva & (D) 351 & B 7

By scientific management working hours of workers ara :-
(A) Increase (B) decreased
(C) No effect (D) None of the these

112. ST 9 B9 9T RG] IURTY T 2—
(A) SR §THT (B) wive wR =4
(C) STET BT I (D) aa+

Which of the following is not factory overhead :-
(A) Factory insurance (B) Depreciation on Plant
(C) Drawing office salary (D) salary

Multiple Choice Answer 1 To 28.

(1) C (8) C (15) D
(2) B (9) D (16) D
(3) C (10) B (17) C
(4) A (11) A (18) A
(5) C (12) C (19) B
(6) B (13) D (20) C
(7) A (14) A (21) D

%k %k 3k 3k %k 5k 5k 5k %k %k %k %k %k %k %k >k >k ok >k >k >k >k %k %k >k >k %k %k %k %k %k %k %k %k k %k k
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“ Hug—|| (UNIT-II)||

g I e (Short Type Question)

e — Il 98 IR g S g3 7 W g ) q¥ier § o9 vE 8y Ay Wi iR Al 8
Uel ® SR AT AR BEIT | UAE U A & BT BT | SR TNl H 3NY g™ ORE W Ul B
IR T T I 3fd U B D |
(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answer to all 8 questions are compulsory. Each carries 3
marks)

e qTareaReT T 2

What is Micro environment?

GeH IRV H S Al 1 9o BIAT © R BUR & UTSD] BT I fBAT Sir 2| A el
dTe} Bl @ URg BUAl Bl ITTR eI BT JHIAT BT & | 39 ATGTAT 3 A1l B Gl a1 arel Heawe]
UicRINT UTEd e ST T & | ARG 34 gcdhi ol RIS f&ar S |@&dr 81 3 gcd ged
IRl &1 arvet S1fde UMY B 2 |

Micro environment refers to the strength of are external yet do affect the marketing
strategy of a company these peculiarities include the suppliers and the mode of supply,
competitors, consumers and the public etc. Generally, these factors are uncontrollable but
as compared to the macro factors, these micro, ones is more effective.

A—ITS Ud e e ar 2

What is profit planning and expenses control?

AT fohamell &1 fIdR &_d 7T el &I ™ Td A & Heg | U IS Aol g9 A1y |
IEHT B A AT B DT &FdT TR [Iha o A1 Td ARTal &1 T&-T 919 USdT © | S ARTa—H 131
AT BT AT RS FGART DT AT 37T DR DI AT BT Hedih B 84T a2y | Bl | Fa
& oy =FaH Ay &1 A3 A1 B ST Aniey |

An entrepreneur while expanding his business must carefully plan with regards to his
profit and expenses. For ensuring a good profit and his potential as such gets affected by
the sales volume and the rate of expenditure. He must keep on constantly evaluate his
proficiency in profit generation by analysis cost-volume profit. To ascertain the ways of
saving himself from the losses, he must consider the continue his study of the certain
change taking place in terms of prices, investment and other factor to ensure the
achievement of target profit.

IHIAT (J1d) <TRIE a7 87

What is outstanding liabilities?

BT SR AT I YA A § Sl b GAT §RT AT AeIHT & oy agaii a1 3= Aal

DI B I HIRT T & AR I YA AR D1 & U AT DI Abdh? AT & qqqID BT
122




& ot H fhar Sar €, SR SMyfiedl | WR @ g WRIE B ® 3R MYfiedl ¥ wRT &
faea &H 81 ST 21 39 UBR IHIT I H SHBT Bl ASTqR] HHATRAT BT Id-, &Tel, &M BT
fopxran, fastell, Uit &1 fadt, B, Pear 91t gTfe @1 Affaferd fear Sar 2

Outstanding liabilities refers to those payments which are organisation accounting to its
requirement has taken some conditions or other material and the payment of which is still
outstanding as the cost and other expenses are the outstanding liabilities of an
organisation. Many times, the organisation by stopping such payments, are invested on
the important tasks of business organisation but this kind of strategy spoils the
organizational image,. Such outstanding liabilities include the labour, wages, salaries,
loans, raw materials etc.

4. URATS & IR WI ddl Dl ford |

Write four salient features of the project.

RIS vfcraed d FforRad ggqell & a # dfera fqavor f&ar ser =nfge—

I GRATSTT BT RIH W BT 7 AT ol R foram a1 2?2 a1 uRare wrd srAifed s
&3 § 57 RIT Ig UKIad uRAeT @ folt Sudad 8?

Hodl AT T A9 I ST HRAT B8RP IfT B O |7 ded Tl &l UIfd & a7 82 /T 59
ST g R PRI S99 U A S Fare

I QA @7 SMIeHAT Bl AT Widpd WG ¥R, ofad &1 Yl 7 ¥ A= ST ®Ri &1
3 |

B 5 R A &3 H BT 5H Iy 2° IR A8 A1 59 DI URIET B & oy r gaRem &
g 87

The following aspects must have a mention in the project report:-

1. Site :- The project site is the personal belonging or taken on lease? Is the project site
is located in the approved industrial area? Is it adequate for the proposed project?

2. Raw-Material :- Is the row material to be imported from abroad? It yes, has the
license been obtained for it? What are the sources of row material? Will it be
available at reasonable rate?

3. Power :- The need of the quantity of power, the approval for its consumption,
stability in the power supply and various consumption rate are referred to use.

4. Skilled labour :- Is the skilled labour available in that specific area? It not. What
provision has been laid down to import than training?

5. UdH 30 Yol IR fIReany &1 quid & |
Describe four characteristics of a good packaging.
T 0 Yol § = fageam g =nfRu—
1. SFTHYY Ubsl VAT 81 Sl Sl BT &A1 ATDhivd B | AP Ufugicaeaqy § Ubsl o I8
faeryar favy #Egc@Eyol & | U Ued URW ¥ € 9% Pl T8 WY 98 Udbel § yHIfdd BleR B
I DI SE@E DI FTST UdhT BT 2 |
2. UEAM VAT & RS 3 ¥ U89 Ol | i UhdR @+ & Ul I8 S dobld ygar
D |
3. Bfd I BIAL, S UEd & A H I @ Ui B UaT B I AR I d910 I |
4. BT SINIA AT Yol U1 B RO SIdH) IT8dh & A9 H IG Bl YT IR DI $28T SN 8 |
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6.

A good packing characteristics are following:-

1. Attention- arresting :- Packing should be such that captures the people”s attention. In
the modern competitive era, it is the package and its characteristics which are very
important.

2. Identity :- A package must be easily identifiable that means that just looking at it
once, customer easily makes it out.

3. Interest-evoking :- The package must be like that it evokes an immediate interest
towards the product and sustains that interest.

4. Creating desire :- Packing must be so attractive as it create a passionate desire in the
onlooker”s mind to possess it.

7] ArIfral T 82

What is current assets?

=T Al & SicTa 9 FRfadT STl & fS@T JErr AR H FRAOR 991 I5d1 © S+l AR &
U AMRI A Giidbla & fax Jbe H My & uRdfad fHar S Fadr 2| IameRv, Jdbe ddb 4
AFe, TR, U 91, gdad &9 Ry ¥efd a1 Rl Td 3reudlel faf T onfy |

Current assets refers to those assest which continue charging rather than being fixed, viz,
cash in hand, cash at bank, sundry debetors, Bills receivable, closing stock, paid income,
marketable securities.

A—fdzog fawg &1 FeRer &9 8T 27
How Break-even point is determined?
Fr-faeg fog a8 fag 21 R R 9% & 99 I 3R &9 R 8 & | 39 fog 9 fAwa &
AT A% B W GRAT B A B I © |
ST TOET # i g3 &1 vanT fear S 8-
BEP = £ x 100

STal, F= il arrd (Fixed cost)
S = yartad faent (Projected cost)
V = faeRoreid drTd (Variable cost)

Break-even point is that point on which all the income and expenditure of the institution
are equal. The institutions of the institution are equal. The quantity of sale is more
beyond this point.

The following formula is used in its calculation:-

BEP = x 100
S—v
Where, F= Fixed cost

S = Projected cost
V = Variable cost
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|| gus—|lI (UNIT-III)||

<re TN w2 (Long Answer Type Question)

e — I8l 98 IR <" ST Uy A W g | wer H 3 dRE 3 U ¥ S &R | 3 Al
@ IR AT AR BT | U U B b B BN | 3R GRIeT H 3777 1 '8 ¥ Yol & IR
T TS 3AH UT B A |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

(1)

(2)

(3)

(4)

(5)

(6)

&g RO & A= bRl B fade SISy |

AYTHIBIOT — HHY BI Gle § I I8 & [olU AEH Pl U IS Dl MYAeb Bl T &l
BT | U8 JMEADBIHRT IAE & I, e, MR, 918, Mg daiid & JanT fe & gRT
fhar ST Addr g1 39 AT I Uh 3R 8! U SHhIs aINTd 8RN, a8 UTEdhT & Ad-dd o &l
amyfel &+t <= |

fIRIARYT — Ush Hhel Al 37U Iad av § | Fel sIdl dfod 98 AU IATE D dIolR
Bl AR QAR T dIOIR GEHR U IeUTe &HdT eIl & H/B T IR Wieldl & 3R HLhA
T AR 3R AU SUHH bT fORdR HRar 2 |

fAfefipRor — U &) TRE SAUTE aTel SUPH BT fIRARIGRT Uh AT & d1€ SIRGH I ¥_T BT 2 |
3 gaAE daoRe Rfa <@d gy W fafdeiexrer & A o= Sugad 8l & | I8 gaiorg
AP © Rifh AP IAE b TP SY AT Bl © | 3D 918 S0 &R—IR Wd: FH B STl
2 | fafaefie=or a1 a1 S TR & STe 2o § A1 fdeqdt SfelT YU H B Il B | O W HUAl A
T SR 9 HRYSR, Wiol, aRMT AAF 999 H U bl e forr| s @8 -5 ol (&
SORIRAT Husl off, WHve Iares § o T |

gfoRemfiRer — I8 T a9 AR Sl 8 19 |rEsdl & U1 o o fb 31 acHe Sare Bl
DS 9IeT T8 T 3HD AT adHH AYAfId & I8 | SAE Pl A3 Al Jad S |
gfoReIfid B T SIar 8 1 SN— 18! Ol $edd & IF 9R AV dfel U9 &l Sared fhar S,
gfoReITas &1 21 oI B

femdieRer — Iuad |1 RO 3T<IR® Bkl © 3TIi SUHA & <X & oI Nl & fobg
faemdienvor arer Yo € | I8 Ue B UGfd @ Q1 A1 &1 | Afde Iuhd U H e Wi § A
R PIS gl fbdl BIC SUHH BT 3= Tr AT B ol 81 VAT 89 9 BIel SUhH g€ 81
I 99 AT ? IR W A 9 B A1 FHIRd 8 ST ® |

HIF IUHA — Ig A IH FHI TR Sl © | 59 SeHI BRI Bl 3ol B UM H FEH AL
BT 98 AR I ARl & WEAN A S Iddr /BRI BT R BRAT B | TE Th ORE B
ARER & Bl 21 ok R a8 ' 0 WYad SusH e U 81 9 & 918 Wad: 9AT 8@l
ST |

Q(8)-Explain the types of growth strategies.

(1) Modernisation — In order to keep pace with the business race,an entrepreneur must
ensure a constant process of modernisation of his merchandise,by means of
colours,types,size ,design and modern techniques .In this strategy, where the cost per
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unit will be low and on the other hand,the desire of the consumers for acquiring new
modernised merchandise will also to satisfied.

(2) Expansion- A successful entrepreneur never feels satisfied with the present profit rather
continues to explore new vestas in the market for enhancding the rate of production in a
better way . He opens new branches and by installing a better technical infrastructure,he
expands his business.

(3) Diversification- The organisations manufacturing the identical products reach a state of
saturation which acquires a risky proportion. In wake of the current market conditions , it
would be advisable to resort to the strategy of diversification.lt is also essential since the
life of any product has its own limit and thereafter, it starts disappearing from the market
scene.Diversification may be in the product itself or it may be entirely different.It is like
the L.G.company which manufactured television has now diversified to computer,fridge
and washing machine,etc. Similarly ,L&T which is an engineering company has switched
over to the production of cement.

(4)Substitution- This strategy is adopted when it appears to an entrepreneur that the existing
product has no future and is heading towards obsolescene,thus it is to be substituted
with another product such as a new ball pen instead of an ink pen, is an example of
substitution.

(5) Merger- All the above-mentioned strategies are the internal ones which remain in force
within the organisation but the “merger” is an external strategy. Here, two or more
organisation come together or by a large enterprise, a smaller one is merged with. By
doing so, the smaller enterprise survives from being closed rather becomes one with the
mightier one.

(6) Joint Venture — This strategy is adopted when an entrepreneur lacks competency of running
any enterprise at his own and seeks support from others in running the company
successfully in a form of partnership .But the difference here is that in case of joint
venture, the ownership, does not remain distinct after the job is done.

9. dNTd BT FAT e 77

JTR— HTERYT 9N H ANT BT 372f HIHd A Bl 2 | AkDIY & JJAR AN bl AU fhf
I P TEH H YA DTS DAd A B R AN oldldbd H AN dEd A B g fafe
g 3 rTa &1 f=ifed uer 3 aRalRia faar g—
e RIfRT &f & AR~ dNTd 98 A & O fhdl fafdree g & ura &=+ gg Qmm e |
30 o THO U0 &ied @ IFUR, ” WNd 98 ¥ © ( aRdidd 3fEr difediia ol fahdl fafree
I 3T e & T | g T T3 3fEr PRI @ S | |
ST IRATNRAT & qu I WS 2 & AR I WU I BI fell IR1 A BIar &, Sl bl 9%
faerer R aRdfdd < 3ferar HIAd &I TS 8l | I8 fhel a¥qall & Ired Ud fasha sferar faur
AAT BT T B AT fHA B BT T B W BT T8 8T | 3 v&] H, AN I8 o I
BIAT &, Sl {1 a% o1rar Wa1 & IAe Ud Iy A R 8l | IR0, U bS] Bl Hol
FAM IR AU, SI— DS, Dol Td UifeleT @1 oFTd, dgs @l &l g Joigel dl 3 & ol
SRET BT fbrET vad fagd gy afe w9l oTd €1 59 94 &l felldr ol INd <gdl g &l
AT B |

Q(9) What is meaning of cost? How does costs are determined?
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In simple words cost means the price of a product or commodity Dictionary meaning of
cost is payment made is lieu of something. But in cost accounting the meaning of cost is
different from price various scholars have definer cost in he following ways:

(1)According to Gordon Shilling Law,"Cost is the resource that has been or must be sacrificed
to attain a particulars objective.”

(2)According to I.C.M.A,London ."Cost is the amount of expenditure (actual or notional)
incurred on or attributable to a specified thing or activity."
From the above definitions it is clear that cost refers to the amount of
expenditure,whether actual or notional incurred on .a specified thing or activity .This
could be the expenditure incurred on production sale or in rendering services of any
nature or in execution or completion of any work of assignment.In other words cost is that
total expenditure which is incurred on production of any product or service or is related
to.its sales or marketing.For example- the material required to build a wooden table, such
as- wood ,nails and cost of polishing ,wages paid to the carpenter and other related
expenditure ,such as —Factory rent and electricity expenditure etc.The total cost to
manufacture a take shall be inclusive of all these costs.It means that the cost does not
include the amount of profit .

10. v — fIoE &) Uafd &1 aui= oY |
SR— IS & U oIeTor iefe] Ueplar Feforiad 8—

1) iR Stea vd o 81— o fuiRa @ vd Seeg @) gfd & ford fasar Smar 8, o
RIS FRIGTS $9 Fed BT Fad &M H AT § 3R I & AU AU IS G 6 |

2) QaHE SEIET — RIS BT §ERT J8cyUl oferor vided & aR H |raer i aigars o
g | 39 folt Udh— e S Qaiga™ oy oI & |

3) VRIG— Uh 8T H dadd Th AT 81 Brafead &l ST ddbdl & it af faf= aremei &
B9 W gfaem, wifsq U9 sregeRerm herd |

4) fafr=1 dpfedd fohatell H | HaldH &1 I9— Uded & G (a1 der, AIfcl, et qen
HRIHA B & | SAD! i B & foly FaraH fddbed &1 A1 BRAT BT & | SUHH DI Aherd]
980 BB 39 TIT B IR R & R el 2|

5) RN @ AdATGd— Bls Afdd a8 HHT BT ede] 8 IMRAAT ARIRY BRIT— G138 &
TP WX TR A &Y MaeIdhdT ISl & | Fed &l W) fora=m sifde Sar 81, e
HT &F IAT B 3 (IR g IS BT |

6) FEeH e FR=R wd dregad ufhar— e &1 Ue Agagel devr I8 91§ f& g
FAR=ORAT Ud ol R84l a1fgy d1fd geerd! gs URRACRIT & U s94 faedd gRddd fabar
ST ¥ |

7) wIfe R — A geed & Yie e g | i A gesee ufdar | RIS @t
AU UG Fayqe fQgm SIdr g, 3 Al B RS & e ol e fhd S 2 |

Q(10)-Describe the nature of planning .

Following are the main features or nature of planning :

(1)Definite Objective and Goal: The planning is done for the fulfillment of determined
objective and goal.Therefore ,every planner always keeps this goal in mind and plans as
per thesegals.

(2)Forecasting:The other important feature of planning is to think about future i.e.
forecasting.For it forecasting such as one-year are made.

127



(3)Unity : Only one plan can be implemented at one time because there will be confusion,
illusion and disturbance due to two different plans.

(4)Selection of the Best among Alternative courses of Action : There are various goals
,policies,methods and programmes before the manager.The best alternative is to be
selected to complete them .The success of the enterprise depends almost on the basis of
the selection.

(5)Pervasiveness of Planning : Planning is needed at very level of the organisation,let any
person be the chairman or the ordinary foreman of the company .As the level of the
organisation will be higher,the field of planning will be more vast and comprehensive.

(6)Planning is a continuous and Flexible Process: It is also an important feature of planning
that there should be continuity and flexibility in it so that necessary changes could be
made in it as per the changed circumstances.

(7)Primary Function: Planning is a primary function of management.Planning is given first and
foremost ;place in any management process,all other works are completed only after
planning.

11. go— 9o fagersror o1 87 I8 &3 Sd fhar Sirar 87

ITR— I S1d FaAI | AT Yfdee BT 8, 99 Rl oM T8l 84 NIl diod o el a& U
CH A T B B AT R e o Tsdl g1 9 AT 9 NI S qH—fdeeg
fageieror Brar 8 R9e) SMer) a1 U Sedl & ol siasas gidr 2 |

fas! &1 g8 favg &l ggdr™ & 7 o™ 8 9 ', - gH-fdwe 9 dedar § | I8l sy
I { AN & SRMER BT © | Bl H IR 1 uRdaRiiel Fl Wi B 8 SR dig il
faepl wRa AT 39 [d=g &1 &9 XEar @ ifd 39 fdwg 9 e [l ™ ua™ ol iR 599
I @ I | ' B8R

U W B FERIdl 9 I8 1 8 Wl ® fF I & fed R ) Iy & fedar av ar

e g1 BR1?
| P
15 = __:"_:--""-
= | .+
:._.-4"
ra
—t .
A
|.
III I I Tl LEHER | T I
|'“||..|..l iT o i e -'.'-|'|'.'-l =l
g3gc % % SIS IE EH% O,UUU QU/IQ QI Ml 1U,UUU Q49Il CI, =N oI 3,000%0 é)r le | 335

RGN YR Y IIRA BT & Sdih NI NI 3,000 ¥ Y& Bl & Hifh [l B T8l 91 8 dl W)y
ST 3,000 &9 &1 | 3fd A SFI N Ueh N I RO fdwg WR PIedl 8, 98 "F9—[dees’ daadl
2| 399 3Ifd o) & dem &9 e g1 &1 @ids 2|

Q(11) What is Break-even analysis? How it is calculated?
When the entrepreneur enters in the business for the first time,then he does not get profit
immediately but he has to run the business for some days on the policy of no profit —loss .
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The calculation related to this policy is called Break-even analysis and to keep its
information is necessary for a entrepreneur.

The point of sale where there is neither profit nor loss to the business is called “Break-
even point”. Here sale value is equal to total cost.The fixed and variable both are include
in total costs.The entrepreneur keeps this point in mind while doing any type of selling
because the more sale from this point will provide profit and there will be loss from the
sale below this point.

It is found out with the help of a diagram that how much profit or loss will the
entrepreneur get at which level of sale?

It is clear that let the production be 3,000 units, the fixed cost will remains Rs.3,000 only.
The sale line stars from zero where the cost line starts from 3,000 because if there is no
sale then also the fixed cost will remain 3,000 only.Now the point at which these two lines
cut each other,is called”Break-even point”. The sale more than this point is the indicater of
profit and less sale is the indicater of loss.
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g ued (Objectiv

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

ug (Section) -1 J
)

gug (Section) -2
IR—a&gfTs u= (Non-Objective)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

@ug—1 (Section-1)

e —I8l W 9gd IR RIS U SR Afed o T 7 | w¥ie ¥ 3l a'E b 28 U Iy g
3R 3Mudl T 28 TeAl & IR OMR SHEET W <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

q¥dfss g2+ (Objective Type Question)

113. faf¥— grdsifae Suifidr & deemsh o gt 9= § ST eear g 28—

(A) =re] Gl (B) =l gHfrit

(C) Breufad Fwafraf (D) 74 & P ol
Various public utility undertakings have to invest heavily on--

(A) current Assets (B) Fixed Assets

(C) Fictitious Assets (D) None of the Above

114. SURAT & IUS IRIY TN B & | —
(A) Ta—gorT (B) aer@endr
(C) s (D) 7 & &g T

Barriers to entrepreneurship stifle--
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(A) Innovative (B) Profitability
(C) Uncertainty (D) None of these

115. SufRdy deor = 9 g 8-

(A) BRI Gold aER (B) &9 goiv aER

(C) STiRRgw ared <ragR (D) 378 & PIs A&l
Entrepreneurial traits deals with---

(A) Job providing behavious (B) Profit seeking behaviour

(C) Risk taking behaviour (D) None of these

116.  STHAT e RIHA & MAETHS Jolih 95 o—
(A) FTerHS Aifr
(B)Sugad = UfhaT BT 34
(C) =1 2ol @t At Ud argard et gd uineor

(D) S

Critical evaluation points of entrepreneurial development programme are —
(A) Organisation policies
(B) Lock of suitable selection Procedure
(C) Low quality of technical and vocational education and training.
(D) All the above

117.  wderarg Fofa qred 2T anfiRe—

(A) FHafed (B) =it
(C) uRafca (D) fFrafraa
Managerial decision should be :--
(A) Edited (B) Postponed
(C) Changed (D) Suspended
118. =T Sifa &1 Udb drf 8-
(A) TR (B) @d
(C) o (D) F&relt
Control is a function of instruction:--
(A) Misused (B) Expense
(C) Profit (D) Employment

119. IS 9OiR @& forw SoRerl =7Ef 8-
(A) Trere (B) wRem
(C) @1y (D) a¥qy

132



Which of the following is not responsible for capital market:-
(A) Liquidity (B)Safety
(C)Fund (D) Material

120. &9 RAfq 4 ofer & Jou H§ w1 o7l &—
(A) 31 Gofrepvor (B) sreq—Ysirepror

(C) wwrst (D) aToIR

In which condition price of shares decreased .
(A) Over- capitalization (B) Under-capitalization
(C) Society (D) Market

121. fo=foRaa & & @19 91 yideT 2 | —

(A) gr=fa (B) 3fer 3mrde+
(C) Sty @1 e (D) SRl &1 Arfiery
Which is financial encouragement :-
(A) Promotion (B) Share allotment
(C) Security of service (D) Participation of employees

122. Y9 P A%erdl Bl UrIfBd ded &—
(A) Fgre HHar (B) srcaferar Gft
(C) &1 TR (D) sifdrpam SaareH

Primary element of succession of managementis :-
(A)Satisfied workers (B) Excess capilal
(C)Big market (D) Excess production

123. Ud 30 SSHTG P MMaIGHhal el gl a—

(A) 3ot 3 (B)fasy oo &

(C) 918 == # (D) Scure @1 SuYerid]
No need of a good trademark —

(A) In English (B) In special series

(C) To remember (D) In utility of product

124. Ud B & ST AR & —

(A) #iiferp (B) aniiferes
(C) wrfereer (D) Fif¥=ra
Which type of assets is goodwill of a firm —
(A) Material (B) Non- material
(C) Movable (D) Certain
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125. 99N & ERT KRR fasmus &1 faRe foar orar wifes g8 afl—ad gar &—

(A) emarerst (B) atfdres aprerer

(C) fear qui (D) S
Advertisement is opposed by society due to —

(A) Cheating (B) High price

(C) Wrong statement (D) All of the above

126.  SuMIad GRefU UTRd B3I o —
(A) 1786 (B) 1886
(C) 1986 (D) 1996

Consumer protection was passed in —
(A) 1786 (B) 1886
(C) 1986 (D) 1996

127. 9Rd ¥ HRRT IR—WRGN G687 & —

(A) drsa (B) ®iH Bl
(C) gt (D)&rs =&
Working non-government organisation of India is —
(A) Voice (B) Common cause
(C)Both (D) None of these

128. QUi fadarel & fFaer &7 srave o 2—

(A) T iR (B) Frerira
(C) fe—=g (D) ®1g &1
The machinery for settlement of consumer disputes is —
(A) One - tier (B)Three - tier
(C) Two - tier (D) None of these

129.  faUuE @R € —

(A) STEE! (B) farspar=ger

(C) uTEehI (D) & d=r
Marketing concept is —

(A) Production — oriented (B) Sales — oriented

(C) Customer — oriented (D) All the three

130. 3fY &R (G) @ & AN B g # yelRia fear Siar g
(A) Tre] TR Ud UTae™ AS & ST (B) w1 Td RIY AT & I=id
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(C) 3fer S @rar & 3=l (D) oTRf&IT =0T & T=<id

Balance of share forfeiture account is shown in the Balance sheet under the item —
(A) Current Liabilities and provisions (B) Reserves and surplus
(C) Share capital Account (D) Unsecured Loans

131. 9 31UId DI HHERIC: YSRid fdhar SIdar 8—

(A) |RIRYT S urd | (B) wfcrera #

(C) qom # (D) e & g &
Profitability Ratio is generally shown in —

(A) Simple Ratio (B)Percentage

(C) Times (D) None of these

132. <19 9re] U 2:5 31X =Te] &Tic@l @ 111 Rs 25000 2 d =1e] W¥ Rl @ 11 a1 grfl 2
(A) 62500 (B) 12500
(C) 10000 (D) 2000

When current ration is 2:5 and the amount of current liabities is Rs 25000 what is the
amount of current assets. —

(A)62500 (B)12500

(C) 10000 (D) 2000

133. 9 P 10000 B, Tidh 25000 B, YT fdeT 50000 B, SR 22000 8 3R 9 3BT 8000 B

AT =re] U BNTT—
(A) 2:5 (B) 4:3
(C) 3:4 (D) 1:2

When cash is 10000,stock is 25000, B/R is 5000 creditors is 22000 and Bank overdraft is
8000, then current ratio is -

(A) 2:1 (B) 4:3

(C)3:4 (D) 1:2

134. = ¥ 9 o9 A9var Tyt &1 8?2

(A) 1 ferfera (B) S=a |G &R
(C) 1feres gwTaemel! (D) SIRRH |+
Which of the following is the attribute of an innovator ?
(A) More qualified (B) Memorable
(C) More influential (D) All of the above

135. I8 YA © * S YSHH W 91 eIl © | S Fd-Yddd Ud Yddd qH B |
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(A) S % T griIeR (B) BR¥ B<H
(C) dier th gax (D) SRIad # & PIg &

This statement is --
(A) Joseph A. schumpeter (B) Forest Frantz
(C) Peter F. Drucker (D) None of the above

136. Ig HUF 2 " TaraR SEdr o fAafl¥ne Susvr g |
(A) SE% U gedeR (B) miRe Bed
(C) drex uw. $ax (D) SRR & & PIs 8!

This statement is --
(A) Joseph A. schumpeter (B) Forest Frantz
(C) Peter F. Drucker (D) None of the above

137. 9= ¥ 9 Fd@R &I 3[R i Wl 87

(A) @rafie faR @1 gga= (B) wrevarg &1 ST
(C) afRarSTT ufcrdest &1 fAmior (D) SwRrerRT wt
Which of the following is a stage of innovation ?
(A) Identification of business idea (B) Bussiness planning
(C) Formation of projeet report (D) All of the above
138. ISMG USH & STHQTT HIiF A7
(A) Ta.Ts w4 (B) ST3*R
(C) T%. S TRk (D) are JeoT
Who was the father of scientific management?
(A) H.S.Person (B) Diemer
(C)F.W.Taylor (D) Charles Babbage

139. ISP Y Hd TR BT 7
(A) 1913 (B) 1832
(C) 1903 (D) 1923

When scientific management was introduced.?
(A) 1913 (B) 1832
(C)1903 (D) 1923

140.  J=fe ue=r & Scure BidT g—
(A)3tferdaH (B) =g=1aH
(C) wrm=a (D) s & ®1E el

Production in scientific management is---
(A) Maximum (B) Minimum
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(C) Normal (D) None of these

Multiple Choice Answer 1 To 28.

1-B 2-A 3-A 4-D

5-A 6-D 7-B 8-D

9-B 10-D 11-D 12-D
13-B 14-A 15-A 16-B
17-A 18-D 19-D 20-B
21-C 22-C 23-A 24-C
25-B 26-B 27-A 28-A

%k 3k 3k 3k 3k 3k %k %k >k ok 3k 3k %k %k >k %k 3%k %k >k >k 3k 3k 5%k %k %k >k >k 3k 5%k *k %k %k %k %k

@ug—Il (UNIT-II) |

g TN U9 (Short Type Question)

reer — I8l 980 AR oY SR U Y M g | u_ier # gl oRE 8 ued oy Sid SR |l
8 Ul & SR AT fard BT | S U < 3fd BT BRI | SFIR URIET H 39 X TR | UL B
IR T T I 3fH U I D |
(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answer to all 8 questions are compulsory. Each carries 3

marks)

Ques-1. What is legal factor.?

T TCh T ©7
Ans- TRGR IO AR IR HTFA g§RT SEF-—aarg B (R aell § o/ 39 °cdh & dord
TATERYT BT GATAT BT TIAeD & | BB SR B a1 Wrdui+e & & foay gRIET @ o@r 8 O @8
H < <1 STl 2
HRETT AT, RATH Aoy JRRA I A fe R ST qqr™ y91fad 81 ¢ |

Ans- Any government regulates the trade activities through its industrial policies and other
legal factors. The business environment continues to be vulnerasle to such factors. Some
categories of trade remain intact in the area of public sector and some are liberated from
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such legal constraints. Industrial laws, Minimum ways Act, policy of nationalization etc are
the factor which weild their influence on trade sectors.
Ques-2. TR SIRGA # H T HHSd &7
. What do you mean by career risks?
Ans. TRIGR SIIRGAT A ST fhdl U AT e Pl BISHR G URT B AT SFH NTHA BT S &
<M H 30 U H Y G U BT SIRGAl | B (|8 U A T RIS D TG G YAI BRAT DS &
SITAT € | SIT:Ia<Td BT URY &R § aafdd gRT 3199 U &1 &fd TR o™ & SIRGAf g™ 8kl &
Career risks refer to this conditions of abandoning some profession or job and undertake.
The setting up to an enterprise and in case of fiasco, returning to the earlier pre-
occupation involves a great deal of challenge and risk. After a interval in some of the
professions, return becomes greatly difficult. As such ,risking one”s earlier profession over
remains an impossible and daunting process.
Ques-3. Ife fHAr gRASHT &I AWTT 1500000 8 Ud HH &I affd JJdbs 3f<Idig 600000 &I, I
AT A BT TOMT o |
Ques- If the cost of a project is Rs 1500000 and the firm a receives annual cash in flow of
Rs 600000 find out the pay back period.
Ans - P=I/R
Where, P= Pay- back period, I= Investment or cost of project,
R= Return from investment

Given,
Cost of Project (1) Rs 1500000

Return from investment =(R) 600000
1500000

600000

=2.5 year

So, Pay-back period is 2yrs and 6 moths

Ques-4. T Aifd @IT 87?

What is dividend policy ?

Ans- AT HET ISR AT AT AUART € A7 SH Tba oA™Yl fIaRe & oy a1 wriefier doit @
JATIeHAT B (gD fAURIT B AT AT AT fIaRT €1 81 Bl & TAT 980 BH &% W AT BT
fIaRoT ARl 2 3ferEr AR Fde 9 fIIRT e a9 e & AT Bl § a1 99 BH BRI Yol
DI MITIHAT BT |

Ques- 4. What is dividend policy?

Ans- When an organization adopts a provision of dividend policy, it requires a large
amount of working capital for the disbursement of dividend. In other cases, the companies
which do not disburse dividend or disburse at a very low level or issue the bonus shares,
new a lesser amount of the working capital.

Ques-5 . &S AT TAThIE YRG! &1 w7 My 8?
Ques- What is meant by cut-throat competition?

Ans- AN H IR dddl RIFE, XY T R aeadarsil o gfd & fog T80 afug
RIS araeaaarstl & gfd &g fbar Sam | Si—oi Sadred 3§ gig 8 81 2, IR iRl &l
ﬁwaﬁ@%‘,Fﬁ’—?ﬁma@?ﬁﬁlwwm?ﬁwﬁaﬁmwﬁr%mw%

ST =T AN WR SIIHaH IATET B § Al 8 UI © |
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Ans- In the contemporary age, the production in not meant to cater the need at the local,
regional, state or national, levels rather at the international level,too. It is like, that the
level of production is increasing and the market is growing at the same time, competition
is also increasing in this cut- throat competition ,only that business would survive which
can elicit the higher sale of productivity at the minimum cost.

Ques-6. TFTTe! TR BT I 91 daeqd 82 What is meant by Preparing Question-naire?
Ans-fH=l 1 diolde R B &-d @ oIy I8 maeas 7 & o vy 9 9afda weemaell TarR &) o)
M Al ST9 37 AR H 999 a1 SY 9 9 JeEell d o Uedl &l yuax Jaedd g
TR @1 ST A | STal d% & Fd U1 &1 g1 $9 a¥8 [Ha1 ¢ s SR 3d ged o |

Ans- Preparing question naire is important for working on a project, to be done and a
question naire on the subject is to be prepared so the when these institutions are visited
to, then the questions could be selected for getting information. As far as possible, the
questions opted for the purpose should be the most important ones.

Ques-7. G g #eM W w8 faavor 77 | Write about Plant and Machinery in brief.

Ans- ITed fhamell & HeTeld vq e I, LAl , USRI, HRITTARN (S BT el sl ©
ERSC gﬁ;ﬁaﬁﬁga b AATEHRI ARVl & ech, [, el gl W= WUl offs R 1 &9
pAT I

Ques- In the process of production, various machines, equipments and workshops are
essentially required, apart from it, technical advisors, emolument of experts, rent, fare,
moulding machines etc. also involve a substantial expenditure.

|| gug—|lI (UNIT-III)||

<re TN w2 (Long Answer Type Question)

e — Il 95 IR <Y ST U Q¥ W | wie | S dvE 3 Ued QY S SR W 3 gl
& IR QA AR BN | YD U ©: 3 b1 BRI | 3R W&l H M7 S g A Ul & IR oIl
T TS 3fH U B A |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

08. u¥d — Usp |redl & fog uRaAre 1 ufddes a9 A b1 qrar &l eare § @ A1fee?
IR — el & oIy gRATSHT gfeda &1 Hare &-e1 9gd sfaeds € fb=g s9a!l e MRked wuv
FeiRa 81 & ST Havdl i IADH IUhA DI Uhld Td ATHR RT3 Bl © | AFI:

gferdas &1 AT BRa F9g FfaRad g qrdl UR &1 <A1 Anfgu—
1) 9M fqavor — g9 ¥fiefe | el &1 9/, udT, JRAdT, 3Md JAMfe BT 9o fdar Sar 2| afa
SUGH AEER & w9 H g 9 AReRl & e iR afe e e Uty # 81 A1 yadal @

fqavor fear ST =Ry | g A1 1 uRAe T 5T ST o ARtad @ SEal |l ddrel 3R
TAH BT ReIfY, T onfe &1 favereror fear ST a2y |

139



2) aRASHT H1 fAaRe— g9 ¥Rl ¥ gRASHT SRl IR0 MR & Sl § | O— I8 el
Rerd 8R’? g8 oIy @ear A1 9 I SIS BBl H Td DA Il IR SIRA? gH@d oy
MR ERAANY Si— U, IS, oM, Irdrd sanfe &1 a1 gawer gRf? Idred &l o
UishaTall | I[ORAT BRN? §9d (oY IF3—HIH Hal A, fha- H IucTed BNT? $d! &l a1 BIil?
qfdey # sHd fAb™ T | T e R e |

3) IR @ ofdd — 9 3T & RIS @ Sdre @7 IR § 7 Rfa W89 @) aR=ITaHT §, 6T
faaror faar Sirar 2 | Sad SdTe b aaue Reafa |m 2 dor 9fdsy § swel |36 o Rerfa war &1
gl 8, BT faaror ¥ gqhy afederd vedr 2 |

4) fo=ig Sa— I & fou ril Oofl 3R =@re) Yofl, Srifiar goil <M &1 sgaverr &l fdarol
JTT—3TeTT T =T =nfey |

5) 3= ORI ugel— 39 ¥efd H URASHT &1 gwdmaid amv—ali @ a2 e =gt fe@mar ST
IIRT | SO0 FRIIfad o oI anfdie Reifar &Y FwIea=r &1 Ydr deldl & | 9 ITodlr IRl
® IUE B I Bl GH—fJeoe fawg 9 fe@mar S =iy |

6) onfeies vd AMIvT®G TdTa— TRASTHT | U € arel AMIid Ud 3nfefe o™ &1 W faavor g
IRV | Si— ISHTR fhaer 9e7T? - AN &l &1 1 8NT? Sad &9 &l T fadbrg 8
ADHIT? 3MfT |

Q(8)- What main points should be taken care of while formulation of project report by an
entrepreneur ?
It is very essential for a entrepreneur to make the project report but its definite outline
can not be derermined because the nature and size of every enterprise is different
Generally ,following pointsshould be kept in mind:

(1) General Description: The name of the entrepreneur,address qualification ,experience
etc.are given under this title.If the enterprise is in the partnership from then the
description of all the partners and if the company is in format then the details of
promoters should be given.Alongwith,the project is related with which industry , the
analysis of the present and past position,problems of it should be given.

(2) Description of the Project — The whole information regarding the project is given under this
title; such as-where it will be situated? From where and how the raw material and skilled
labourers will be made available? and what will be the arrangement of infrastructure, such
as; water ,electricity ,fuel and transporation arrangement? From which process the
production has to under go? From where will its tools and equipments be available and
what will be its cost? What will its capacity be? what will be the possibilities of it in the
future? etc.

(3) Market Potential : In this title description is given that what will be the possibility of
product of the project in the market. Its also include the description that what is the
present position of this product and what can be the position of the product and what can
be the position of its demand in future?

(4) Sources of Finance: The description of the arrangement of both fixed capital and current
capital working capital should be given separately.

(5) Other Financial Aspects: In this title, the projected Profit-loss Account and Balance sheet of
the project should be shown. It shows the expected profit and the possibility of economic
position. Expect this ,the break-even point of the product of the project should be shown.
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(6) Economics and Social Effects : There should be the description of social and economics
profit received from the project? Such as: How far the employment will increase? What
benefit the local people will get ? What will be the development of the above sector? Etc.

9. A &t faefierar # Serlt @ w® fAeT Bl 27
TR B ABeldl 59 W R Bl € P a8 fbd Hererar & 3o oy fraede Al I SeTdr
ST T TANT HR UIT & | ARl bl Tieiiel a9 | d1ef— |1 ITH BT I8 |l @ T 7 b
T8 T TR fa=m 3 8 =12y | o 9 =ifdhd §8 &9 Ikl WR & <A1 a1fey—

1) GHEE @ ygEr— AEdl B G99 Ugel I GHREd HRA1 AR b S b AeMl B Al
27 U JATILIDHAT B 3L B S AT BT =I= fbhar S =12y |

2) HEREl © UgEE— doavar aredl A= aeEl § 9 ugeE e 6 S e awE @ fhanr
AET A12Y SIR I8 Hel A [ IR Ul 8l FHiT?

3) ®HEC B FTAT— ARFI BT ST UHT W B 781 & | [fed maeasd amE & urd a3 A
ATEA Bl fha—{be HfSTLAT BT ATHAT HRAT IS FhdT 8, S dIdl BT eTIT Ul I 8l HY AT
Y 1B ART BT BRI /M 2 |

4) IMYfIHTAT ¥ Fh — YJd FAEH, oid— g, 724, s¥, Yol ofe R fhi—a—fhw Jfad ar
HIT BT WA BIAT &1 2 | A AE DI 39 AERHAl & AY[IdrIel & Al 9 Rfd dad
S| IR IUCT ST & IR H LA &l o=l a1y |

5) ARM & AET UG G- B G @ fhadl A fhde 9Wg @ 3MORTd WX STaedd 8RN, g4
qrdl &1 iR Al &I &R o A1y |

6) HERM @ S Ud ANTa— FEEE Jek A AEdl @ 39 [ R IR #Rd gU sHd)
JolT AT | BT ARV | S @1 A1y 6 AA®H o Iad 5 IAqD gl © IT 7817

Q(9) What is the role of an entrepreneur in the mobilisation of resources?

The success of an entrepreneur depends on the fact that how efficiently he can make
proper use of the required resources.The entrepreneur alongwith making the mobility of
resources has to see that this mobilization should be in favourable direction.Thus ,he
should pay attention on some of the following points:

(1) Need of Resources : First of all, the entrepreneur should make sure that what resources
are needed by him ? The selection of proper resources should be done as per his
requirement.

(2) Identification of Resources: The entrepreneur will now identify from the various resources
that he needs which of the resources in what quantity and from where it will be made
available?

(3) Study of difficulties: It is not an easy task to arrange resources.To all these things should
studied in advance that what difficulties can be faced by the entrepreneur to obtain
required resources so that the future work remains easy.

(4) Contact with Supplier: Every resource; such as-land ,machine, labour ,capital etc. are
owned by some of the person or institution. Thus ,the entrepreneur should make contact
with the supplier of these resources and should get satisfaction about its availability in
time.

(5) Quality and Timing of Resources : All the things should be determined by the entrepreneur
that what quantity of which resource and it should be compared with the cost while
arranging the resources. He should see that the above quality of the resource is suitable
for him or not?
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(6) Quality and cost of Resources: the entrepreneur should consider the quality of resource
and it should be compared with the cost while arranging the resources. He should see that

the above quality of the resource is suitable for him or not?

10. o =01 1 aR9IRIT HIfSY | 59 Rigr @ &7
SR—Te gz &1 a1ef ud uRvren— Sio faferam |RTd & o aR “fhdll 9% & [ O f&s 9
3 JMHR, [/Y, W, Ao, BRI, MG, AT qAT FHEG § Frafd et 4 & 1
et I & omery awgell @l 8T8l Ud Sedl 9 © foa wifid & forg w+a sl ud
el da= der aRRefcdl R g9 dve = enfua fhar Sirar & fb 9 awqel &1 rorsdl o
AT PR D |
RGN BN TR B B oy ot It gge a1 U w9 W Ui F & T @l Ol
R UTdhfae RO ¥ I AMART &1 g9de g It d uRdds o S 8, J98 go8l kb
geqell @1 ol aRRefaal § off doamE, 0, g, T SR garg dem weiHl @ fRam—gar den
AYS I @ O 96 FARIST H URdAT 31d I&d & | Sy a&gall H fbe &1 921 A |
faemmear & forg 9 uRdal R 59 YR 9 0 @1 O fd I 9geil &1 #1eadr Ud J[ordr
DI YT T PR D |
fre frmr & figra — e A & Rgra FeafoRaa 2
(1) e &1 YA 36 R ¥ MEiRd fdar Ser =2y & urgdl & G<gfRe Ue™ - drell |l
farererary awq ¥ faerH 8 |
(1) gwgall @1 fFEior FeiRd fderor & AR &A1 A1fey difs S9d Ao 9% a1 fbed @l Al
fer = 2|

(1) T B Ichzed! I Y1 BRI dlel IRATHI Tehl TR @Uh FFF0r AT =1z, ey 9%
¥ fuiRa g9 & rgaR e faemm 8

(IV) Ue Ire @l {6 & ucde o &1 98l 4l & forg S favier f[Javor I vd e f$eirg—r
gRT TIR fhar ST =nfey |

Q(10)Define Quality control? What are its principles?
Meaning and Definition of Quality Control: According to Dr.William Spriegel,"The quality
and type of any good means its characteristics regarding size , shape, colour, durability,
workmanship, Construction and adjustment."
Quality control means the merits of the goods, for achieving this, the control on materials
and manufacturing plants and circumstances is done in such a way that it could affect the
merits of the goods.

All materials are obtained from the nature directly or indirectly to manufacture the
goods, by which there comes the changes in the construction and characteristics of those
materials due to nature causes, on the other side there comes the changes in their
adjustments due to temperature, moisture, dust, polluted hot air, running of machines
and deterioration of measuring instruments in the manufacturing circumstances.
Therefore ,the control on these changes in the quality maintenance should be kept in
such a way so that it should not affect quality of the goods.

Principles of Quality Control: Following are the principles of Quality control: -

(i) The standard of the quality should be determined in such a way that all the customers
satisfying characteristics present in the goods.

(i) The manufacturing of the goods should be done according to prescribed descriptions so
that it contains the quantity of standard goods or type.
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(iii) There should be comprehensive control on the changing factors affecting the perfection of
the quality so that the quality in the goods should be present according to the prescribed
standard.

(iV) For the right quantity of every merit of the quality of a product should be prepared by a
efficient designer.

11. 9RATST BT GRHIRI BT |
ITR— URATST B B Ug@ qRAreny F=foriad 8—

1) 2047 o] & d®eR AMWD T UKD b AR, “URAGA Bl BRI BT HRA DI aRed],
AT, gfad, T ferdT U=dTg & [

2) v R & orgaR,  uRASHEr oll fafEies aren & fSger deres FeiRa safer o
ARed e & T &_ & foru fhar Srar g o S Wit & uvenq uiRAet-1 |HT & S
gl

3) fafed vd ARel @ o aR, “uRAS SoEAT & Ao & fofw el 18 Ao 8 e
TP HEYUl 3PS & ©L H Ifod wU H fAverevr vd goaic fHar <1 Hadr & |

4) IS faawed vd %% & AJAR, * URATST BT dead fHAT T9 S| I AT BRAT T
AR Iare— 3707 BT T4F 9 BT SIS Bl & | U URATST Ueh HI 3fqar U gof
I Y T 8 Al © |

5) UeH TTARIANISAT & R, ' URAST Yo ASd ghls © ol oed &I Uia =g F9ud @ |
U fadrasiicl aRAISTHT ®I GHY H, goic & fax a1 Yd MgiRd Hrihd &l faRiermil & 1wy
Ahedgdd AUl fHAT SITar © | ARel Wl H, “uRATSHT 9 e Yol e & fadr i ud
3aER W & R v UM & forg |1ed fhar S A & [

Q(11)Define Project.
The following are the main definitions of project:

(1) According to the Webster”s New 20" century Dictionary, “ A project refers to a dream or
imagination for the completion of a task, plan or a techniques.”

(2) As per “Directory of, Management “,"Project is capital investment plan ,the operation or
execution of which is initiated for accomplishing a definite objective and after the
accomplishment, the project comes to an end.”

(3) As stated by Little and Mirrleee, "Project is a scheme for investing resources which can
reasonably be analysed and evaluated as an important unit.”

(4) In the opinion of David Clifton and Fyffe, "The term “Project” means the establishment of
a new enterprise or the introduction of something new into an existing product-mix . A
project can encompass a wide range of possibilities, from a single piece of machinery to
an entire plant.”

(5) According to “Management Encyclopedia”. “Project is an organized unit dedicated to the
pre-determined objectives. A project can completed within a proposed time-frame,
within budget and in accordance with the specifications of planning .” In simpler words,
"A project is any business opportunity which can be exploited for profit."
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ug (Section) -1 L
)

g ued (Objectiv

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

gug (Section) -2
IR—aRIfTs U (Non-Objecti\le)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
<" IR U (Long Answer Type Questions) 03(Ix® 6 3id )

||@U§’—1 (Section-1)

e —I8l W 9gd IR RIS U SR Afed o T 7 | wRie ¥ 3l a'E b 28 U 3y g
3R 3Tud! Y 28 YAl & IR OMR SHEET WR T Sifard R | U e 1 i &l 8T |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

g~ ueq (Objective Type Question)

141. & B AU raraRer S99 99 gedl iR wfaddr & BT g Nt faued uew @) ear
REHRIT B T Jifsd ITHIGIRT & A%hadargdsd faoe famil &1 de 9 8ar 817 I8 &9
fraar & —

(A)ma=a (B) ®lceR Ud S
(C) #retet (D) oifes

“ A company marketing environment consists of the factors and forces outside marketing
that affect marketing management ability to develop and maintain successful
transactions with its target customers” who said this.

(A) Experience (B) Use of mind

(C) Both experience and use of mind (D) None of these

142.  #W1 gargEE | mfd ©
(A) TBTE YargAT (B) SusraT gaiH
(C) =T e i (D) 37 & B¢

Demand force casting in included is :-
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(A) Period required for profit earning process

(B) Period required for cost of investment recovery
(C) Period required for fixed cost recovery

(D) None of above

143. fquoE & w@urd ¥ oA 2

(A) Sare T (B) Seure affepxor

(C) are® (D) 39 ¥ BIS w7
Nature of marketing in included is :-

(A) Richard cantillan (B) J. B. Say

(C) F. H. Knight (D) F.V. Hane

144. qeg GO Uew § aftaford €

(A) it (B) ===

(C) wrfreror (D) & =t
Human resource management includedes:-

(A) Kandala (B) Only Delhi

(C) Ghaziabad (D) Faridabad

145.  FFE=IRAT &1 ufdem

(A) 3masgs (B) srraege

(C) arfvrami (D) &1 &I 94l
Employees training is :-

(A) Price (B) Quality

(C) Satisfaction (D) Brand

146. HHIRAT & fadera 7 gftaford 2

(A) gar=fT (B) S=AT=ROT
(C) ufreror (D) & =+
Development of employment involves :-
(A) Shares (B) Debentures
(C) Bank Loan (D) Credet purchese
147. =49 fEifad o 9 AIER Bl ®
(A) 7T IOTR (B) urarfid doTR
(C) ot (D) 3 =
In new issued shares deals :-
(A) Large capital (B) Big plot of land
(C) Adequate manpawer (D) Imported Machines
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148. 9+ 2004 H WRA ¥ fquforai & A of
(A) 20 (B) 21
(C) 23 (D) 24

The number of stock exchange in 2004 was :-
(A) Role of social environmet (B) Role of economic environmet

(C) Both (D) None of these

149. 9Rd ¥ SyHIdar A1 R gy g

(A) 15 31, 1986 (B) 15 31ii, 1987
(C) 15 3rdie, 1988 (D) 379 & P =l
Consumer protection Act is effective in India with effective from :-
(A) Cost of raw materials (B) Cost of labour
(C) Cost of power (D) Factory cost

150. f57ar #9 faarer &1 UeRT HR AT ©
(A) 5 IRg w0 dh (B) 10 o™ w0 T
(C) 15 oIrg w0 dd (D) 20 oM™ %0 dh

District forum can settle disputes :-
(A)Ensure sacrifice for other (B) Willing to sacrifice on his own
(C)Among support system (D) None of these

151. XY IMANT fAarel &1 MUeRT &R I6hdl © |
(A) 5 oI”g w0 dh (B) 10 oIr™ w0 T
(C) 20 oI”g w0 TP (D) 20 &g w0 ¥ 3TferH

State commission can settle disputes :-
(A) Simple Ratio (B) Percentage
(C) Times (D) None of these

152,  <TEE IMEANT IuyHTadr faarer & MIeRT #R d6dr §
(A) 5 I”g w0 dh (B) 10 oIT™ w0 T
(C) 20 &g w0 ddH (D) 1 FRIs w0 TP

National commission can settle dispute :-
(A) Cash (B) Bills Receivable
(C) Stock (D) None of these

153. Q¥ amvavd gl @
(A) FErI® (B) gE<THR BH
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(C) we wH (D) org wH

Entrepreneurship is ensured by :-
(A) Fixed assets (B) Investment
(C) Loans & Advance (D) Misc. expenditure

154.  AFRIS HIfd R 83—

(A) d=ife vder o (B) TS @l
(C) faaaidmxoT BT ' (D) 395 & 1
Mental revolution is the essence of :-
(A) Dynamic Analysis (B) Structural Analysis
(C) Static Analysis (D) None of these

155. o9 IR—3WIRad STRicar &1 Yurdr fhar Srdr 8 o gidii—
(A) Il @Tar @ 9™ & U H (B) 5% @ & M & U H
(C) 99eT @mar & AT & uef H (D) 9% @ & STHT & UeT H

Unrecorded liabilities when paid are shown in :-
(A) Criticism and analysis (B) Comparison and trend study
(C) Drawing canclusion (D) All the above

156.  <fId o 3R TGI8 BT SR fhar SIRRT—

(A) Tgelt @rar # (B) ATSTERT & USil @rar H
(C) §& wrar # (D) 39 & P &

The accumulated profits and reserves are transferred to :-
(A) Realisation A/C (B) Partner”s capital A/C
(C) Bank A/C (D) None of these

157. fI9RT &7 SRISY 4 gRUd B BT UIqH TR g—

(A) = (B) fa<t

(C) \Te= (D) RerrreRor
Tire first step of translate ideas into action is ;-

(A) Planing (B) Finance

(C) Organisation (D) Location

158. 9NIR &1 UfcRaeicds fagerer = 9 9 fea—fea 9 far S |aadr 28—
(A) g | ®H Td Ioredr H gig (B) Scure= Ufshar &1 @mTa
(C) fFR=a= = (D) SwRiad )

By which of the following the study of competitive analysis of market can be done :-
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(A) Decrease in price and income in quality
(B) cost of the process producation
(C) Continues Research

(D) All of the above

159. 9OIR &I URugidd fageremr ¥ 9 foad 81 fhar 51 daar —
(A) T A1 D foeH (B) Saute @1 Ufdh T ud faavor egaen
(C) SRt <1 ¥ (D) SWIT &I T8l

By which of the following the study of competitive market is not possible :-
(A) Quality of raw materials
(B) Packing and distribution arrangement of the product
(C) Both and Above
(D) None of the above

160. = ¥ 9 - wiaoig qren 98 8—

(A) \TeTfSTeh EREN
(C) amfdia (D) xroTifad
Which of the following is not an environmental barrier:-
(A) Social (B)Motivation
(C) Economic (D) Political

161. = 9 9 o9 Ffaawrg e 2

(A) 31fSRoT (B) #AIgRT
(C) SWRIad g1 (D) 37 & P A=l
Which of the following is a personal barrier :-
A) Motivation (B) Attitude
(C) Above Both (D) All of these

162. SIDBI o a9t zenfug fear Tar—
(A) 1940 (B) 1970
(C) 1990 (D) 1980

SIDBI was established in the year :-
(A) 1940 (B) 1970
(C) 1990 (D) 1980

163. EXIM d% %49 zenfuq fear Tar—
(A) 1982 (B) 1992
(C) 1974 (D) 1976
EXIM bank was established in the year:-
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(A) 1982 (B) 1992
(C) 1974 (D) 1976

164. 9= ¥ 9 SIF—dT GG AT BT ITER0 2—

(A) 37 (B) g
(C) gear # uRad= (D) fa#ura
Which of the following is the example of business uncertainties :-
(A) Earthquake (B) Drought
(C) change in prices (D) snow Fall

165. U0 THo A Al 29—
(A) ST (B) sFiRaT
(C) 9Ra (D) wig

A.H. Maslow was the resident of :-
(A) Germany (B) America
(C) Bharat (D) France

166. MR dfedr # aftaford F&r fhar Sa—

(A) s ERiE]

(C) wegfeear (D) ey
Code of conduct does not include :-

(A) Rules (B) Dishonesty

(C) Integrity (D) Morality

167. 9Rd ¥ 9o f3I1 Sfr g—

(A) ufretor o Uferero W (B) B veret Ufdreror wR
(C) B & d1ex Ufer w) (D) SuRIa

In India stress is given on :-
(A) Training centre training (B) On the Job Training
(C) Off the job training (D) All of the these

168. = 7 9 w1, Sufddr et arisy 9 IWg T8 a—
(A) g glaermsil &1 gawern =1 (B) ufieror 2q Sl &1 a4
(C) SwRrad Atd N (D) SWRIad 7 A iR 9 B

Which of the following is not involved in EDPL :-
(A) Arranging infrastructural facilities
(B) Selection of entrepreneurs for training
(C) A and B above
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(D) Neither A nor B above

Multiple Choice Answer 1 To 28.

(1) B
(2) A
(3) A
(4) D
(5) A
(6) D
(7) B

(8) D (15) A
(9) B (16) B
(10) D (17) A
(11) D (18) D
(12) D (19) D
(13) B (20) B
(14) A (21) C

3k 3k 3k 3k 3k >k 3k >k 3k 5k >k 5k >k 5k %k >k 5%k 3k 5k >k 5k %k 3k 5k %k 5k %k >k 5%k %k 3%k %k 3k %k >k %k %k %k %k %k %k %k %k %k %k *k

gus—Il (UNIT-II)

(22)
(23)
(24)
(25)
(26)
(27)
(28)

g I e (Short Type Question)

IR I T9 3 3 YT DY AD |

(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answer to all 8 questions are compulsory. Each carries 3

marks)

Ques-1. JUHA S FATg H ARl fbT a1 Hecayol ardl UR g1 < ?

Ans-

SUHH & gATg § ATl EfaRad & Hecqel dTdl IR AT & < -

1. YoAT # ™I ( Easy Formation) — Ife &5 Sushd ¥w iR M9 A efid &A1 &
UHN] AUR S IBAT | AN BH WUT &7 & v 999 a9Rie  f[aRaRT ard 3=y

ATSIGRT BT BT LD © | HebNI AR 1 AYad Yol arell AT Bl [T B & o i

JeTiies fqenResarsii (Formalities ) @1 Ureld &R U g1 UsiiRol (Registration) &3 sl
T | 3T e B E—fEaR o) BN U b1 gAd AT ARy ®ifes T @wdl & U —3H

Jo
2. aMerdar (Profitability) -— €Y +ff SeM &1 T T2 AT HHMT BT & 3T SUHH & 19

—QIY B |

@ §9 39 94§ 9 TRl WR fAaR @R T Sawd ¢ |
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Ques-1. On which two important points an entrepreneur will pay special attention to
select an enterprise.?

Ans- The entrepreneur will pay attention on the following two important points in the
selection of an enterprise:-

(1) Easy Formation :- If any enterprise is to be formed early and easily then so trade use to
be better. The other partners of similar thinking are to be taken to form a partnership
firm. For the formation of co-operating committee or the company of join capital, their
registration is to be done after completing many legal formalities. Thus ,the entrepreneur
should select and one of them after due thinking because all the kinds have their own
merits and demerits.

(2) Profitability :- The objectives of any enterprise in to earn profit .Thus ,all the aspects in
this regard should be consider while selecting the enterprise.

Ques- 2. &9 fJ=ug fd=g &1 MURY &3 8T &7 How is break even point determined ?

Ans- qRIATSTHT A BIFdTel AT BT AT BT 99 faeoe favelyor & 1=iTd 1d fhar Sl & s9 gl
IR B T AMTAT TG ATl Bl eTI9 & g7 sy 9= & faff= wRi R 89 a1l ot &7 udl
ST ST & FA—fdeeg fIg 98 a5 & O W) 91 & 9A% 9 3R ¥ SRR BId & W= o9
fag A fama @1 A1 Af¥d B9 W HRIT BT M B Al B | H—{dwee f[Aveyy & gRT IR &
fafr= WORi R Ut 819 ATl ol @Y A ST B ST Ahall |

Ans- The volume of profit-received from the project is calculated under the break even
analysis . The profit arising at the various stages of sales quantity is calculated by the study
of inputs and cost of organization. Break even point is that point on which all the income
and expenditure of the organization are equal but the organisation starts getting profit on
increasing the quantity of sale upto this point . The quantity profit received at various
stages of production can be find out by break even analysis.

Ques-3. ITTIRIG IR & UgdH & Pls IR I3 IdRI?

Ans- TGRS JTHRT DI UgAE & T I 1+ § —

(1) <o Td &= IRy @ AEeIsansi & &I W Ed g o9, Wedd Ud g8d UAM & Serl @l
FRITARIT BT AT Yd TRIE0 HRAT A FRATGTIRIN qebeild] 2T 3 gfte § FasR Ay Bl
ey |

(2) ve MREa &= | Tt Ud e gicdivr ¥ Hifde FHEF & IUANT Ud fadr & STl
BT Jodih- DRI |

(3) S TR Bl UgAEAT S R FAEAT UR IMEIRT T8l © ol Wdl AEaeadhar & A ok
U I R e w9 9 [IaR fBar S daar @

Ques- 3. Write any four objectives of identification of business opportunities ?

Ans — Following are the main objectives of identification of burliness opportunities :-

(1) Doing study and test of the possiblities of the industries of small, medium and
large scale. Keeping in mind the requirements of the country and particular sector. These
possible should be practicable technically and economically .
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(2) Doing evaluation of the possibilities of the use and development of physical
resources from the technical and economic point of view in a certain sector.

(3) Identifying those industries which are not based on local resouras but consideration
can be done economically on such industries under future necessities .

(4) To found out short term and long term development possibilities in various sectors of
economy.

Ques-4. BRI Yoll &1 gIfdd R drel fhdl 19 dedl & A qar |

Ans-  aErd &1 ygfa (Nature of Business) ®RIEe Uil @1 ATAT &1 yoIfdd sierdm FeRia o=
9T Y geh JIAR Bl Ypid o | AN o ArqAide sHhisdl § STl BIhl Al WKl W G
TSl 8 T #d b1 SUR A BT & SRRl Yol sfftd Y@ gl © |

(2) T ufehar 1 em@fd (Length of manufacture of process ) :— afe fior ufhar < et &
ar w@rIfad g 6 oo w1 & Afd 71 &1 ©9 Use a-d H e Ry, 1fde arTd iR arfde s
I 2 | UROTH w¢ 31 AT § driehe Yo &1 faedddl sdl & |

(3) =aara BT 3MHR (Size of Business ) Tdh AENAINIG FHls BT MBHR AT g1 BN SHH
BRI YSll Bl TaeIHdl Ia-1 &l 38 Bl & | SHD [AURId, Yb ATaAIAD Shlg BT ATBR ST
BICT BT , I9H BRI YSil BT Maeddhdl Ia- & &H sl |

Ques. Mention any three factors affecting the working capital requirement.

Ans- Following are the main factor affecting the working capital :-

(1) Nature of Business : - The nature of business is the important factor affecting or
determining the quantity of working capital . The manufacturing and commercial units
where sufficient goods is to be kept on stock and sell is done on crest working capital has
to be kept more.

(2) Length of manufacturing Process : - If the manufacturing process takes more time than
it takes more time, more cost and more labour in manufacturing goods. As a result more
quantity of working capital is needed. On contrary if the period of manufacturing process
is less, the less quantity of working capitals needed .

Ques- 5. IUHH WUAT & Yd &9 o AY b=l a1 gcdhi & 7 qar |
Ans s/ ( Mentor Labour )— a1 +ft SUBH & Therdl rL! s/ WIfdd R 1R F=ell ® | SUHH

HT I & forg Fuer aen g (Skilled and unskilled) TF1 TRE & &M @1 JMawddHAr B § 39
WD T IRT HH o B T yduad g HHa=Ral &) Faeghdl 8idl 2 | SUHhd b U FEl TR &
IRPAT BT TIT BRAT AT IMAAD B AT AT, AR &9 I gaiel arfT |

Ques. Explain any two steps in the execation of the selling up on enterprise.

Ans- Arranging the site :- All those facilities which are required for the enterprise should
be arranged at the place where the enterprise is established , Such as arrangement of
traces portation to reach upto this site, arrangement of electricity ,water etc.

(2) Construction of Building : - The construction of building should be done as the
requirement of production process, equipment and machinery.
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Ques.6- gaifaR 39T =1 8?

Ans - UaifeR 32 | M VA W A & e U MREd av A o™IRT Ui $R 3R BHEl B
FAYE & Reaftr # GSi &1 qradl &1 FHAT e B ol H Q@ISR YT Bl © | 39 B BRIl @
S 7 8 JUT 39 39 UPR @ SRETRAT BT AQMIHR T8l BT 2 |

TAT SRITTIUTE! | 391 99 3TN TR ReM SRT Sfad A7 § oArier f&am e g |

Ques- 6. What preference share ?
Ans . There are some priority on this type of share which the other shares do not get, Such
as the payment of these shares is made prior or equity shares at the time of the winding
up of the form, and the dividend will definitely be given at fixed rate, even if the company
in not profit and such shareholder have not right to vote.

There are various kinds of preference shares : - Such convertible, non-convertible,
redeemable, non-redeemable, reserved ,unreserved etc.

Ques 7 . IRIASHT e & IR Ieed Bl ford |

Ans — URESHT gl U IRITSTAT BT FEN ATVl B B1 AR & | Ig URATdd GRS
BT SFATT ATl Td o™l BT q8ar Bl & | GRATSHT oAl & TgE Iewd Afoiad 8—

(1) yTiad URATSHT D1 SFART ANTAT Gd Al Dl g8 BT |

(2) ywafaa uRAoT & fatre vd g FeiRa aRem a& agamr |

(3) gxIfad URATST @ FHeldl 3fefal B HI Ul o+ & oIy iawaed gaan Uiy d
Hehford R |

(4) yaTId URATSTT B AHAT AT BT DI &R BT S BRI & oI YAIUT A9 DI 1]

Ques- 7 . Write four objectives of Project Appraisal.

Ans- Project appraisal a major tool for an analysis of any proposed project . If helps in
identifying the projected costs and estimated profit with the following objectives : -

(1) To identity the probable costs and anticipated profit from the project under way.

(2) To finally realize the ultimate goods of the project.

(3) To collect various relevant informations on the basis of which the success or failure of
project be as curtained.

(4) To establish a parameter or a standard against which the rate of success and failure be
gauged.

|| gus—III (UNIT-111) ||

< TN w2 (Long Answer Type Question)

e — I8l 98 IR <" SR Uy A W 7| wen H g dRE 3 U I S &R | 3 Al
@ IR <7 IAIR BRI | TP U ©: 3D BT BNIT| SRR TRIET H 3T 3 R I U & SR <
T9 3B 3P YT B b |
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(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

8. &Y yarg faavor vd Refy fdavor # ofar T STy |
Differenciate between fund flow statement and Balance sheet.
Y garg faaxor vd Rerfay faaxor § fa=forRad ofar 82—
1. BN yaTg fdarvr HRIENS Yoll § qRdaT &1 R wxar &, STafd Refa—faavor eqam @ foiid
Rerfer &1 o uRga o=t 2 |
2. PIY Yarg fAaRor § dad BRI ol &7 uwifdd o arell 7 &1 arh ol 8, siafes Rerfa—faavo
# aRewfoa, sl 9 4ol @ @ 2l &1 feamr S 7 |
3. BIY yag I o &) Refd & drer—aryr faRkm fhamei @ aRddi g yarel &1 fagamor o 2,
STafe Rerfa faavor v ¥ fafSr o1 daa ggar & fafrg Rerfa &1 fexardar 2|
4. PN YaTE fAaR JqAR™ & AARS Yae & folg Jo1 agd vl & fog +ff Iuarf gram 2, fog
Rerfa—faavor argg vell & forw aifde Suanft g 2|
. P Y18 fdarvr H dhad 9 @l @R o © 599 Srieier $oft § uRdad 81d 2, sdfe Rerfa—faaxor
H @ & 99l BT @RI 9T ®
6. BIY Ydig fIavol 98 IgaIl¥ie gfds gRT IR fhar o 28, Rerfa—faavor e agqalye ufas™
ERT QIR fhar mam 2|
7. BN yarg RAfT—fIaRoT iR 3y Wrd &1 Weriar 9 dIR fhar 9ar 2, Safe Refd—faaror d=ge ik
IR FHRISTE &) Il 9 dIR fHar S 2
8. BIY yaTg fdaror &1 & WA € FIfd Ig dadl SRS Yoll § R &I g2idr 8, Sidfh
Rerfd—faaxor &1 &3 faxga © wiifes a8 gawm @ Rafd &1 geriar 2

0

9. Sl Uoll o & forg A & IR # forRag |

IR— IRA R & AR, FHforRad dwed Sedl Yol fad o # 9e™ © —

() THiId — 5 AT AU Tl AT Igd AoIald! qI-d] AT I8 db-d Sl J—3pil 1Ty e +
3 &1 AT Sl MRA H gaferd daiial § GIR &R Fahl 8l |

() JMMBR — FHat e 200 FfermT wW 4 31fde 81 gFT A1y |

() STHAT — ¢, JEAIS T Th-dl ™t | I Jfdd e o gaiw FawE 31 aRae T @ forg
fa =1 81| el Uoll, SfS, aifT, o wamell | fFaer a1 yoidl e el @f, fa<r 98l <dl | wRd
H U STl Yol BH BT Sel Yol fhar § &H | 9 75% Tb  BUSl BT [Fdel BT Bl SRexd il
g TAT SHBT YawT TGS AN §RT BT aTRY |

(IV) §T89 — I WISl Bl FSIAT &I Sl & (ST SRgH §aRl & o= d s, JuRIferd e agd
TTEID TAhAIDG & BRT SATGT BT & T7 /A1 o9 Serft ff g 81 den ogwd 81 81 g
g ATY BT § AT S ST BT MMHR A fa=iia grar 2 |

(V) FERIdT — HERal 934 ®U 9 ARR0T Fer-dl 8l © | 2ol Werdm 1 <1 S Fad! © |

(VI) fac=l sfer Ooft — el ol wAr 4 faqel ofer o fafframT ga e & 25% 9 3ifde =8 8
=Ry |

(VII)ZR0T oA U — gAqH ST FHAT AJUTd 1:15 BIFT =AMV |

10. qreg fA=mos & o oifay |
SR— 91 fIstmos & o feaq 8-
(1) S9a1 @ R g — [Aeug &1 98 |QeF o< Jdfed T SuArfl B 393 gRT SIdTied
STAT T e AT <1 Sl 2 |
(2) G ATHIOT — IMERT BT MBIV GIAAYASD (AT ST Febell © | $9b §RT TSP W eAd 8T
fad @I &1 R 8 91 ¢ |
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(3) ®IFT HeaR AAIRAT BT oM — T g W gear famdell @ fay 9gd anera 84 ©
Fifh 9 TR DI AN IUA BB D] 9] H g Hd © | 8D W aK] DI AFTAT g3l 37T &,
3{d: ITBT IH I DI YR PR DI eIl el &l |

(4) S9IR &1 g § A — i@ s & o 99R @& ga H A/ JEd 8| 39 UBR Bl A
fpefy o T (S~ I 9ToTR, #ef, WS 3fe) WR fhar o7 Adhar 2|

(5) @9 AN — 39 UBR & (A0 BT AR TAT A1 BT S8 gU (IS0 I JAUAThd HH AT & |

(6) MR # FH uRads — fISMUT T AHR AMTLIHATTAR TSRT AT IGRIT ST FHAT & | 9D g
IS 3T~ BallcAd &7 | fhaT ST Hdhar 2 |

(7) < 3y — g|HT Sfad = fISmu=l @ sre <redreid & | daR W ffya fasme s ae@ W
o U e HEHl 9@ Feld 2 |

11. RS ufcaes @ fawr a%q s1erar <1 S drell ard T 57
ITR— YRATSHT Ufae @l fawrr awq s1erar &1 S dTell qr—

(1) S AN — MR GaARl § AR Bl [BH, AMBR, YbR, W—R4, d6R H UG DI adHqH
AT Ud gfet qem Iare @ Ml FRaERl e & IR # srawe et fAfed g 21 gwa ifaRad
JEHT DI M, WA BT U4, IdT, A Dl DR, UIRaRe geoyfd, Riefor, ufderor, sg9d qer
AT IS W AR a1l &7 W FHAIY BT 2 |

(2) gRAST faaRor — g9 URASHT &1 WIFE, 6XEd, NTd, Afdd & Sid, $oal Ard, f=Hor gfdbar,
=, AT Rl eraRen, 9 e onfe & v § gamd el © |

(3) o @& Hg — s fad @ &al, o — \Ef For, el o ol Oof, ki Sdiel 9 urd
R, facel gofl, 07 aNfe & IR & gUdh—gd; fdaxvr 8T & |

(4) SN omrd den erfee GOl — sod 4ff, Wae, S, BeteR, aRfe @ enf #F iR goh
q fAEEIdr BT favde fdarvr fagr WA BT €1 W € Ay b HHled b [ gy
FTfefier 4o &1 W S BT B

(5) INIR |WMEAIY —  $HG I<Id IIG Bl ART d7 gfd &1 fJeme qen |l |wrean, fagoe
T, Ay &, IR B JIFHl Uepfd, FiREr BT WR offe W SN GEemel B Seolkd
I 2 |

(6) fo<ira gRomH /o — g4 URATSHET & WGl GRUMAT 9 Fw1fdd ol &7 Seeld fdhar SITaT B |

(7) aRaroHT foharaae ®RieH — SHH URASHN & fhareas &1 TRUEg U9 Addg [davvr fdar Siar

g
(8) wrier — gaH ROl URATSHT Ufdde &1 |1 U@ drai &1 FRIe Qa1 191 81T 2 |
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